PINBALL MACHINE OWNERS MANUIAL=

é?) il S @M ‘/‘&\‘

Wy

;

,j oS \\\,

JERSEY (U
JACK 7
PINBALL |

%’\”«. 7. 4

Ve




JERSEY JAGh PINBALL

Limited Manufacturer’s Warranty

JJP’s LIMITED WARRANTY

Congratulations on purchasing your new JJP Pinball

Each JJP Pinball machine is handmade, and as such, each machine is one of a kind and has variations in appearance resulting from differences in the machine’s particular wood
parts, individually printed art and mechanical assemblies. We use the finest materials and processes available to build each machine, however there are certain things outside of
our control. Over time, your machine can show signs of wear, which is normal. Refer to your Service Manual for further guidance and instructions on the proper operation and
maintenance of your machine.

What is covered on the game? Our Limited Warranty covers only the items listed below (“Covered Parts”) from the date the machine is shipped to JIP’s authorized distributors
(or directly to the original owner), for the period of time indicated (the “Warranty Period”):

1. Printed circuit boards (game logic). Warranty Period — Sixty (60) Days.
2. LCD monitor. Warranty Period - Two Hundred Seventy (270) Days.

What is not covered on the game? JJP’s Limited Warranty does not cover anything other than the Covered Parts during the Warranty Period. JJP’s Limited Warranty also does
not cover claims for Covered Parts arising from misuse, abuse, alteration or modification, rust, warping, damage caused by electrical surge, intrusion of any liquid, fire, theft, acts
of God, improper repair, installation, testing and improper electrical connections, or damage caused by converting game from one region to another.

Who is entitled to Limited Warranty coverage? The original owner and no one else.
What will JJP do? During the Warranty Period If a Covered Part fails, JJP will replace or repair the part at its discretion.

What must | do? You must register your JJP Machine within 7 days of delivery to activate your warranty. Register on-line at www.jerseyjackpinball.com under Support>Register
Your Game.

Who do | contact for replacement parts? Contact your selling distributor for replacement parts. If you bought directly from Jersey Jack Pinball, please open a service ticket at the
Jersey Jack Pinball website under Support>Support Form, enter all fields and a brief description of the problem.

Advance Replacement Parts and RMA’s (Return Manufacturer Authorization): Some items will require a valid credit card number on file prior to shipping and will be assigned
an RMA number. If the RMA item is not returned within 30 days, the credit card will be charged and the RMA item will be treated as a sale item.

Statutory Warranties: This Limited Warranty is distinct from any statutory rights under any mandatory consumer protection laws of your state or country applicable to you. It is
intended to grant you specific rights and does not limit the rights you may have under applicable statutory product warranty provisions. You may have other rights based on local
laws during or after the Warranty Period. These rights are not excluded by this Limited Warranty.

Exclusive Agreement: This Limited Warranty is the complete and exclusive agreement between You and JJP. It supersedes all other written or oral communications related to this
product. JJP provides no other warranties for this product. The Limited Warranty exclusively describes all JJP’s responsibilities regarding the product. There are no other express
warranties. No one is authorized to make modifications to this Limited Warranty, and you should not rely on any such modifications.

Limitations: Implied warranties, including those of fitness for a particular purpose and merchantability (an unwritten warranty that the product is fit for ordinary use) are
excluded. Some states do not allow the exclusion or limitations of implied warranties, so the above may not apply to you.

In no event shall JJP be liable for any indirect, special, incidental, consequential, or similar damages (including, but not limited to, lost profits or revenue, inability to use the
product, or other associated equipment, the cost of substitute equipment, and claims by third parties) resulting from the use of this product. Some states do not allow the
exclusion or limitations of incidental or consequential damages, so the above may not apply to you.

Rev. 3.2021 GUNS N ROSES



WARNINGS & NOTICES
WARNING

FOR SAFETY AND RELIABILITY, substitute parts and equipment modifications are not recommended. Use of non-Jersey Jack Pinball® parts or modifications of game circuitry, may adversely affect game play,
or may cause injuries. Substitute parts or equipment modifications may void FCC/Canada Type Acceptance.

PROLONGED EXPOSURE to high volume levels through the cabinet headphone jack can lead to irreversible hearing loss.
BECAUSE THIS GAME IS PROTECTED by Federal copyright, trademark and patent laws, unauthorized game conversions may be illegal under Federal law.

THIS 'CONVERSION' PRINCIPLE ALSO APPLIES to unauthorized facsimiles of Jersey Jack Pinball® equipment, logos, designs, publications, assemblies and games (or game feature not deemed to be public
domain), whether manufactured with Jersey Jack Pinball® components or not.

IF THE LINE CORD IS DAMAGED, it must be replaced with a cord provided by the game manufacturer (or an equivalent) in order to avoid a shock hazard.

Notice
GUNS N ROSES and all related elements © & ™ of GUNS N ROSES. INVISIGLASS® is a registered trademark of Jersey Jack Pinball®. The entire contents of this manual are ©201209 Jersey Jack Pinball®,
manufacturers of Jersey Jack Pinball® Amusement Games. All rights reserved.

WARNING
NOTE: This device complies with Part 15 of the FCC Rules. Operation is subject to the following two conditions: (1) This device may not cause harmful interference, and (2) this device must accept any
interference received, including interference that may cause undesired operation.

This Class B digital apparatus meets all requirements of the Canadian Interference-Causing Equipment Regulations. Cet appareil numérique de la classe B respecte toutes les exigences du Reglement sur le
matériel brouilleur du Canada.

RF Interference Notice
CABLE HARNESS PLACEMENTS and ground strap routing on this game have been designed to keep RF radiation and conduction within levels accepted by the FCC Rules.

TO MAINTAIN THESE LEVELS, reposition harnesses and reconnect ground straps to their original placements, if they become disconnected during maintenance.
FCC/CANADA STICKER. Check the back of your game to verify that an FCC/Canada-certification sticker was attached to your game at the factory. All Games that leave the Jersey Jack Pinball® plant have been

tested and found to comply with FCC/Canada Rules. Because the sticker is proof of this fact, legal repercussions to the owner and distributor may result if the sticker is missing. If you receive a game that has
no FCC/Canada sticker, call Jersey Jack Pinball® for advice or write us a note on your Game Registration Card. Be sure that the card bears your game's serial number.

CAUTION: Transport this game ONLY with the hinged backbox DOWN!

GUNS N ROSES



CONGRATULATIONS ON YOUR GUNS N° ROSES PINBALL EXPERIENCE!

Everyone at Jersey Jack Pinball has worked very hard, with Passion for years to
bring this amazing game to life.

In my longtime friendship with Slash we often spoke over the years about
creating an amazing game that would bring the GnR concert excitement to the
player. Eric and his Team have done that and perhaps even more.....it's sensory
overload !

Our loyal customers and players love what we create (they have Patience ;-)
and we are grateful and mindful that our games are forever-treasured playable
works of art. We strive to capture the best and to give our players the greatest
pinball games possible.

Special thanks to Axl, Duff, Slash, Fernando, Meegan, everyone at GnR and
all of the people backstage that we count on to create our games. Thanks to
everyone at JIP for the love and attention to detail that went into this game,
we hope it brings smiles and happiness forever.

Keep Rockin’ the Pinball Machine.

Thank You,
Jack Guarnieri

Jersey Jack

GUNS N ROSES



GUND N ROSES

DOGUMENT REVISION HISTORY

Version .90 | October 2020 | Initial Release of Document

Manual Written By: Barry Engler

Special thanks to
Ax Man D
Joe Katz
Mark Molitor
And the JJP Crew

FOR SERVICE CALL YOUR AUTHORIZED DISTRIBUTOR

JERSEY JACK PINBALL

1850 Greenleaf Ave.
Elk Grove Village, IL 60007
630.830.5225

GUNS N ROSES



TABLE OF CONTENTS

o Lol A1 Fo Yo LI Y=Y u n [T SRS I
(€] 2 KoY T o T=T g [0 1Sy €= - n o o USSR Il
SELENG UP BIUBTOOIN & WIFL......eiieiiieeie ettt ettt sttt st e et e e e ettt e e e seatteeeesauteeeesaataeeeeaasteeaesaaseseeeeansteeeesaaseeeaeenseeeeeansteeeeeanseeeeesanteeeeeeastaeeesenstaeeeeanstaeeesanssnaeesanssneesnnns [}
YT o T o] o= 11T | n (e Yo FOU RSP TPSPR 31
Game Assembly & Setup
UNPACKING YOUI GUNS N’ ROSES GAIME ....uuuiiiieiiiiiieeeetitteesetteeessstteeessauteteessaataeeessssaeeesassseeeesanstsesesanssssessanstseessanseseesannseeeessanseseessnsseseessnsseseessnsseseesansssnesssnssnnessnnns 1
(870Y Yo ) q o= - o[RS 2
0T 0 g Lol o= o 1Y 3 1] Fo TSRS 6
[ AN 1= To I e 1] o o [PPSR 7
PA¥e U R n g o TUT a0 o T = o T I PRSP 9
L AN = To B ol o = W o] o] LI =1 PRSP 10
GO R N o T T 2 {0 F=X o oLV ol o - T o PP PPUPUPRRN 11
The GnR Menu System
Y o TU I A =T o g I T 1 (ol TP PP O PP PPPPPPPRON 13
[ LS KT O TP TP PP P PP RPPPRPPI 15
Y] un 0T U PP PPTPPPPPPTPO 33
Y T L1 PSR TUPPR 53
L0 =P PUPPT 54
LT L =Ty SRR PSPPR 73
(0= o o] o KT T O OO ST UPUPUPUP PP PUUPPPRPUPPPPRPIRt 74
RS BT S... eeiieeeeeeeeeeeeeetteetttteteeeee e e e e e e e e e e eeeeeeeeeeeeeeeee et et et et et ettt ettt esestntnbnenna s R e e e eeeeeeeeeeeeeeeeeeeeeeee ettt et ettt et et et e e et ee £entntnbnnnnnnnn e e e e e e e e e e eeeeeas 75

Game Parts Information

(CT S oL @ o] [0 1=y A AT =15 0] o L= PP 77
o] o Yo XY= o oY o] VA @ U £ T =P PPP 82
2 To] o Yo ) AN Y= o Y o] VN 1 1 e [PPSR SPP 84
Backbox PCB Base ASSEMDBIY PN 51-100041-01.......cceeouereeiieriesieritesteenae sutreeesssssseessasssseessssssseessssssseesssssseesssssssessssssesessnssssesssnssseessssssseessnssseeesssssseeessnsseessnnssseesen 86
Backbox Speaker Bar ASSY. PN 51-100051-00......c.c.ceeeuttteiiiuueeeeiitteeesssteeeessateeeessastseeesssssssesssssssseesssssssessanssssessanssseesssnssssesssssseesssnsssessssssssesssmsssessssssssesssssneesssns 87
2o Q€] T AN -Y=T o o] o Y2 PP SPP 88
FA Yo Y VR o oY =Y [o I R Y =T o1 o =PRI 89

GUNS N ROSES



Game Parts Information Continued

O L oL LT o] YA 1T o XY= o1 o TSRS 90
Shooter Lane Rail AsSY PN: 51-100103-00........cceeiiiiiuiriieeeeiiiteteeeeesituteeeeeaaitrteeeesaaasseseaesasasssesessasassssssessassssssssssssasssssssessssssssssssssssmssssssesssssssssssessssssssssssesssnsssseees 91
Lower Bumper Exit Gate ASSY. PN 51-T00L18-00....ccuitiiiiiiiiieiieiiiiieiiiiit it ettt ettt ittt eeeeeeeeeesesassaaasaasaaassssssesaeesaeetaeeteeeaeeeesssssssssssssssassssssssssssstesaeeeeeeeeeeeeeseeessessnnnns 92
Shooter Lane Gate AsSY. PN: 51-100121-00 .....cccceiiiuieieeeeeiiiieeeeeeeiittteeeeeaaitseeeeesaaatssssaesaaassseeessasasssssseesasasssesseessasssssssessassssssssessasassssssessssssssssessssssssssssesssnssseees 92
Center Spinner GUArd AsSY. LE PN 51-100124-00 .......coeeiuiteriurteeiiiteeeiiteeaitteeesautteesauteeesausteesassseesauseeesassteesasssessasseeesssseeesassseesassesessssseessssseesssesessseeessnsseessssanessns 93
Center Spinner GUArd AsSY. SE PN 51-100124-01 ......uuiiiiiiiiiieieieeeeiiiteeeeeeeeiteeeeeeeeetaeeeeeesaatasseeaeeaaasssesaaeaaasssasaaesaasssaseassaaasssassaeaaasssansaesaaasssaesaeeaasssansaeesaassrenes 93

Upper Playfield Ball Trap Assy. LE PN: 51-100112-00

L0 o o Vo 010t 1 PP 94
Upper Playfield Gate Assy. LE & CE PN: 51-100096-00 ......cccciiiiuuiiieeeiiiiiieeeeeeiiitteeeeeeeettseeeeesaasssseesesaaassssseesssaassasseesssasssssssessanssssessssasssssssssssassssseeessnsssssesesannns 94
Pop Bumper Plastic Guard SE PN: 51-100110-01

LE PM: 51-100110-00 CE PN: 51-100T110-02.....ccecteeteeitert eereutttteeeeseauttteeesssauuteteeessaausteteeessaausteseeesssasssseeesssaustsseeessassssseeessamnssssesesssansssseeessamnssseeeessamsmseseeessnnns 95
Left Orbit Ball Trap Assy. SE PN: 51-100125-01

LE PN: 51-100125-00 LE PN: 51-100125-02....cccueeeieeieet teeeeeiiitt e e e e ettt ee e e s seittteeeesssaubetteeessausteeeeessaausteaeeessasstsaeeessaasbtaaeeessasasteeeeessaasseaaeeessansssneeeessansssneeeessnnns 96
Slash Right Pamp Mount Bracket PN: 51-100081-00 ......ccceccuuiiteeiiiiirieteeeeiiitreeeessaiutreeeeesaaassseeeesssssssseseessssssssseeessamnssssseesssmmsssseesssmmssseeeesssmmsseeessssmssssesesssssssseees 97
Upper Right Plastic Guard SE PN: 51-100111-01

LE PN: 51-100111-00 CE PNz 51-T00TL11-02.....cecueeeieetetteeeeeeiuttteeeesseiutteteeeesauteeeeeessautaeeeeessaausaeeeeessaasbeeeeeessaassseeeeessaasbeeeeeessanseseeeessasbeseeesssannsnneeeessansnnneeeessanns 97
Center Spinner GUArd AsSY. CE PN: 51-T100124-02 ......ueeieeeeiiieieeeeeeeiiteeeeeeeeitteeeeeseaissseeaeaaatstaeeaeaaaasssesaaesaaassssssaesaaasssssaaesaaasssesssesaaasssasesesasassesssesasasssenseeseassssenes 98
Pop Bumper RiNG ASSY. PN: 11-005004-01.....ccetitititiiiiieieeteeieiisssisseeieiitttttarreeeeeteeetetteeeeesssssssassassssssssssssssssssessseteteetetteeetesessessansmmmmsssssssssssesseeseeeteeeteeeeeeeeeessessnnns 98
Pop BUMPEr TOP ASSY. PN: 5L-T00L62-XXX . uueieiettuiuuniiiieeeeeeeeeetettttutuaaaaeeseeeeeseseatesanaaaaseeaaesesreressnsanassaseseeessnnsssssssnnseseseeeseessessssnnssnseseseeesssnsnsssssnnasesesesesessresssnnnnn 99
Pop Bumper Bottom AsSY. PN: 51-000004-01......cueuuiiiiieeeieiieeitiiiiiiess e e et et tetettutaaaaaaseeeeeeteetssesssaaasseseeeeesesesssssssssaseeeseeseessssmsssnsssanseeeeeseeenmemssmmmmmeeseeeeeeeremmmmmns 100
Upper Loop Ramp SWitCh PN: 51-100077-00.......cc.ceeeeeiiiiieeeeeiiiiiteeeessseuttteeeessssteteeessssstaseeesssassssseeessssssssseeessssssssseessssmnsssseeesssansssseeesssnnsssseeesssnssssseeesssmssssseeessssnns 101
SIash FIap Gate PN: 51-100079-00.......cccteerereterueteeeriuueeessreeessureeesssseesassseeesssssessssseessnsssessssssessssssessnssssssnsssessssssessssssessssssessnsssesssssseesnsseessnsseesnssseesnssseesssseeessssaeesnns 101
Back Panel Assy. SE PN: 5L1-100052-01......ccueiceeiieeiteeeieete steeeeesesettteeeesssauttaeeeessaasstaeeeessaasseseeasssassssssesssssasssssesesssnssssseessssnssssssesssssssssseessssnssssseesssnsseseeesssssssseeeesnnnns 102
Back Panel Assy. LE PN: 51-100052-00..........cccueitereeiteeitetereeeesaiitteeeeeesaassasseeesaassssseessaasssssessssassssssssssamsssssssssasssssssssssasssssssssssansssssssssanssssssessassssssesessmsssssseeesannes 103
Back Panel Assy. CE PN: 51-100052-02........ccccueiiieet eeeeeeiuittteeeeeeettteeeesssutaseeeesaastsseeesssaastsseeesssasssssssessassssssseessassssseesssssnssssssessssnsssssesssasnssssseesssnsssesseesssmssseseeessannes 104
Spot Light Assy. PN: 51-100093-00 .......ccceevereeriertisrerteeeestesassases sessteeessssesssssseessssseessssssessssssssasssssssnssesssssssssssssssssssssssssssesssnssessssssesssnssessanssessssssessssssessssssesssssnessnes 105
DrumStick Target Assy> SE PN: 51-100053-01......ccct ceeiiiteeiiite ettt ettt e esiteeessibteesstteeessuteeesuteeesabaeeesassaeessbaeesasseeesasseeessseeessssaessasseeessseeesnsseessasseessssseeesnsseesssssees 105
DrumStick Target Assy. LE PN: 51-100053-00 CE PN: 51-100053-02........uuutttieiiiiiiitteeeeeiiieeeeeeeeeureseeaeeaassaeseaeaaasssssaesaaasssssssesasasssssssassaasssssssssssasssssssssesassssseeanans 105
Plastic Right Ramp ASSY. PN: 51-100054-00......ccceeteeertteeertieeeirteessiteessutteessuteeesattseesassseesassaeesssssesssssseessssaessasssessssssessssssessssssesssssessssseeesssssessnseeessseeessseesssseees 106
Plastic Left Ramp ASSY. SE PN: 51-T00061-01........ccueeiiieiiieieeiieeie cuttteeeeeeeitteeeeeeeeattasseaesaasssessaesaassssssaeaaaassssssaesaasssssssassaaasssssseesaassssssassaasssssssessaassssssasssaansssseaesans 107
Plastic Left Ramp Assy. LE & CE PN: 51-100061-00.........uuuuiiieeiiiiiieeeeeeeiitteeeeeeeetteeeeeseseteseeeeesaassssseeesaasssssseesssaasssssseessaasssssesssanssssssssssansssssessssnssssseesssnssssssesesannns 108
Slash Return SWitch Left PN: 51-100074-00..........cccceeruerereseserieeses steeeesseeeessseseaassseeasssseesasssesasssseasssssssssssssansssssasssssssssssssssssssssnssssssssssessssssssssssssssssssesssssssssssssssnns 109
Left Cat Walk Ramp PN: 10-1000103-00 ....cceveeveriies eerirteeestieeasreeessteeessuteeesssseeesssseesssssssesssssessssssessssssesssssssssnssessssssesssnsssessnssesssssssessssseessssseessssseesssseessnseessssseees 110
Right Return Cat Walk Ramp PN: 10-100091-00 ....cceecieeiies eeeeietiteeeeeeeetiteeeeessetteeeeesesastseeeessaasstaseeesssassssesessasssssssessaassseseessanssssesessansssssseessssnsssseeesssssssseeeessnnns 110
Acrylic Guitar Assy SE PN: 51-100128-00.........ccoueeieirieiteeits eeeiitttreeeeeeiitteeaeeaaaisteseaesaaasesseaesaaassesessssaasssessessasmsssssesssssasssssesssssssssseesssssssssseessssssssssessssssssssesssssnssens 110
Spinning Guitar Pick ASSY. PN: 51-100066-00........ccueiteitieitees crreeeeeesiutreteeeessiureeeeeesasssreeesssassssseeessssmssssesesssssssssssessanmssssseesssssssessessasnsseseessssmnssesesssssssseseeesssssssens 110
Snubber Side Bracket Assy. Left PN: 51-100065-00..........ccccciuirteeeeiiitieeeeeeieiieeeeeeeaiitreeeeeseastsseseeesaaassesasasaaaissssssasasasssssssesassasssssssseasassssssesesssssssssesesssssseseessassssens 111

GUNS N ROSES



Game Parts Information Continued

Snubber Side Bracket Assy. Right PN: 51-100065-01.......ccccueeciiiieeieeteeeeeeeeesseiitttteeeeeeeeesssssaetseeeeeaeasssasaassstsseseeeessssiamsssssssesseesessammmsssssssesseessseassmsssssssessessssssnnnssnns 111
Drumstick Ramp SE & LE PN: 51-100055-00

(0 o N N o 0003 T 0 U PP PPPPPPPRN 112
CatWalk Ramp AsSY. PN: 51-100142-00........cccccuuuureeeeeeeeeeiiiiutereeeeeeeeesaiaaestssseeseesssssmassstasessseessssamamssssssssnssssssesssessssssnmmsssssesssssssssammssssssesssessssssmmsssssssessessssssnsnsnns 112
CatWalk Diverter AssY. PN: 51-100062-00........c..uuuttteeeeeeiiiiiuiteeeeeeeeeessaiutetteeeeeeeeeasaaastssseseeessssamamsssessesseessssammasssssssssesssssmmmsssssssesesssssssmmmsssssessesesessemmmnssssseseeeeesns 113
APron AsSY. SE & LE PIN: 52-100013-XX...eecueeeeeeeeiuurtereeeeeeeessaiiustsseeeesessssasaasssssessesssssssmamssssssssssssssssanmssssssssssssssssssnmsssssesssssessssssssssssseseeesssssssssssssssesesesessssnnssnsssseees 114
APron ASSY CE PN: 52-100016-00.........utteiuteiiittiieiiiseaeeeeeeeeeeeseaeaeaeeeeeeeteetteeeeeeesaeteteesestesssnresenn....a.a.aaaaosaaasessesssssssssssssssssnnnsnsnsssssssssssesesssessssseesesseseseseeeseesenrmrmnne 115
Coma Ball Lock DOwn POSt CE PN: 51-100020-00......cccueuuttteeiutteeeaiiuteeeesieteesssusteesssssteessssseeessssssseessnssseessssssseessnssssesssnsseesssmsseesssssseeesssmsseesssmseeesssmseeessssseees 116
Hat ASSY. PN 51-100080-00......ccccicieieiieeeeeeeteetet ettt et eeeeee et e eeeeteeeaeteaeeeaea——————————.aaaaaaaaaaeaasaseseseaaseeaeseeseseseseesessssssssssssssssssssssssssssnnsssssssssssssessseeesseseeeeseeeseseeeeeeeensnsnnnns 117
Single Coil Magnet AssY. PN: 51-100012-00.......cccciuuuurteeeeeeeieeiiiuttteereeeeesasiaitettreeeeeeeesssisassssssseeseessssamasssssessesessssssassssssssseeesssssmmmssssssseseeesssssnmmssssssssssessessansssssnnns 117
ROCK STage SE PN: 51-100123-00.. .. ccciicccutiuieeeeeeeeeeiiiittttteeeeeeeeessaitasrareeeeaessaaaassssssereeesessssasasssssssssseessssassssssssssssssssssssassssssssssssssssssssssssssesssessssannssssssssseseesseesnsnnsnns 118
Flipper Assy. Right Bottom PN: 52-000121-00

TOP PN 52-000131-00.....0eeuteeteueeeeeeiiutteeeeattteeesautteeesasteeeesassseeesassseessasssseessasssseessssssssesssns sanssseessnsssseesssssseeesssssseessnssseessssseeessssssseesssssseeessnsseeeessnsseneessnssenes 119
Flipper Assy. LEft PN: 52-000132-00.......ccuutteeiiitieeeeeiieeeeeeiteeeeeeiteeeesaatseeeeaaasassaesaassseasaasessessassssessassssssssssssssesasssssssssassssesssnsssssssanssssessassssssssansessessssssssessssseseesanns 120
Upper Playfield Flipper Assy. LE & CE PN: 52-000151-00.......cccueeieiieet eeeiuteeeeeeitteeeeeiteeeeeaissseesasassseeeaassseeesassssssassssssesssssssesassssssesassssssessassssesasssssesssssssesssssssseen 121
Bass Head AsSY. LE & CE PN: 52-100082-00......cccueeeeeeieiiiuuuiereeeeeeeeaesiiutstreeeeeseesaaaasssssssesesesssssnassssssssesessssssmmmssssssssssessssaansssssssssesssssssasssssssessssssssssmmssssssessesessssnnnns 122
PopUp Diverter Assy. LE & CE PN: 52-100063-00.......cc.uuuutrreeeeeeeeeeiiitutrereeeeeeeasaiirsesereesessesssamsssssssseseesssssanmssssssesseessssammsssssssssssesssssammmssssessseesesssmmmnnsssssreeeessesannns 123
Dual UP DoOWN POStS LE & CE PN: 52-100067-00........cccctttttiiuitteeiaiuitteeesiuitteesautteeesaueseessausseessassseessassseessssssseessnssssesssmsssseessnssssesssnssseeessmssseeessnssseeessnssseessmnsseesss 124
6 Ball Trough AssY. PN: 51-100022-00......cccueeeeeurrrreereeeeeeiiaiiureereeeeeeeesaaarassssseeseeeesssmamrsssessssseesssssmmasssssssessestessssssesssssnmmssssssesssssesssssmmsssssesseessessammmsssssseseesssssssnnsnns 125
Auto Launch Assy. PN: 51-000026-00.......ccccceeiutceuurrreereeeeeeeiiiururereeeeeeessaaissssrereseesssaaaansssssesssesssssmmmssssssssssestssseseesssssmmmsssssssessesssssamnssssssseeessesssmmmnssssssssesesssssnnnnnns 126
SIiNgShot AsSY. PN: 51-000003-00......ccccceeteeeeeiiiiiiiitteeeeeeeeesiaseuterreeeeeessesiaarssresseeeeesssesiaassssssseesseessssmassssssssessssssssamsssssssessesssssssamssssssssssesessssmssssssssssssesessssmnssnsssseees 127
Playfield Support Bracket PN: 51-100001-00.......cccceeutreeeiiiereeeeiieeeeeeiteeeeeaitseeeesaissseeesassseesaaasssseesasssssssasssssssaasssssssassssssesanssssssanssssssssssssssssnsssssessssssssessnsseseenns 127
Playfield Controller Board Assy. PN: 51-000103-05.......ccccceiiutrteeiitteeeeeiiteeeeeeiteeeeeaaseeeesaasseeesaasssseesaasseseesaasssssesasssssesasssssesssssssssssasssssessssssssesansssssessnsssssesansssseennn 128
Opto Board Assy. PN: 52-100008-00.......c.ccccutereetrreeeeeeeeeiiiiuuteeeeeeeeessaiiseessereeeseesssaaassssssesseessssssaasssssssssseessssammasssssssssssesssssmassssssssssseeesssammssssesessesssssnmmsssssseseeeeeens 128
RECOrd ASSY. PN: 51-100058-00.......ccccteeeieuurrrrreeeeeeeeiaiiureteereeeeeesasaassrssseeeeessessmaasssssssssseessssasamssssssssssssssssssssssssssnmassssssssssessssasmnssssssessseessssanssssssssessesssessnssssssssseeess 129
SAUCET VUK PN 51-100T04-00..... e ecueeen eeeeteeeeeaeeaiitteeteeeeeeeeaaaauseeeeteeeeeesaaaaaaueaeeeeeeeeeaaaaaaansseaeeeeeeeeeaaaaassssseeeeeeeeesaaasnsbeeeeeeeeeeeeaaassseeeeeeeeeeeesaaaansbebeeeeeeeeeesaannnnnnneeeas 130
VUK ASSY. LE & CE PN: 51-100109-00......ccucecteterteeeitieeeeaaitteessaitteessauatteessastseeesaussseesssssseessssssssesssassseessasssseessseessnssssesssnssseessanssseesssnssseessnnsseeessmnssseessssssseessnnsseeens 131
Upper Playfield Ball Guide Assy. LE PN: 51-100183-00

L0 o N T o 000135 T 0 PRSP TUPP R 132
Left Return Lane Assy. SE & LE PN: 51-100106-00

(0 o N T o 00y 0O TP PP UPP 133
Right Return Lane Assy. SE & LE PN: 51-100106-01

L0 o N R o 00 e 1 PP PP 133
High Hat AsSY. LE & CE PN: 51-100092-00.......cccettertesteteeeaiuitteesaiuttteessautteeessseseessassseessassseessasssseessassseessssssseessnssssesssnsssseessnssseesssnsseeessnssseesssnssseeesnnssseessmmsseesss 134

GUNS N ROSES



Game Parts Information Continued

High Hat Mounting Assy. LE & CE PN: 51-100086-00.......c.cccciteiteeteeeiiiittitteeeteeeeeesieiuetteeeeeeeeeseasaasssstaaeaesessssamasssssseseeesssssassssssssessessssssmmmmsssssesseesssssmmnsssssseseseesesns 134
Cybal Assy. LE & CE PN: 51-100092-00......ccccuteieetureeeeeeeeeeiesiutturereeeeeesasaiansssteeseesessssamasssessssseessessmmmsssssssesssesssesseeessssssamssssssssssessssssamssssssssssessssssmmmssssssessesssssssnnsnnns 135
Upper Center Loop Ramp ASSY. PN: 51-100076-00.......cccecuueeuuuuieuuuiiuuuiuueuuaaaaasaaaasaeeesasaaeessaaseeaesesessssessesesssessssssesssessssssnsnen.........noaaataaaaererereeeeeeremn 135
Right Ramp Gate ASSY. PN: 51-100122-00......ccetteeeeeiiiiiuitteeeeeeeeeesiiiuttreeeeeeeeeessaseetteeeeeeessaasaasstesaseseessssamamsssssssssessssssmmssssssesssssssssanssssssesssessesssmssssssssessesessessnnnnes 136
Left Ramp Rear MouNnt PN: 51-100087-00.......cc.ccceeieiereeeeeiieeeeeeiteeeeeaiseeeeeaasseeeesaasssseesaasssseesaasseseesassssssesassssssssasssssssssssssessasssssesansssssssnsssssesansssssesssssseessnsssssennn 136
Inner Ball Trough Assy. CE PN: 51-100100-00.......c.ccciiiiiuititeeeeeeeeeeisitttteeeeeeseesssatattreeeeaeeesaasaassssseeeeeessssamasssssssseeeessssammsssssssessssesssssmssssssssssesessssemsssssssessessessssnnnns 137
USB Camera ASSY. PN: 51-005041-00......ccutiiiiieieeeeteeeeeeeeeeteeeeeteeeteeeeeeeee.......a.aaoaaaaaaaaaseseeaaeeeaeseeseeeeeesesereeeeeteaeteeeeeteeteteeeeeeeeeseeeseeeseeeeeeerereeeesmmrm.n........—.———oooo 137
SSD BackBOX MOUNT PN: 51-005044-03.......cccteeteeeiutteeeeiiuteteesaititteesateeeessateteessastteessaseteessasseeeessasseseessassssesssass sassssesssassseesssnssseesssnssseessanseseesssnseseesssnseseessanseseessnns 138
Monitor Magnet LatCh PN: 51-100050-00.......cccettieiiiiiiiittieteeeeeeeeeesiiiuteeeeeaeeesasaasstatareaeaessssaaassssseresesssssaaaasseesssssssssssssssssessssasssssssesseessssansssssssssesseessssssnsssssssseees 138
27" LCD MONitor ASSY. PN: 51-100021-00......cc.ccccuieeeeieitieeeeeeitteeeeeetteeeeeeteeeesasttaeaeeaassesaeaaastesaeaaasssseeaassssesaasss asessesaassessesaasssseesassssseesasssesseeanssasessanssasesssnssesesannsens 139
Door & Interlock Switch Assy. PN: 51-000035-00.......ccueeiteiiueeieesiteeisiettttreeeeeeeeesiaasssresreseeessssmarssssseresseesssssmnmsssssseesesessssmmssssssssseseeesssmmmssssssssseessssssmnmnssssssseseeeesnns 140
Line Filter BoX ASSY. PN: 51-005023-00........ccccueeiiteeueereeeiteeseeeiteesteesseessseesssessseassesessessssssssssasssesssssssassssssssssssssssssssssssssssssssssssasssssssssssssesesssmnssssssssseseesssssnsssssssnseeees 140
Action Button, Lockdown Assy PN: 51-000066-10........ccccceereeeiiieurinieeeeeeeeesiiiitttteeeeeeeeesasarssesseeeseesesaamassssteseeeeesssssssassssssssseseesssssmssssssessesssesssmmsssssssssseeesssssssnssssnes 141
Headpone / Bluetooth Assy. PN: 51-000035-00........cc.c.cecueeiiueeeeireeeeieeeereeeeteeeaiseeeeiteeeeiseeaassesaasseesasesaaasesessssssassssasssssssssesasesssasssesssssassessesssesssesesasesesssessnssesensees 141
Cabinet Power Box Assy, U.S. PN: 51-006001-02.......ccccceeeeiiiuirieeeeeeeeeeeseiittatreeeeeeaesasaasstsseaeseesessssassssssssseseesessannsssssssssesesssssammssssssseseesesessmmnsssssssssesessssmmnsssssnsseeens 142
Cabinet Power Box Assy, International PN: 51-006001-11.........coiiiieieeeeeeiiiiiieeee e et e e e eesettrteeeeeeeeeessasrtataeeaeeeeesaaaasnstsaeeeaeesessasasssstssaaaaeeesessassssssnnneeeeesessansnssssnneeees 143
Hot Rail, Short - Ledt Side PN: 51-100141-00 SE

51-T00L64-00 LE & CE....veeieiieitieiieetteste ettt ettt e st ste st e ste sttt eeesaubeeeessabeeeesaaabaeeesaasbaeeesaaseeeeesaasteeeseaasbaeessaabeeeesaasbeaeessasbeeeeeaasbeeeesansbeaeeeanbbaeesenaseaaessnnbeeaesnnsenas 144
Hot Rail, Long - Right Side PN: 51-100170-00 SE

PIN: 51-100165-00 LE & CE.....ueiiuieitieiteriienteete strtteesetiteeesstteeeesasaseessatsseeesasssseessassseeessasssseessasssseessanssseessssssseessnsssseesanssseessanssssesssssseeesnnssseessnnssseessnnssseessnnseees 145
Lockdown Bar Assy. With Button PN: 51-100101-01 SE

PN: 51-100101-00 LE PN: 51-100134-00 CE.....cesteiteruterieriesteeniestestesstesteestestestesseesseessestessesssesssessesssssseessess sasseaeesssssesssssssseeesssssseeesssnsseeesssssseeesssnseeessnssseeessnsees 146
Ball Shooter Assy. PN: 51-000092-09 SE PN: 51-100092-08 LE.......ceccteiteerteeeieesteeeiteesteesttesits eeeessasussssseeseesesssssssssssseseseesssamamssssssesesesssssmnsssssssseseeessessmssssssnneeeens 147
Ball Shooter AsSY. PN: 51-100131-00 CE.....cccieeiieeiieeiieeieeeiteteeeeeeeeeesittttaeeeeeeeeeessauesstaeeaaaasessaaasssssseesaeasesssasassssssnssessssssssssssssssessesesesassanssssssesseessssssnnnssssnneeeesesanans 148
RUD DT SHlICONE RINES. it iiieiiiiiiee et e e e e e sttt e e e e e e e ettt eeeeeeeess s e e taareeaeeeaesaaasastaaaeeaeaeaeeaasssstaneeeaaeesassassessseeseeaassssnssssssseeeeeesessasssssssnnnsseessesannnsssssnneeeeeeeennnsnssnne 151
IR \ VL0130 2 o1 u o T o 4 FO OSSO PP PPPPPPTPTUPPRY 152
T = N UES Ottt itiiiet ettt ettt ettt ettt ettt ettt ettt e eeeeeaaaaaaaeaeaaeeseeseeeseaeeesesesssesssessnsssssss s s s s aaasaasasaseeeaeeeeeeseeeesesesesssnsnsssesssssssssssssssssnsssnsnsnnnsnnnsnsssesseseeeeseneeeeaseeeens 153
(R T D L] 4 LYot o T S T e VAV =T w oY 1.4 LN 154
[ To]n oY g BT o) oYoT o 3 =T1 E=Tq o I = = ol =N o PRERR 155

GUNS N ROSES



Reference Diagrams & Schematics

6 - Ball Trough Opto Receiver Board PN: 15-100004-00.......c.cccciterteeeeeeeeiiiiutreteeeeeeeeesssirtssaeeeeeeessasaasssssaeeeeessessaassstssesseeessssssmsssssssesssesssssamsssssssseseeessesemssssssssreeees 150
6 - Ball Trough Opto Transmitter Board PN: 15-100002-00.........cccttirteeieeeiiuurrrreeeeeeeeeaiiitssteeeeeeeeesassassssseseeeesssssamsstssssseeessssssamssssssssseeessssamssssssssssseeesessammnssssseeees 152
Opto 10 Board PN: 15-100005-00.......ccceeiiieeireeiieeriteeseeaiteesseesseeseeesseessssesssssseessssassesssssssassssssssssssssssssssasssssssssssesssssnssssssssssssssssssssssssssesseessesssssssssssssssseeeesssnmsssssssnees 153
Playfield Controller Board PN: 15-100019-00.......ccceeeeeeeeiiieieeeeitieeeeeeitteeeeseteeeeeeateeeeeaasesaeaaassasessaassesaesaassssssaaassssasaassssesaassssssssassssessssssssessassssessnssseesanseseesanses 155
[/O PCB ASSY PN: 15-004001-01.....ccuccteisieereeteerteeitteeteesseeaseesseeasseasseessseasseassssssseassesssssasssessssssseassessssssssses sassessssansesssssssssesssessssansessssessssessesssssssesssessssessessssssssenns 157
[ ToF: [ e =T g o I GF-] o] L= PSR P PRSP 176
Single RGB Board PN: 15-100008-00 & 15-100008-01.....c..ccciteitertierierierteeitestterteetesteestestessesssateseessasteeeessassseeesssssseessasssseesssassseessssssseessanssseessasssseessasseseesssssseeessnnes 177
Flipper Area RGB LED BOard PN: 15-1000L6-01.....ccceiitiiiieeeeeeiiieititieeeeeeeeeesietattreeesaeeesasaassastareeeaasessssassssssesssesssssaassssssssssssessssssnssssssssesseessssssssssssessessesssnnsssssnnn 178
American Tour RGB LED BOArd PN: 15-100016-02.......ccceecterieiee eeeeeiiiteeesaieteeesatteeessaubteeessastteesssasseeesssaseseesssssseeessasseeesssssesesssssseeesssnseeessssseeessssseeessssseeessnsseees 180
EURO Tour RGB LED BO@rd PN: 15-100016-03.......ccccttitieiiiiiteeiititeeesiteeeesseutteeessuteeeessastseeessstaeessasstseessaseseessaseseessasssseessassssesssnsssseesssssseeessnssseesssnssseesssssseeesssnses 182
Pacific Tour RGB LED BOard PN: 15-100016-04... .....c.ceeeiueeeieeeiiteeesiteeesteeasseeeesuseesteeesseeesssesesssessssssesssssesssees seesssessssssessseessssesssnsesssssesssssessnsessssseeesssesesssesssssessnses 184
Shooter Lane RGB LED BOard PN: 15-100016-05......ccceetiuieteiiiiitee ittt e esiieee e e sitteessstteeeesauteteessaubeeaessaubeeeessasbteessasbteessabeteessasseaeesaanbeeeessnsseeeessasseeeessnsseeesssnssees 186
UR Flipper RGB LED BOArd PN: 15-1000L16-06.......cccceceieieeetreeeeeeeeeeiiiittttteeeeeeesessaussstesesesesessassssssssesssesssssaamsssssssesseesssssssssssssssessesessssssssssssssssesesssssssssssssseseessssanans 188
LP Area RGB LED BO@rd PN: 15-100016-07.....c..ceeetiiiiteeiiiiiteeeeiititeeessttteeessteteessautaeeessauseteessastaeesssasssessssassesessasseseessansesessssseseesssseeeessssseeeessssseeesssnseeessssseeessnnsees 189
Left Ramp Area RGB LED B0oard PN: 15-100016-09......cc.cccueiieeeeitieieeeeitteeeeeeetteeeeeeetreeeeseitseeaesasaseaeaassssaaeaastsseaeaasssseesaastssesaaassesessaassssassanssssesssnssssessasssssessnsseseesannes 191
Drums Area RGB LED BO@rd PN: 15-100016-10.........cuetttiiuieeeeiiuiteeeenititeeeesiteteesssteteessauteeeessausetesssssseeesssasseeesssnssseesssasesessssssesessssseesessnsseeeessssseeesssnseeessssseeessnnsees 193
Guitar Head RGB LED BOArd PN: 15-1000L6-12......ccuceiuieierieeiient eeriitteesaiuteeeesasutateessuseeesssssseeesassseessssssesesssssseessssssseessssssseessnnssseesssnssseesssssseeesssnsseeessnssseeessnsseees 195
Lighting Truss LED Board PN: 15-100016-13........ccccciiiiiieieeeeeeeiiiittttteeeeeeessssaeuetraaeeseeesasssasssssasreesessesssasssssss aasnsssssssssssessssssssssssssesesesssssssssssssnseesesssssnmssssssseseeeesens 197
Left Inlane RGB LED BOArd PN: 15-100016-14..... c..ccccueeerreeeireeeitteesstteesiueeestesessseeesssesasseeessseessssesssssessssesesssesssssessssssssssssssnseessssesssssesssssessnsssssssssssssesesssesssnsessssees 199
AXL Lane Area RGB LED BOArd PN: 15-1000L6-15......ccoiiiiiieiiiiiieeieiitee e esiitee e s sttt e e s s etteeeesubeeeessabeeeessubeeeesaabbteessansbeaessaabbaeessabeeeeseabaeeesanbeeeessnbaeeesassaeessnnsreeas 200
RGBW PCN NO Connector AsSY. PN: 15-100023-01.....ccciiiieiiet ererettieueueueneueueueeeaeeeaaaaaaaeeeaseseesasaasesesesesseseeesassesessssssstssssssssssnsnnnsnsssaasaseeseeeeesseeseaeesseseeeeseeennnn 201
Single Reflective Opto Board PN: 15-100024-02.......cceeceiieeeeet cteeeeeeitteeeeeeitteeeeeattteeeeaasaeeasaasesaeaatssesaeaaassssesaaassssesaasssssesaasssseesassesssssnssasessssssesesssssssesessssesesansenes 202
RGB GI PCB ASSY. PIN: 15-004251-05....c.ueiiteittteteeeeittteesartteeessstttteessssateeesaastseeesassseeessssseesssassseessasssseessasss nssseesssssseessnsssseesssnssseesssssseessnssseessnssseessnsssseessnssseeens 203
Single RGBW LED Board No Connector PN: 15-004328-00.....ccccueiciteiiiereeeeeeieiuttteeeeeeeeessasaissssesseeseessasaassssseseseessssammsssssssesssesssssammssssssesseessssssmmmsssssssssssesssssnnsnns 204
Double RGB LED BOArd PN: 15-004129-05......c.uttttiiiiieeeaiitteeeaiitteesssuteeeessasteeeessauseteesassstesssassseessassseessasssessseesssssseesssssseessnnssseessssssseessnssseessnssseessnssseeessnssseeens 205
Y R YN ol VAV AT o= = o =P SRRRR: 206
[BT=To 1o C=To IRV YR ol a TV AV AT o= =1 o =P SEPRR 207
0o @l 1 B -] o] (= PP PP UP R OTPPP 207
PO Ao ] Ol IR To] o gl -] o LT OO P PP PPTTOPN 208
A o] | A o T AV o] o g 2 U= o A R IR = o I o P UPURPUS 208
L= -1 o1 L IO PP UPPR 212
(O] | VT =To I oo 1N =T Y i =T o OO PP PO PRSPPI 209
YU o] o1 VYo L - T=LIN @] o V=Y 5 o 1 PSRRI 213

GUNS N ROSES



NS

NOTI GET THE MOST OUT OF YOUR GAME
=
EXPL“:IT M““E T““NE“ "FF Dont forget to adjust the mode setting
"0 ST GUAGE THE SFTNGS 0 EEARLE EXPIEIT WODE. IT"5 50 EASY
- MR. BROWNSTONE
T T4 G
T L A COMA

T0 CHANGE SETTINGS:

- OPEN COIN DOOR

DOUBLE TALKIN” JIVE

ARE ONLY AVAILABLE WITH THE EXPLICIT MODE ENABLED

- HIT ENTER BUTTON (TO
ENTER DIAGNOSTICS)

- GO TO FULL MENU

- GO TO SETTINGS

- GO TO GAME SETTINGS
- UNDER THE GENERAL
HEADER ALLOW ADULT

CONTENT CHANGE TO
YES

*NOTE THE GAME WILL
REBOOT AFTER SAVING
THIS CHANGE*

T0-100007-00 LS

GUNS N ROSES |



. TABLE OF CONTENTS:

SPEAKER BOX INSTALL
ATTACHING SPEAKER BRACKET
ATTACHING SPEAKER ASSEMBLY TO CABINET
ATTACHING CABLES

ACRYLIC SIGN INSTALL
MOUNTING ACRYLIC SIGN TO BRACKET
ATTACHING POWER CABLES FOR LIGHTS

IMPORTANT: TURN OFF & UNPLUG GAME FR6M WALL BEFORE“INSTALLING TOPPER.
TOPPER IS HEAVY, USE 2 PEOPLE TO INSTALL.

SPEAKER BOX INSTALL
ATTACHING SPEAKER BRACKET

OPEN TOPPER BOX & CAREFULLY

UN-PACK THE ENCLOSED ITEMS.

2,

ITEM NO.

1 TOP SOUND UNTING BRKT

ATTACH SPEAKER BRACKET

SOUND BAI

TO SPEAKER BOX BY TIGHTENING
THE 5 SUPPLIED #10-32 SCREWS

#10-32x3/8

USING PHILLIPS SCREWDRIVER.

ATTACHING SPEAKER ASSEMBLY TO CABINET

3

PLACE SPEAKER BOX WITH
ATTACHED BRACKET ON
TOP OF CABINET.

4

LINE-UP PRE-DRILLED HOLES IN
CABINET WITH SPEAKER BRACKET.

O

TEM NO.

1

R TOPPER ASM

TIGHTEN THE 4 SUPPLIED #6 x 1/2”

#6x1/2"TH SMS

SCREWS INTO PRE-DRILLED HOLES
USING PHILLIPS SCREWDRIVER.

ATTACHING CABLES

(6

PLUG IN AUDIOJACK

PLUG IN LIGHT STRIPS
AND FEED BLUE CABLE

AND SPEAKER FROM TOPPER INTO
POWER CABLE. THE BACKBOX.
PAGE 1 of 2 #71-100011-00

ACRYLIC SIGN INSTALL

MOUNTING ACRYLIC SIGN TO BRACKET

8

SLIDE ACRYLIC TOPPER SIGN
INTO BRACKET. LINE-UP
THE FOUR HOLES.

O

ATTACH THE 4 SUPPLIED #8
SCREWS BY SLIDING FASTENER
THROUGH BRACKET HOLE AND
ACRYLIC TOPPER BRACKET.
TIGHTEN SCREW USING
PHILLIPS SCREWDRIVER.

®

COVER HOLES WITH SNAP IN PLUGS
BY PRESSING PLUGS IN BY HAND.

2
3
4

ATTACHING POWER CABLES FOR LIGHTS AND SPEAKERS
LOCATE THE BLUE CABLE (ACRYLIC
TOPPER LIGHT) FROM STEP#7 B

AND PLUG IT INTO THE MATCHING
BLUE CABLE AS SHOWN.

PAGE 2 of 2

TEMNO. |

10-100189-00

80-000008-06

30-100064-00
30-000095-01

ATTACH SPEAKER POWER
CABLE ON THE BACK OF THE
TOPPER AS SHOWN.

PART NUMBER

SLSH ACRYLIC TOPPER
375 1.D. NYLON PLASTIC SNAP-IN
PANEL PLUG

DESCRIPTION [arv.
SLSH ACRYLIC TOPPER BRKT
&32 x3/8'PPH MS

#71-100011-00

GUNS N RUSES 11



SETTING UP BLUETOOTH & WIFI

To set up Bluetooth you will need to access the Player Menu.

The Player Menu can be accessed by holding the right flipper for several seconds
while the game is in attract mode
(not during a game).

*0On the LE & CE models, Bluetooth pairing can be accessed
directly by pushing the button on the headphone jack panel
next to the coin door.

PLAYER MENU )

\

FINBALL

ETITION ) (~ BLUETOOTH )  CAMERA )
SETUFP SETUP SETUP

o
MONE n ART to selact.

Select Blurtooth setup (using the flippers to move selection) and
hit start button

BLUETOOTH )

\
b

FINBALL

T stleeT ) { DISCOMNECT ) (T BLUETOOTH ) (  gar
DEVICE DEVICE RESTART

Scanning, Please Walt [-—"—=]

Press START to select.

Once in Bluetooth menu it will attempt to scan for Bluetooth devices.
Make sure your device is in pairing mode.
Once the Bluetooth device shows up in the list, select it with the start button.
Bluetooth should pair the device and start working.

If the device does not pair, exit out of Bluetooth setup and retry.
Make sure your device is in pairing mode.
Due to the nature of Bluetooth, this may take several attempts.

Currently enabling WIFI allows for downloading code updates.
To setup WIFI on your machine.

Enter the “Test Menu” by pressing the black button once.
Using either red button, highlight “Utilities”, select with the black button.
Using either red button, highlight “Network Settings”, select with the black button.
Terms and Conditions.
Press the black button to read.
Press either red button to scroll through T&C.
Once “Terms Accepted” is displayed, press the green button to exit.
Using either red button, highlight “Set WIFI Network”, Select with the black button.
Press the black button to “Scan Available Networks”.
Using the red buttons highlight your Network, select with the black button.
Exit out of “Set WIFI” by pressing the green button.
Using the red buttons, highlight “ Set WIFI Password”, select with the black button.
Use flipper buttons to change the character set.
Use black and green buttons to move cursor between characters.
Use red buttons to change characters within a character set.
Press “Start Button” to save password once you’re finished.
Exit out of “ Set WIFI Password” by pressing the green button.
Using the red buttons, highlight “Connect to WIFI”, select with the black button.
Connected to Network “xxxx” will be shown once connected to network.
Using the red buttons, highlight “Network”, select with the black button.
Press the “Start Button” to test the Network.
Last Network test “Passed” displayed.
Press the red button to “Turn Off Network”.
Press the Black Button to “Forget Network”.
Press the green button to “Exit”.

PINBALL,

71-100018-00

GUNS N ROSES



INPAGKING YOUR GUNS N ROSES 6AME

1) Using wire cutters or scissors, remove all shipping bands from the outside of the carton,
noting the side with the “TRUCK THIS SIDE ONLY” marking. With a utility knife and nee-
dle-nose pliers, carefully cut the tape and remove all staples along the seams of the carton’s
top flaps, then fold them open. Remove the large, flat sheet of cardboard. Pull out the legs
tray and remove all parts. Check all loose parts against the packing list on this page.

DO NOT DROP

IRY+]

DO NOT USE CLAMPS

TRUCK THIS SIDE ONLY

MODEL:
COIN MECH:
COUNTRY:
SERIAL:

GAME NUMBER:

JERSEY

JACK
PINBALL_

#5645 OAK STREET
LAKEWDOD, HL 0878
FH.  732-364-D000

wearscjeraayjachpistall.com

USAEES @). C€ RoHS

The “TRUCK THIS SIDE ONLY” side of the box. Opening the shipping carton.

Tools Required:

Wire cutters or Scissors

Needle-nose pliers

Utility knife

Ratchet and 5/8” socket (or 5/8” wrench)
#2 Phillips screwdriver

Torpedo bubble level

Loose Parts Packing List

4 pinball machine legs, with levelers and tightening nuts
8 acorn-head leg bolts

6 steel mirror-finish pinballs

1 USA line power cable

1 “I”-shaped, 5/16” hex key

1 steel setup multi-tool

1 flipper gauge

spare guitar pick spinner decals
spare set of slingshot plastics
assorted plastic game key fobs

1 mylar slingshot PF protector set
set of ball drop and corner protector
1 GnR pricing card set

2 3/16” ID mini post silicone, clear

2 2” silicone ring, clear

2 black plastic push-in, ribbed rivets
2 spare slingshot silicone rings

1 3/8" OD silicone mini post rubber
2 3/16" ID silicone mini post rubbers
4 heavy, felt cabinet protectors

1 topper (CE games only)

Note: If anything is missing from your loose parts, send an email

to warranty@jerseyjackpinball.com for a replacement.

GUNS N ROSES

1



If you wish to save your shipping carton:

2) With the help of at least one other person, carefully tip the carton over and
lay it on its “TRUCK THIS SIDE ONLY” side. Using the nylon strap as a handle
(DO NOT PULL ON THE GAME'S BALL SHOOTER!), slide the game and packing
materials out of the carton.

Note: You may need to spread a blanket or some other form of cushion under
the game to protect the floor.

3) DO NOT CUT THE NYLON STRAP holding the backbox down at this point.
Remove the foam padding from the corners of the game and carefully stand it
upright again (as it was in the carton during shipping).

Sliding the game out of the carton.

or

¥ X

If you do not wish to save your shipping carton:

2) Using a utility knife, remove the “TRUCK THIS SIDE ONLY” side of the shipping
carton. Carefully cut down the left and right sides of the box. Let the flap fall to
the floor, then cut across the bottom edge (taking care not to damage the floor).

3) DO NOT CUT THE NYLON STRAP holding the backbox down at this point.
Remove the foam padding from the corners of the game.

TRUCK THIS SIDE ONLY

Removing the “TRUCK THIS SIDE ONLY” side of the carton.

GUNS N ROSES 2



4) Locate the game’s four legs & four tightening nuts. Add a tightening nut and a leg
leveler to each leg as shown in figure below: a) Install a tightening nut onto each lev-
eler; hand thread it all the way down, next to the foot of the leveler. b) Hand thread
the leveler/nut into each leg until the tightening nut is against the base of the leg.
With the cabinet set up on a perfectly level surface, this should provide a playfield
pitch of approximately 6.5°, front-to-back.

5) Locate the eight acorn-head leg bolts in the loose parts. Thread 2 leg bolts
through each leg (and through a heavy felt cabinet protector, if desired) and attach it
to the cabinet. Using a 5/8” socket and ratchet, a 5/8”wrench, or the cut-out in the
provided multi-tool, tighten the bolts firmly, while maintaining pressure (in the direc-
tion of the red arrow) on each leg.

Installing a leg leveler and tightening nut.

Installing the front legs and cabinet protectors.

GUNS N ROSES 3



6) With the help of at least one other person, carefully tip the game onto its front
legs. Lift the rear of the cabinet and have two people hold it or place it on a sturdy
support. As with the front legs, attach the two rear legs, using the four remaining
acorn-head bolts (and heavy felt cabinet protectors, if desired). Tighten all bolts
firmly, while maintaining upward pressure on the legs. Lower the game onto its four
legs.

CAUTION
‘ ” Minimum 2 Person Lift!

Pressure

Installing the rear legs and cabinet protectors.

7) Using wire cutters or scissors, cut the nylon strap holding the backbox down
(CAUTION: PROTECT YOUR EYES and have helpers/bystanders move away! The sharp
ends of the cut strap may whip violently away from the game!). Remove the remain-
der of the packing material from the game and raise the backbox to its upright posi-
tion. Ensure that the cables and wires in the neck of the game do not get pinched at
any time during this process.

Raising the backbox to its upright position.

GUNS N ROSES 4



]

/ T\

“‘

CAUTION
Minimum 2 Person Lift!

Locking the backbox in the upright position.

8) You will find the coin door keys attached to the ball shooter, on the front of the
game. Cut them loose with a pair of wire cutters or scissors. Open the coin door,
reach inside, remove the hairpin clip holding the cash box to the lower cabinet and
remove the cash box from the game. Remove the loose parts from the cash box and
compare to the packing list on page 1. Locate the “L’-shaped, 5/16” hex key for the
backbox Roto-Lock in the loose parts. Insert it into the hole at the base of the back-
box and turn it a full 270 degrees, CW.

Note: When the Roto-Lock is in the fully locked position, the key will not turn any
further in the CW direction.

9) Using at least two people, lift the game and move it to the intended play area.
DO NOT SLIDE LEGS ACROSS THE FLOOR.

GUNS N ROSES

5



10) Remove the playfield glass: 1) open the coin door, 2) slide the yellow lockdown
bar lever to the left, 3) lift the lockdown bar straight up and out, 4) CLOSE AND LOCK
THE COIN DOOR (to prevent scratching of playfield glass), then 5) slide the playfield
glass off of the front of the cabinet. Carefully set the glass aside. CAUTION: Lay the
playfield glass flat or on a padded surface. NEVER place the playfield glass, on edge,
on a hard surface! Protect and safeguard the edges; they are the weakest part of the
glass. Shock to the edges could shatter the tempered glass!

Removing the playfield glass.

11) Locate the game’s six pinballs in the loose parts. Wipe the balls with a soft rag
to remove any anti-rust compounds before use. Place all six balls in the ball trough
(drop them onto the playfield, below the flippers, and allow them to drain). Level the
game side-to-side by placing a bubble level on the playfield surface (top and bottom)

and adjusting the leg levelers and tightening nuts accordingly. When finished, secure
the tightening nut against the underside of each leg.

12) Your Jersey Jack Pinball® playfield is designed to rest in four distinct positions in
its cabinet for game play, cleaning and maintenance. Figure below shows the play-
field in its standard position.

Playfield in the game play position.

GUNS NROSES 6



Note: The game has a safety mechanism to keep the balls in the trough
from falling out when the playfield is lifted.

13) Grasp the playfield under its bottom arch and swing it upward until the playfield sup-
port tubes underneath are fully visible. Move the playfield to position 2. Pull it upward and
outward until the first pair of feet reach the top of the lockdown bar receiver; then lower the

playfield, resting the feet in the steel channel.

Moving the playfield to position 2.

Swing the playfield upward.

GUNS N ROSES



14) Move the playfield from position 2 to 3. Pull it upward and outward until the second
pair of feet in the support tubes reach the top of the lockdown bar receiver; again, lower
the playfield, resting the feet in the channel. Remove any packing material from the
playfield surface and/or shipping blocks from behind the back panel of the
playfield/lower cabinet interior.

Remove All
Packing
Material

Moving the playfield to position 3; removing packing material.

15) Move the playfield from position 3 to 4. Grasp the two playfield support tubes and
pull the playfield outward until the playfield support/slide bracket stop is reached; then
swing the playfield up, carefully resting the bottom arch against the front of the backbox.

Moving the playfield to position 4.

GUNS N ROSES 8



16) Locate the plumb bob assembly, mounted to the left sidewall of the cabinet interior,
near the front. Remove the shipping block from around the plumb bob tilt mechanism.
Using the wingnut underneath the plumb bob weight, adjust the tilt mechanism to the
desired sensitivity. Raising the weight higher up the hanger wire makes the tilt mech-
anism more sensitive; lowering the weight makes it less sensitive. Carefully lower the
playfield and slide it straight back into the cabinet, ensuring that the two hanger brackets

rest in the slots in the lockdown bar receiver channel. Carefully reinstall the playfield
glass and lockdown bar by reversing the steps in 10) above. 0
0
N
0
d\
QL
3 L “
B =
wy "
z 3 f /N
W O o (®
v v J “ |
QL v ~
L. 7 6
O L ;
E ~
Assembled plumb bob tilt mechanism. ‘ ‘ ‘

17) Locate the power cord in the loose parts. Using the slot end of the supplied multi-

tool, remove the line cord cover plate from the rear of the lower cabinet. Plug the Line cord cover location.
female end of the power cord into the exposed receptacle, inside of the back of the

machine. Replace the line cord cover plate and plug the other end of the power cord into

a grounded wall outlet. DO NOT CUT THE GROUND LUG OFF OF THE POWER CORD!

GUNS N ROSES 9



18) A bubble level is attached to the playfield's right woodrail, next to the ball shooter
lane, to indicate the optimal pitch of the playfield (front-to-back) for game play. Adjust

the Ie.vejlers and t!ghtening nuts on the gam.e's four legs u.ntil.the top O_f th? bubb_le in the Note: Before transporting the game, lower the backbox. Insert the 5/16” hex key into
level _'S JUSF touching the seocond reference line, as shown in figure. This will provide a the hole at the base of the backbox and turn it a full 270 degrees CCW. Ensure that ca-
playfield pitch angle of 6.5°. bles and wires in the neck of the machine do not get pinched or pulled taut as the back-
box is laid down. Place a large piece of cardboard (or the piece of foam used when the
Note: Ensure that the playfield remains level, side-to-side, as you adjust its pitch. | game was shipped) between the top lip of the backbox and the lower cabinet to protect
the cabinet side rails. Tie or strap the backbox securely to the cabinet to prevent it from
bouncing during transit.

6.5° Pitch
Indicator Line

Playfield pitch bubble level.

19) Power up the game (the on/off switch is located under the cabinet, just behind the
right front leg; it rocks in one direction to turn the game on and in the reverse direction
to turn it off) and test it for proper operation. Adjust game settings as appropriate

(see Game Menu System, page 33). Your game is ready to play!

Transport game with the backbox lowered and secured.

GUNS N ROSES 10




//\‘\/ L\'\@ p \
SN \

GUNS \'ROSES Y

T\

W J/

MICROPHONE LEAD GUITAR KEYBOARD

RS ot [ORTE | m I I » I
| Y 3 CENTER SPINNER BASS RAMP SPELL A-X-L ON TOP LANES SPIN RECORD HIT JETS / RIGHT RAMP KEYBOARD INSERT

HIT LIT JAM TARGET

CENTER SPIMNERL = | © » =\
S\IPX i ita / B 4 T COMPLETE RIGHT INLANE -m-

S SKILLSHOT | o e
SHILL SHOT F | MBER - HITACTION BUTTON ;
HIT BLINKING SKILL INSERT TO SWITCH LIT PATCH SPELL ‘G-N-R’ ON INLANE {
SUPER SKILL SHOT : | PATCHES [

CONCERT & T-SHIRT PATCH COMBO

MAKE X SKILL SHOTS ERie R e y N < h
y b 5 oo 12
ate  MAKE SOME NOISE s p Y SWELCHE e f
UPPER FLIPPER WULTIBALL CROWD NETER & \ T e MYSTERY AWARD CENTER TOP LANE
i- - | Bt olon 1, INLANE COPLETION DURING A SoNG | - IRECT FLIPPER SHOT
i

2. CASH OUT 1ST SONG JACKPOT

HIT ‘LIGHTS' TARGET i 1 .
Eetool  THROW THE LIGHTS s y 5
LLLLLY S T i _ CONPLETESHITS
: AN ST ToEwPTY B | ‘

;  FTOTLANEW/ T _

HIT YR TARGET : 5 . )
SPELL PR lﬂNlTE THE FLAMES ST AN €5 e >
MULTIBALL PYROMETER | TGHT COM XTIMES |
15T LEFTINLANE > : _ CENTERSCO0P
SPELL AP TURN IT UP! wis | rnmgusﬁms [ \ . : L LR
MULTIBALL e DURING SONGS 2 SAELUES Db

SHOOT TRAVEL SHOTS ) A[,Pll.[ M“]]Es

! DISCOVER
I BAND MENBER

VISITX GIIES ! POWER-UPS : ; - ) /

- KWe 2 e

AROUND THE WORLD X
ON THE ROAD 3 e W g £ Ly
= otz %, ..  PIKSPINNERS @
! ] > ) - ANDRECORD :

VISITED ALL CITIES
CENTER SCOOP CENTER SCOOP CENTER SCOOP CENTER SCOOP CENTER SCOOP CENTER SCOOP

: \
I e T T s s

CENTER SCOOP

FREE PLAY

NO SYMPATHY FOR THE DEVIL

GUNS N ROSES 11




—
==
==
=
—
=
=
—
=
—
==
—
—
==
e
==

12

GUNS N ROSES



SEL

Press ENTER to select/view this item

GnR menu system’s main menu screen.

MENU S5YSTEM BAGIGS

The GnR menu system allows the user or operator of the game to test the performance of its com-
ponents and assemblies, personalize its rules and track, monitor or manage its play and/or earnings.
Four pushbuttons are used to navigate the menu system, make adjustments, enter data, check
components, trigger tests, etc. The buttons are located on the inside of the coin door, mounted to a
bracket nearest its outside edge (circled).

The buttons are labeled: black is Enter, red next to it is Up/+ , next red is Down/- and green is Back/
Escape. Each time you press a button, you will hear an audio response through the game’s speakers.
Use Enter to enter a sub-menu, select a menu item to change or execute a command. Use Up/+ or
Down/- to maneuver through menu choices or increase/decrease data values for a selected menu
item. Use Back/Escape to exit a sub-menu or escape from a selected menu item without saving
changes. Each sub-menu screen contains specific instructions for button use and/or visual cues
superimposed over the button illustrations in the lower left corner of the LCD screen.

To enter the menu system at any time (after system boot-up), open the coin door and momentarily
press Enter. The main menu screen will instantly appear on the game’s LCD monitor. The current
date and time will be displayed in the lower right hand corner of the screen, along with the version
of software the game is running. All of the RGB LEDs and Gl/flasher LEDs in the game will light up in
white to improve visibility above and below the playfield.

Note: When the coin door is opened, the game’s safety interlock switch disables the 70-volt power
running to the playfield. In order to activate 70-volt devices in any of the diagnostics tests, you must
either close the coin door or pull the safety interlock switch’s actuator out (it will “click” and lock in
place). When you close the coin door, the interlock switch actuator will be pushed back into its nor-
mal (unlocked) position. CAUTION: Most of the high power coils will be enabled, so slingshots, pop
bumpers, VUKs and flippers (if activated by the flipper buttons) will kick a ball around as it rolls down
the playfield - or fire when trigger switches are closed by any means. So please be careful with your
fingers and tools on the playfield surface! If you lift the playfield for any reason, please be careful
around high power coil lugs, as they present a shock hazard!

GUNS N ROSES 13



Ol R
PRESETS

SEL

USE THESE TO SET UP THE GAME FOR CASUAL STREET PLAYERS

Press ENTER to select/view this item

Operator Presets screen.

From the main menu screen, you can access the game's Test Report. From this screen, you can also
readily jump into the Difficulty Presets, Customization & Operator Presets sub-menus to quickly
customize your game. Full Menu gives you access to device/component tests, game settings, audits,
utilities, presets, reports and resets. Simply move up/down in the list of menu icons, using Up/+ and
Down/-, then press Enter to select the sub-menu you’d like to explore. To exit the menu system and
return to game play, press Back/Escape from the Main Menu screen. Specific details for each Full
Menu item are included later in this section.

The Difficulty Presets sub-menu provides a quick shortcut to the Difficulty Presets branch of the
Install Presets menu item. This sub-menu allows you to quickly change the rules/settings for your
game, making it easier or more challenging to play. See page B-58 for additional information.

The Customization sub-menu provides a quick shortcut to the Customization branch of the Utilities
menu item. This sub-menu allows you to add, edit or remove custom messages and/or graphics that
display on the 27" LCD monitor, during the game's attract mode. See page 54 for additional informa-
tion.

When you enter the Operator Presets sub-menu, the LCD monitor will display the screen shown.
This sub-menu allows you to quickly change a group of predefined settings, designed to make your
GnR game more approachable to new players. In short, the changing this group of settings will make
the special features in the game more accessible to casual, street pinball

players. Paid Play settings are intended for GnR games being operated in a pay-per-play setup, on
location. Free Play settings are intended for GnR games in the home (or operated in a pay-for-entry
location).

Each Operator Presets sub-menu page shows a table of the settings affected by the selection, so
you can quickly and easily compare the preset value, the current value and the default value.

GUNS N ROSES 14



Tests

Matrix
Switches
Dedicated
Switch Switches Ordered
Tests Single LED Test
Switch Grouped
Coils Switch LED Test
History
Reverse Order
LED LED Test
Tests All LED
Test
Display Ball Gl Only
Trough Test
_ LED And
Sound Spotlight Flash Test
- Sensors
Device
Tests Record
Test
Camera

Tests menu tree.

TESTS

The Tests menu allows the user to test all major components and assemblies in the game for proper
operation.

Switch Tests - test all matrixed or dedicated switches in the game. A screen will be displayed for
the selected group (Matrixed Switches or Dedicated Switches) showing the status of every switch
within the group. As you manually open or close switches, the status for each is updated on the
screen and you hear an audio response through the game’s speakers. In Single Switch test, you can
scroll through the entire list of switches and repeatedly open or close any single switch. The Switch
History screen displays the 24 most recent inactive-to-active switch transitions.

Coils - test virtually any coil, magnet, motor or light in the game. A screen will be displayed, listing
all of the coils, magnets, motors and lights in the game that can be energized. You can auto-cycle
through the list one at a time, or repeatedly/manually trigger a single device.

LED Tests - test the RGB LEDs in the game (feature and Gl lighting). Ordered LED Test - you can step
through the list of RGB LEDs, one at a time, in hardware order, and test the color-producing capabil-
ity of each. Grouped LED Test - you can step through the list of RGB LEDs, one at a time, in grouped
order, and test the color-producing capability of each. Rev Order LED Test - basically the same as
the Ordered LED Test, except the LEDs are listed in reverse hardware order. All LED Test - all LEDs
(RGB and Gl) will light at once, allowing you to test the color-producing capability of the entire chain
at one time. GI Only Test - allows you to test the color-producing capability of LEDs used for Gl
purposes. LED And Flash Test - allows you to test the functionality of all CPU-controlled lighting in
the game at one time.

Display - test the basic colors and alignment of images on the game’s LCD monitor. You can step
through several fundamental colors on the screen and superimpose a grid on it to check for proper
centering and alignment of displayed images.

Sound - test the game’s sound system for proper balance and operation with sound effects, voices,
music and a wide variety of tones and sweeps.

Device Tests - test all of the major game devices/assemblies (Ball Trough, Spotlight, Sensors,

Record Test, Camera) for proper operation. A specific screen will be displayed for each device,
allowing the user to repeatedly exercise it and ensure that it is functioning correctly.

GUNS N ROSES 15



MATRIXED
SWITCHES

MATRIXED SWITCHES

MATRIXED o
SWITCHES

Press START to toggle playfield display.

Matrixed Switch Test screen.

MATRIXED SWITCH TEST

When you enter the Matrixed Switch Test, the LCD monitor will display the screen shown. A win-
dow highlighting locations/states of switches on the game’s playfield can be toggled on and off by
pressing the Start button on the front of the cabinet. The playfield window can be moved to the
center or right side of the screen by using the Up/+ or Down/- buttons. Each square in the playfield
window corresponds to a matrixed switch. The color of the square (in both the playfield window
and the matrix itself) represents the current state of that switch.

Active switches, regardless of their type, are displayed in bright green squares. Inactive opto
switches are displayed in light tan (if normally unblocked) or dark tan (if normally blocked) squares;
all other inactive switches are displayed in bright blue (if normally open) or navy blue (if normally
closed) squares. Bad switches (switches that have been inactive for approximately 60 balls played)
are displayed in red squares. Unused positions in the matrix are represented by gray squares; any
unused position that is registering active (an error) is represented by a brown square.

The driver (column) and return (row) numbers for each switch, along with corresponding wire
colors and 1/0 Board connector/pin numbers, are shown at the top and left side of the screen,
respectively.

You can simultaneously test as many switches as you like, or repeatedly test a single switch, ob-
serving the results in the matrix and/or the playfield window. The game also provides an audible
response each time the state of a switch changes. Note: When adjusting a switch, the best method

for testing it is to roll a pinball over it, through it or into it.

To exit the Matrixed Switch Test at any time, press the Back/Escape button.

GUNS N ROSES 16



DEDICATED SWITGH TEST

SWITCH
TESTS

B main - Guns N' Roses

DEDICATED SWITCHES

DEDICATED
SWITCHES

Ground

not used
D05

not used
D06

not used

not used
D08

Last switch edge: #D13, Enter / Menu Button
J602-2 (YEL) - J602-1 (BLK)

DEDICATED
SWITCHES

Active switch
Bad switch
Ground Inactive switch (
Inactive switch (
Inactive opto (n/
Inactive opto (n/c)
Inactive reflective (n/o)
Inactive reflective (n/c)
Unused position
Unused but closed (error)

Ji
Return 5
Ji 2
g
o Panel
Ji

Ri

Return 8
J603-10 | mot used

LY vio | D24

Dedicated Switch Test screen.

When you enter the Dedicated Switch Test, the LCD monitor will display the screen shown. The
four dedicated switch strings are shown, grouped by their common ground wire. Each square in
each string corresponds to a specific switch; the color of the square represents the

current state of that switch.

Active switches, regardless of their type, are displayed in bright green squares. Inactive opto
switches are displayed in light tan (if normally unblocked) or dark tan (if normally blocked) squares;
all other inactive switches are displayed in bright blue (if normally open) or navy blue (if normally
closed) squares. Bad switches (switches that have been inactive for approximately 60 balls played)
are displayed in red squares. Unused positions in the matrix are represented by gray squares; any
unused position that is registering active (an error) is represented by a brown square.

Wire colors and 1/0 Board connector/pin numbers are shown for each string of switches.
You can simultaneously test as many switches as you like, or repeatedly test a single switch,
observing the results on the screen. The game also provides an audible response each time the

state of a switch changes.

To exit the Dedicated Switch Test at any time, press the Back/Escape button.

GUNS N ROSES 17



SWITCH
TESTS

SINGLE SWITGH TEST

SINGLE
SWITCH

When you enter the Single Switch Test, the LCD monitor will display the screen shown. The entire
list of dedicated and matrixed switches is shown alongside a window highlighting the location/state
of the currently selected switch on the game’s playfield. The switch is displayed as a small, blinking
square; the color of the square represents its current state.

B main - Guns N' Roses

SINGLE SWITCH An active switch, regardless of its type, is displayed as a bright green square. An inactive opto
SINGLE

B o0t Lkt e 08 ISR S o : ) 7 switch is displayed as a light tan (if normally unblocked) or dark tan (if normally blocked) square;

z any other inactive switch is displayed as a bright blue (if normally open) or navy blue (if normally
closed) square. A bad switch (a switch that has been inactive for approximately 60 balls played) is
displayed as a red square. Unused positions in the matrix are not displayed in the playfield window.

All switch driver (column) and return (row) numbers are shown, along with corresponding wire
colors and 1/0O Board connector/pin numbers.

You can scroll through the list of matrixed switches, using the Up/+ and Down/- buttons, and select
any switch to test. You can then repeatedly open or close the selected switch, observing the results
in the playfield window. The game also provides an audible response each time the state of the
switch changes. Note: When adjusting a switch, the best method for testing it is to roll a pinball
over it, through it or into it.

To exit the Single Switch Test at any time, press the Back/Escape button.

Press + /- to highlight desired switch.

Single Switch Test screen.

GUNS N ROSES 18



SWITCH
TESTS B

SWITCH

DWITGH HISTORY TEST

HISTORY

7 main - Guns N' Roses

SWITCH
HISTORY

SWITCH HISTORY

#D13:
#D16:
#D14:
EONER
#D16:
#D14:
EONER
#030:
#031:
#016:
#044:
#073:
#018:
#012:
#010:
#011:
#017:
#025:
#033:
#041:
#049:
#057:
#097:
#098:

Enter / Menu Button
Escape / Service Credit Button
Up / Volume + Button
Enter / Menu Button
Escape / Service Credit Button
Up / Volume + Button
Enter / Menu Button
Left Sling Hi
Left Sling Lo
Right Ramp Made Target
Left Orbit Hi
Center Spinner
Bumper Rubber

ght Bumper

ght Top Lane

ght Ramp Enter
Bumper Target
Left Ramp Left Target
Upper Playfield Rubber
Left Ramp Enter

ght Ramp Left Target
Right Ramp Made Sensor
Shooter Lane 1 (Bottom)
Shooter Lane 2

cik Press ENTER to clear history.

J602-1 Ground [N

J602-2 Return 5

4602-1 Ground  [[EEHTEY J602-10 Return

J602-1 Ground [§{38
J602-1 Ground [N

J602-3 Return 6
J602-2 Return 5

46021 Ground  [[EHTEY J602-10 Return

6021 Ground [T
J602-1 Ground  [§{38
J201-4 Drive 4

J201-4 Drive 4

J602-3 Return 6
J602-2 Return 5
J200-6 Return 6
BLU J200-7 Return 7

BRN J201-2 Drive 2 [IERJINTCY J200-8 Return 8

J201-6 Drive 6 [RAE

BRN J202-2 Drive 10 [UGLE
RED J201-3Drive 3 [UQLd

BRN J201-2Drive 2 [0H)

BRN J201-2 Drive 2 (50
BRN J201-2Drive 2 [[IY
RED J201-3 Drive 3 [0

J201-4 brive 4 [U0H
[N s20150rive 5 [
J2016 Drive 6 [U0M
BLU J201-7 Drive 7  [i)

J201-9orive 8 [U0MD
R J202-5 Drive 13
RN 1202-5 Drive 13

J200-4 Return 4
BLK J200-1 Return 1
BRN J200-2 Return 2
J200-4 Return 4
BRN J200-2 Return 2
RED J200-3 Return 3
J200-1 Return 1
J200-1 Return 1
J200-1 Return 1
J200-1 Return 1
J200-1 Return 1
J200-1 Return 1
J200-1 Return 1
BRN J200-2 Return 2

Switch History Test screen.

When you enter the Switch History Test, the LCD monitor will display the screen shown. A list of
the 24 most recent dedicated and/or matrixed switch inactive-to-active transitions is shown along-
side a window depicting the game’s playfield.

All switch driver (column) and return (row) numbers are shown, along with corresponding wire
colors and 1/0O Board connector/pin numbers.

You can clear the Switch History Test listing by pressing the Enter button.

To exit the Switch History Test screen at any time, press the Back/Escape button.

GUNS N ROSES 19



Cons

COILS

Coil #001: not used

BRN BLK J104-0 GBik PN n0a-1 FTE FTOL

Coils Test screen.

GOILS TEST

When you enter the Coils Test, the LCD monitor will display the screen shown. The

entire list of coils, magnets, motors and lights is shown alongside a window highlighting the
location of the currently selected device on the game’s playfield. The device is displayed as a small,
white, blinking square. Note: Devices in the list that cannot be activated in the Coils Test are high-
lighted in blue text (these devices have their own specific tests).

Coil number, power/trigger wire colors, I/0 Board connectors/pins, drive transistor, in-line fuses
and supply voltage level are provided for each device in the list.

There are three different modes for triggering a device: RUNNING, REPEAT and MANUAL. The
current mode is highlighted in green text at the top of the screen; you change the current mode by
pressing the Enter button. In RUNNING mode, the game automatically cycles through the list,
triggering each device once. In REPEAT mode, you scroll through the list (using the Up/+ and
Down/- buttons) and select a specific device; the game then repeatedly triggers it. In MANUAL
mode, you select a specific device in the list and trigger it yourself using the Start button on the
front of the cabinet.

Note: When the coin door is opened, the game’s safety interlock switch disables the 70-volt pow-
er running to the playfield. In order to activate 70-volt devices in the Coils Test, you must either
close the coin door or pull the safety interlock switch’s actuator out (it will “click” and lock in place).
When you close the coin door, the interlock switch actuator will be pushed back into its normal
(unlocked) position.

To exit the Coils Test at any time, press the Back/Escape button.

GUNS N ROSES 20



W

]

LED TESTS  aaZ

ORDERED
LED TEST

" main - Guns N' Roses

-\f ORDERED LED TEST

ORDERED Selected color: WHITE
LED TEST <

LED #001 Collect Circle - Keyboard Left

b,

Esc) A V seL’ Press ENTER to change color

Ordered LED Test screen.

ORDERED LED TEST

When you enter the Ordered LED Test, the LCD monitor will display the screen shown. The entire
list of RGB LEDs is shown alongside a window highlighting the location of the currently selected LED
on the game’s playfield. The LED is represented in the window by a small, white, blinking circle,
while the actual LED flashes on the playfield.

Initially, the selected LED flashes the color white. You can change the color to red, green, blue and
back to white by repeatedly pressing the Enter button. The current color will be displayed at the
top of the screen. You can scroll through the list of LEDs using the Up/+ and Down/- buttons.

For this test, the RGB LEDs are listed in hardware order (the order that the RGB LED boards are
physically connected to controller boards, under the playfield). In this regard, the GnR RGB LED
string can be considered one long chain. The Ordered LED Test allows you to step through and test

this entire chain, one LED at a time.

To exit the Ordered LED Test at any time, press the Back/Escape button.

GUNS N ROSES

21



ﬁ#‘lﬂ

LED TESTS :-.‘#f-

GROUPED
LED TEST

B main - Guns N' Roses

'\ﬁi GROUPED LED TEST

GROUPED Selected color: WHITE
LED TEST <

LED #114 Action Button

-

ESC) A& v' seL Press ENTER to change color

Grouped LED Test screen.

GROUPED LED TEST

When you enter the Grouped LED Test, the LCD monitor will display the screen shown. The entire
list of RGB LEDs is shown alongside a window highlighting the location of the currently selected light
on the game’s playfield. The light is displayed in the window as a small, white, blinking circle while
the actual LED flashes on the playfield.

Initially, the selected LED flashes the color white. You can change the color to red, green, blue and
back to white by repeatedly pressing the Enter button. The current color will be displayed at the
top of the screen. You can scroll through the list of LEDs using the Up/+ and Down/- buttons.

For this test, the RGB LEDs are listed in logical/grouped order. The GnR RGB LED string is one long
chain. The Grouped LED Test allows you to step through and test the entire string of RGB LEDs, in
groups, in logical order (words spelled in order), as they are

associated on the playfield. The test begins with the LEDs in the lowest portion of the main
playfield and progresses upward.

To exit the Grouped LED Test at any time, press the Back/Escape button.

GUNS N ROSES

22



el

TESTS ,,i..‘f#:_ﬁ,

|
LED TESTS —@a~

.. REVERSE ORDER LED TEST

LED TEST

When you enter the Reverse Order LED Test, the LCD monitor will display the screen shown. The
entire list of RGB LEDs is shown alongside a window highlighting the location of the currently select-
1 i Guns N Foses _ - x ed LED on the game’s playfield. The LED is represented in the window by a small, white, blinking
s  REV ORDER LED TEST : p _ | circle, while the actual LED flashes on the playfield.

RENNRER o Selected color: WHITE

B = Bl CAB 6T Buttin Bt Lo Dbl s s b oA ) (7 Initially, the selected LED flashes the color white. You can change the color to red, green, blue and
‘ : back to white by repeatedly pressing the Enter button. The current color will be displayed at the
top of the screen. You can scroll through the list of LEDs using the Up/+ and Down/- buttons.

For this test, the RGB LEDs are listed in reverse hardware order (the reverse order that the RGB LED
boards are physically connected to controller boards, under the playfield). The Reverse Order LED

Test allows you to step through and test this entire chain, in reverse order, one LED at a time.

To exit the Reverse Order LED Test at any time, press the Back/Escape button.

-

ESC) A& v' seL Press ENTER to change color

Reverse Order LED Test screen.

GUNS N ROSES 23



ALL LED

B main - Guns N' Roses

V¥ ALL LED TEST

ALL LED
TEST

ESC —-—

seL Press ENTER to change color; Press -/ + to toggle flash/solid.

All LED Test screen.

ALL LED TEST

When you enter the All LED Test, the LCD monitor will display the screen shown. The entire chain
of RGB LEDs is lit at once. Initially, the LEDs are white and not flashing. You can change the color

to red, green, blue and back to white by repeatedly pressing the Enter button. The current color
will be displayed at the top of the screen. Press either the Up/+ or Down/- button to toggle the LED
string between flashing and constant-on.

To exit the All LED Test at any time, press the Back/Escape button.

GUNS N ROSES 24



3 ¥
GI ONLY TEST

TEST When you enter the Gl Only Test, the LCD monitor will display the screen shown. All LEDs used for
general illumination are lit at once. Initially, the LEDs are white and not flashing. You can change
the Gl color to red, green, blue and back to white by repeatedly pressing the Enter

button. The current color will be displayed at the top of the screen. Press either the Up/+ or
Down/- button to toggle the GI LEDs between flashing and constant-on.

" main - Guns N’ Roses

gf*} Gl ONLY TEST To exit the Gl Only Test at any time, press the Back/Escape button.

GI ONLY
TEST

ESC) (= + seL Press ENTER to change color; Press -/ + to toggle flash/solid.

Gl Only Test screen.

GUNS N ROSES 25



LED AND
FLASH TEST

B main - Guns N' Roses

KF LED AND FLASH TEST

LED AND
FLASH TEST

ESC) (mm + seL Press ENTER to change color; Press -/ + to toggle flash/solid.

LED And Flash Test screen.

LED AND FLASH TEST

When you enter the LED And Flash Test, the LCD monitor will display the screen shown. All RGB
LEDs and GI LEDs are lit at once. All CPU-controlled lights (spotlights, Start button light, etc.) are
flashing. Initially, the RGB and Gl LEDs are white and not flashing. You can change the color of
the RGB LEDs to red, green, blue and back to white by repeatedly pressing the Enter button. The
current color will be displayed at the top of the screen. Press either the Up/+ or Down/- button to
toggle the RGB and GI LEDs between flashing and constant-on.

To exit the LED And Flash Test at any time, press the Back/Escape button.

GUNS N ROSES 26



DISPLAY

DISPLAY TEST

When you enter the Display Test, the LCD monitor will display an edge-to-edge red screen, as
shown at left. You can change the full-screen color to green, blue then white by

pressing the Up/+, Down/- or Enter button three times. Pressing one of these buttons again will fill
the screen with a white grid against a black background; once more will change the grid to black
against a white background.

The color screens allow you to test the LCD monitor’s color saturation performance, from edge to
edge. The grids allow you to test image alignment on the monitor.

To exit the Display Test at any time, press the Back/Escape button.

Display Test screens.

GUNS N ROSES 27



SOUND TEST

® main - Guns N' Roses - X

ﬂ SOUND

SOUND

When you enter the Sound Test, the LCD monitor will display the screen shown. The list of pro-
grammed test sounds is displayed.

Sound Effect

There are three different modes for testing sounds: RUNNING, REPEAT and MANUAL. The current

mode is highlighted in green text at the top of the screen; you change the current mode by pressing

the Enter button. In RUNNING mode, the game automatically cycles through the list, playing each

sound once. In REPEAT mode, you scroll through the list (using the Up/+ and Down/- buttons) and

select a specific sound; the game then repeatedly plays it. In MANUAL mode, you select a specific

sound in the list and trigger it yourself using the Start button on the front of the cabinet.

To exit the Sound Test at any time, press the Back/Escape button.

Y Rer  Press ENTER to change mode

Sound Test screen.

GUNS N ROSES 28



DEVICE
TESTS

BALL
TROUGH

BALL TROUGH TEST

TROUGH Active opto
Inactive opto (n/c)
Bad switch

6-Ball Trough jam
Switch #0068

C ] i ] N L]

6-Ball Trough #8 (left) 6-Ball Trough #5 6-Ball Trough #4 6-Ball Trough #3 B-Ball Trough #2 6-Ball Trough #1 (right)
Switch #007 Switch #001 Switch #002 Switch #003 Switch #004 Switch #005

Balls In Trough: 6
Balls In Game: 6

Trough VUK Strength 5> 1=low, 32=max

Press START to fire the trough coil.
NOTE: Door Interlock disables Playfield High Power

s Press ENTER to change adjustment

Ball Trough Test screen.

BALL TROUGH TEST

When you enter the Ball Trough Test, the LCD monitor will display the screen shown. The squares
on the screen represent the current states of the seven opto switch transmitter/receiver pairs in
the ball trough mechanism, under the lower part of the playfield. There are six opto switches in the
bottom of the trough (labeled “#1” to “#6”) and one higher, in the neck of the trough VUK (labeled
“jam”). A green square represents a blocked opto switch, typically caused by a ball in that position
in the trough. A tan square represents an unblocked opto switch (no ball in that position). A red
square represents a bad switch (a switch that has been inactive for approximately 60 balls played).
For reference, corresponding matrixed switch numbers are shown under each square.

You can use the Start button to fire the trough VUK. The rightmost ball in the trough will be kicked
into the shooter lane, then auto-launched up the playfield. Most of the high power coils will be
enabled, so slingshots, pop bumpers, VUKs and flippers (if activated by the flipper buttons) will kick
a ball around as it rolls down the playfield - so be careful with your fingers! You can empty the
trough, one ball at a time (catching each one before it returns to the trough), and test all of the opto
switches in the process.

Note: When the coin door is opened, the game’s safety interlock switch disables the 70-volt power
running to the playfield. To allow coils to function in the Ball Trough Test, you must either close the
coin door or pull the safety interlock switch’s actuator out (it will “click” and lock in place). When
you close the coin door, the interlock switch actuator will be pushed back into its normal (unlocked)
position.

Press Enter to adjust the trough VUK strength setting. Use the Up/+ and Down/- buttons to alter
the highlighted strength value, then press Enter to accept the new value. Press Back/Escape to

escape from the VUK strength adjustment function without saving changes.

To exit the Ball Trough Test at any time, press the Back/Escape button.

GUNS N ROSES 29



DQ.L-E J7 oPOT LIGHT TEST

When you enter the Spot Light Test, the LCD monitor will display the screen shown. The two
squares on the screen represent the two spot lights on the playfield and their curent position

B main - Guns N' Roses - X

SPOTLIGHT TEST Pressing the start button will move the left spot light to the next position indicated by the green
arrow. Pressing the start button again will move the spot light to the next position and so on, once
the left spot light moves to all the positions then the right spotlight will start being tested. Pressing
the start button again will move the right spot light to it’s next position. Once the right spot light
has visited all of it’s positions, the left spot light will be tested agin. This will continue until you exit
the test.

SPOTLIGHTS

To exit the Spot Light Test at any time, press the Back/Escape button.

Press: Start to move spotlights

Spot Light Test screen.

GUNS N ROSES 30



DEVICE
TESTS

SENSORS

B main - Guns N' Roses

=@ SENSOR TEST

SENSORS

O O

O O

.

GUITAR KEYBOARD
Missing/erroneous sensor Unactivated sensor

Press Start to calibrate sensors, ESC to exit

Spot Light Test screen.

SHOOTER

@ Activated sensor

OENSOR TEST
& GALIBRATION

When you enter the Sensors Test, the LCD monitor will display the screen shown. The three groups
represent the Guitar Ball Lock (Left Group), The Keyboard (Middle Group) and the Shooter Skill Shot
(Right Group). These sensors are used in place of traditional switches.

With no ball above the sensor, the sensor will display a blue circle on the test screen, if a ball is
placed above the sensor, the sensor will display a green circle on the test screen. Each sensor can
be tested this way.

Sensor Calibration: If any of the sensors are red or not detecting the balls correctly, a re-calibration
of the sensors will need to be preformed.
Remove all the balls from all the sensor areas.
While still in the Sensor Test, press the START button. The sensor values should change and
even fluctuate.
Re-test the sensors to ensure proper operation if the sensors are still not working
properly, rerun the calibration process again until the sensors are working properly.

To exit the Sensors Test at any time, press the Back/Escape button.

GUNS N ROSES 31



DEVICE
TESTS

CAMERA

@ CAMERA TEST

CAMERA

Camera Motion Tracking Sensitivity 4 lower values are more sensitive (default is 4)

The green box contains the best face match.
The red boxes contain the less accurate face matches.
Wave your hand at the camera to test motion tracking.

MOTION DETECTED

“~ v' s Use door buttons to select or change adjustment.

Camera Test screen.

CAMERA TEST

When you enter the Camera Test, the LCD monitor will display a screen similar to that shown. A
large window on the left side of the screen will show what the game's camera (in the lower, center
area of the backbox) currently "sees". Within that window, a green box will be placed around (what
the software determines to be) the "best match" for a person's face. Red boxes will be placed
around (what the software determines to be) "less accurate" face matches. You can wave your
hand around to test motion detection. When the software recognizes your hand moving, the words
"MOTION DETECTED" will appear, in green, in the center of the screen.

You select a sensitivity control to adjust (motion tracking or face recognition) with the Up/+ and
Down/- buttons. The currently selected control will be highlighted in white text. To make a
change, press the Enter button, then use the Up/+ and Down/- buttons to specify a new numeric
value. You are providing relative sensitivity levels for the software to use to recognize faces and
detect motion. The game software will apply these levels to the camera image data during game
play in order to implement special features. Once you’re finished adjusting a numerical value, press

the Enter button once again to apply the change. To cancel the change, press the Back/Escape
button.

To exit the Camera Test at any time, press the Back/Escape button.

GUNS N ROSES 32



Settings

System
Settings

Pricing

Settings

Settings menu tree.

Game
Settings

Cail
Settings

High Score
ettings

OETTINGD

The Settings menu allows the user to adjust system, pricing, game, coil and high score settings, to
personalize the game (home use) or optimally configure it for a
location or route (commercial use).

System Settings - adjust settings for high-level game controls such as balls per game, ball save time,
tilt warnings, audio levels, match percentage and replay/scoring awards.

Pricing Settings - adjust settings for pricing controls such as free play, accepted currency, coin door
specifics and pricing tiers/levels.

Game Settings - adjust game-specific settings such as Jackpot difficulties, Kickback & Extra Ball
relight frequencies, and Mode, Bonus & Multiball difficulties.

Coil Settings - adjust kicking strength for virtually every coil in the game.

High Score Settings - adjust settings related to high scores such as whether the game will record
them, what the award for high score will be, multiple player initials and default high scores.

GUNS N ROSES 33



1 main - Guns N' Roses

' SYSTEM SETTINGS

GENERAL

TEST REPORT

-

0 A w

System Settings screen.

YO TEM SETTINGS

When you enter the System Settings menu, the LCD monitor will display the screen shown. Settings
that have been changed from factory defaults are displayed in red. Default settings are displayed in
green, but only when a menu item is highlighted. Menu items that cannot be altered are displayed
in gray. You can scroll through menu items with the Up/+ and Down/- buttons; press Enter to select
an item you would like to change. Use the Up/+ and Down/- buttons to alter the highlighted data
value, then press Enter to accept the new value. Press Back/Escape to escape from a selected menu
item without saving changes. NOTE: Pindemption® settings are only available in a GnR game with a
Pindemption®-enabled security dongle.

To exit the System Settings menu at any time, press the Back/Escape button.

GENERAL
Game Play Type: specify how the game will end: after a designated number of balls played or a
designated amount of time.

BALLS: traditional style of pinball play Default: BALLS

TIME: timed pinball play

Ball Play Type: specify how extra balls will be played during a game. With the BALLS IN PLAY option,
extra balls will be played immediately after the ball on which they are earned. With the BALLS IN
RESERVE option, earned extra balls will be held until the end of the game, with players continuing to
take turns playing one ball at a time until all balls in reserve have been played.

BALLS IN PLAY: extra ball played immediately Default: BALLS IN PLAY

BALLS IN RESERVE: extra ball held in reserve, to play later

Balls Per Game: specify the number of balls each player gets to play within a single game.
1-5:1-5 balls Default: 3 balls

Time Per Game: specify how long a game will last.
30-300: 30-300 seconds Default: 45 seconds

GUNS N ROSES 34



Timed Game Over Type: specify how a timed game will end.
INSTANT DEATH: game ends when timer Default: INSTANT DEATH
reaches zero.
SUDDEN DEATH: game ends when timer reaches zero and the ball in play drains.
SUDDEN TIMER: game ends when timer reaches zero and the Sudden Death Timer
reaches zero.

Sudden Death Timer: specify the amount of sudden death time.
2-15:2-15 seconds Default: 10 seconds

Ball Save Time: specify the time, from ball launch, up to which the game will Auto-Launch a
replacement ball into play, if a player’s ball drains for any reason (except a tilt).

OFF: ball save feature disabled Default: 6 seconds

1-20: 1-20 seconds

Money-In Auto-Start: specify whether the game will begin immediately when a credit equivalent, in

money, has been inserted or not.
ON: begin game immediately
OFF: do not begin immediately

Default: OFF

Auto-Launch Timeout: specify whether the game will auto-launch a served ball from the shooter

lane, after a designated period of time or not.
30, 60, 90: 30, 60 & 90 second auto-lanch
OFF: never auto-launch a served ball

Default: OFF

Flipper Auto-Launch: specify whether the flipper buttons can be used to launch a served ball into
play or not.
LEFT FLIPPER: left button launches ball
RIGHT FLIPPER: right button launches ball
EITHER FLIPPER: either button launches ball
BOTH FLIPPERS: both buttons, simultaneously pressed, launch ball
OFF: flipper buttons don't launch ball

Default: OFF

Competition Mode: specify whether the game will give random awards and allow carry-over
features during gameplay or not.
ON: no random awards or carry-over features
OFF: allow random awards and carry-over features

Default: OFF

Chase Ball: specify whether or not a chase ball will be auto-launched into play when ball search
cannot locate the ball in play.
ON: use a chase ball
OFF: do not use a chase ball

Default: ON

Game Restart: specify how the game responds to the start button being pressed in the middle of a
game already in progress.

NEVER: never restart the game Default: NEVER

SLOW: restart the game only if the start button is held in for 1/2 second or more

Player Addable: specify when a new player can join a game already in progress. This setting is only
available when BALLS IN RESERVE is selected as the Ball Play Type above.

ALWAYS: new player can join anytime Default: BEFORE LAST BALL

BEFORE LAST BALL: new player can only join before last ball begins

LED Brightness: specify the intensity level of LEDs under the playfield inserts.
LOW: lowest intensity Default: NORMAL
LOWER: low-medium intensity
NORMAL: medium intensity
HIGH: highest intensity

Match Percentage: specify the desired percentage of games, on average, that will be awarded a
match at the end.
OFF: no match feature
1-20: 1-20%

Default: 5%

Special Award: specify the award for scoring a Special during a game.
FREE GAME: a free game Default: FREE GAME
EXTRA BALL: an extra ball
POINTS: a predefined number of points

GUNS N ROSES 35



TEST REPORT
Display Error Dot: specify whether to display an error dot on the LCD screen when the game
detects a potential problem or not.
YES: display an error dot
NO: do not display an error dot

Default: NO

Test Report at Power On: specify whether or not to display a Test Report Message on the LCD
screen, at power on, when the game detects a potential problem.

YES: display a Test Report Message Default: YES

NO: do not display a Test Report Message

STATUS REPORT

Status Report Start Time: specify how long the player has to hold a flipper down before a game

Status Report is displayed.
6-10: 6-10 seconds Default: 6 seconds

Status Report Display Time: specify how long each page of the Status Report is displayed.
6-20: 6-20 seconds Default: 6 seconds

KNOCKER

Knocker Strength: specify the knocker's kick strength.
NORMAL: normal kick strength
LOW: low kick strength

Default: NORMAL

Knocker Control: specify whether to allow the knocker to kick or not.
ON: always use the knocker Default: ON
OFF: disable the knocker
SOMETIMES: occasionally use the knocker

EXTRA BALLS

Game Extra Ball Limit: specify the maximum number of extra balls that can be won in any game.

1-9: 1-9 extra balls
Unlimited: unlimited extra balls
No Extra Balls: no extra balls

Default: Unlimited

Stacked Extra Ball Limit: specify the maximum number of extra balls that can be stacked by a player
at any time during a game.
1-9: 1-9 extra balls
Unlimited: unlimited extra balls
No Extra Balls: no extra balls

Default: Unlimited

TILT

Tilt Warning Type: specify whether tilt warnings accumulate per ball or per game.
PER BALL: accumulate per ball Default: PER GAME
PER GAME: accumulate per game

Tilt Warnings: specify the number of warnings issued before the game tilts.
0-10: 0-10 warnings Default: 2 warnings

SOUND
Master Volume: specify the overall volume level for the game.
0-50: 0-50 level Default: 26 level

Front Panel Headphone Volume: specify the headphone volume level for the game.
0-50: 0-50 level Default: 26 level

Front Panel Volume Control: specify whether the cabinet front controls will change the master
volume level or not.
ON: controls change master volume
OFF: controls do not change master volume
W/FREE PLAY: controls only change master volume in free play

Default: W/FREE PLAY

Volume Effect Intensity: specify the intensity of volume effects (multiplies volume units).
1-5:1-5 Default: 1

Maximum Volume Effect: specify how extra-loud the game can get, in volume units.

1-20: 0-50 level Default: 5 units
OFF: not used

GUNS N ROSES 36



Music Mix: Specify the gain for the music in the game.
0-125:0-125 Default: 75

Speech Mix: Specify the gain for the speech sounds in the game.
0-125:0-125 Default: 75

Fanfare Mix: Specify the gain for the fanfares in the game.
0-125:0-125 Default: 75

FX Mix: Specify the gain for the sound effects (FX) in the game.
0-125:0-125 Default: 75

Attract Mode Sounds: Specify whether the game will play sounds during attract mode or not.
ON: Play sounds Default: ON
OFF: Do not play sounds

Attract Mode Music: specify whether the game will play music during attract mode or not.
ON: Play music Default: OFF
OFF: Do not play music

Attract Mode Jukebox (Only available in Free Play Mode)
OFF: Jukebox Disabled Default: OFF
JUKEBOX MANUAL: Jukebox starts when the “Action Button” is pressed
JUKEBOX AUTO: Jukebox starts automatically whem in attract mode

Jukebox Mode
ORDERED: Songs play in order, by album
SHUFFLE: Songs play in a random order

Default: Ordered

Jukebox Features: Sets what game features are enabled for Jukebox
MUSIC ONLY: Songs played in order, by album
MUSIC + VIDEO: Plays the music and shows the song video on the main screen
MUSIC+VIDEO+LIGHTS: Plays the music, video and the lamp show for the song

Attract Mode Motion Sounds: Specify whether the game will play attract mode sounds when
motion is detected by the camera or not.

ON: play attract mode sounds Default: ON

OFF: do not play attract mode sounds

REPLAY AWARDS
Replay: Specify whether the game will use the automatic replay award system or not.
AUTO: use automatic replay award system Default: OFF

OFF: no replay awards

Replay Percent: specify the desired replay percentage (Replay: AUTO only).
1-30: 1-30% Default: 10%

Replay Levels: specify the number of scoring levels for replay awards (Replay: AUTO only). These
Replay Scores will be set by the game. If configured, Replay Scores 2, 3 & 4 will be set at 2X, 3X &
4X the first Replay Score.

1-4: 1-4 levels Default: 1 level

Replay Award: specify the award for achieving any replay level (Replay: AUTO only).
FREE GAME: a free game Default: FREE GAME
EXTRA BALL: an extra ball
LIGHT SPECIAL: light the Special shot on the playfield
AUDIT: no award, just record in Audits

Replay Boost: specify whether to temporarily boost replay levels (when achieved) or not (Replay:
AUTO only).

ON: use replay boost Default: ON

OFF: no replay boost

Replay Score: displays the current replay score, which is adjusted automatically by the game.

SCORE AWARDS
Score Award Levels: specify the number of score award levels. With the score award system, you
can configure up to four fixed score Levels, along with specific awards for reaching each of those
levels. You can also define and employ Score Award Boosts, if desired.

0-4: 0-4 levels Default: O levels

Score Level 1: specify 1st score award level (Score Award Levels: 1-4 only).
100000-1000000: 100,000-1,00,000 points Default: 500,000 points

Score Level 2: specify 2nd score award level (Score Award Levels: 2-4 only).
1000000-2000000: 1,000,000-2,000,000 points Default: 1,500,000 points

Score Level 3: specify 3rd score award level (Score Award Levels: 3-4 only).
2000000-4000000: 2,000,000-4,000,000 points Default: 2,500,000 points

Score Level 4: specify 4th score award level (Score Award Levels: 4 only).
4000000-8000000: 4,000,000-8,000,000 points Default: 5,000,000 points

GUNS N ROSES 37



Score Award 1: specify award for achieving score level 1 (Score Award Levels: 1-4 only).

FREE GAME: a free game Default: EXTRA BALL
EXTRA BALL: an extra ball

LIGHT SPECIAL: light the Special shot on the playfield

AUDIT: no award, just record in Audits

Score Award 2: specify award for achieving score level 2 (Score Award Levels: 2-4 only).

FREE GAME: a free game Default: EXTRA BALL
EXTRA BALL: an extra ball

LIGHT SPECIAL: light the Special shot on the playfield

AUDIT: no award, just record in Audits

Score Award 3: specify award for achieving score level 3 (Score Award Levels: 3-4 only).

FREE GAME: a free game Default: EXTRA BALL
EXTRA BALL: an extra ball

LIGHT SPECIAL: light the Special shot on the playfield

AUDIT: no award, just record in Audits

Score Award 4: specify award for achieving score level 4 (Score Award Levels: 4 only).
FREE GAME: a free game Default: EXTRA BALL
EXTRA BALL: an extra ball
LIGHT SPECIAL: light the Special shot on the playfield
AUDIT: no award, just record in Audits

Score Award Boost: specify whether to temporarily boost score levels (when achieved)
or not (Score Award Levels: 1-4 only).

OFF: no score level boost Default: OFF

10000-500000: 10,000-500,000 point boost

MONITOR
Width Scale: the width extent of the game’s LCD screen, in pixels (1000 is the maximum).

Height Scale: the height extent of the game’s LCD screen, in pixels (1000 is the maximum).
X Offset: the left offset for the game’s LCD screen, in pixels.
Y Offset: the top offset for the game’s LCD screen, in pixels.

Player Menu
Menu Enabled: Enable or disable the player menu

Bluetooth Enable: Enable or disable the bluetooth menu
Camera Enable: Enable or disable the camera

Competition Enable: Enable or disable the competion menu

GUNS N ROSES

38



PRIGING SETTINGS

F k| When you enter the Pricing Settings menu, the LCD monitor will display the screen shown. Settings
that have been changed from factory defaults are displayed in red. Default settings are displayed in
green, but only when a menu item is highlighted. Menu items that cannot be

altered are displayed in gray. You can scroll through menu items with the Up/+ and Down/-
buttons; press Enter to select an item you would like to change. Use the Up/+ and Down/- buttons
to alter the highlighted data value, then press Enter to accept the new value. Press Back/Escape to
escape from a selected menu item without saving changes.

To exit the Pricing Settings menu at any time, press the Back/Escape button.

GENERAL
Free Play: specify whether the game will play for free or not.
G - = YES: play for free Default: YES
! PRICING SETTINGS NO: require currency for play
- GENERAL Currency: specify currency for the game to accept. Default values and currency labels under COIN

Free Play

DOOR and PRICING SCHEME headings change with different types of currency. Values and labels
shown below are for Dollars currency.

COMDIOR Dollars (S): Dollars Default: Dollars
Euros (€): Euros

Pounds (£): Pounds

Yen (¥): Yen

Krone (kr): Krone

Krona (kr): Krona

Coins: coins

Tokens: tokens

Swipes: card swipes through a reader

Bills: bills through a bill acceptor

Frankens (Fr): Frankens

PRICING SCHEME

Money Limit: specify the maximum amount of money the game can accept at any time.
50.00: Unlimited dollar amount Default: $0.00

. . $0.01-5100,000.00: $0.01-$100,000.00

Pricing Settings screen.

Credit Limit: specify the maximum number of credits the game can hold at any time.
0: Unlimited credits Default: 0
1-100: 1-100 credits

GUNS N ROSES 39



COIN DOOR
Coin Switch 1 Pulse Amount: specify the amount of currency represented by one pulse from coin
switch 1.

$0.01-5100,000.00: $0.01-$100,000.00 Default: $0.25

Coin Switch 2 Pulse Amount: specify the amount of currency represented by one pulse from coin
switch 2.
$0.01-5100,000.00: $0.01-$100,000.00 Default: $0.25

Coin Switch 3 Pulse Amount: specify the amount of currency represented by one pulse from coin
switch 3.
$0.01-5100,000.00: $0.01-$100,000.00 Default: $0.25

Coin Switch 4 Pulse Amount: specify the amount of currency represented by one pulse from coin
switch 4.
$0.01-5100,000.00: $0.01-$100,000.00 Default: $0.25

Coin Switch 5 Pulse Amount: specify the amount of currency represented by one pulse from coin
switch 5.
$0.01-5100,000.00: $0.01-$100,000.00 Default: $0.25

Card Reader Installed: specify whether a card reader is installed in the game or not.
YES: card reader installed Default: NO
NO: no card reader installed

PRICING SCHEME
Pricing Levels: specify the number of desired pricing levels (or tiers).
1-10: 1-10 levels Default: 1 level

Tier 1 Cost: specify cost for pricing tier 1.
50.01-5100,000.00: $0.01-$100,000.00 Default: $1.00

Tier 1 Credits: specify the number of credits for pricing tier 1.
1-100: 1-100 credits Default: 1 credit

Tier 2 Cost: specify cost for pricing tier 2.
50.01-5100,000.00: $0.01-$100,000.00 Default: $2.00

Tier 2 Credits: specify the number of credits for pricing tier 2.
1-100: 1-100 credits Default: 2 credits

Tier 3 Cost: specify cost for pricing tier 3.
50.01-5100,000.00: $0.01-$100,000.00 Default: $3.00

Tier 3 Credits: specify the number of credits for pricing tier 3.
1-100: 1-100 credits Default: 3 credits

Tier 4 Cost: specify cost for pricing tier 4.
50.01-5100,000.00: $0.01-$100,000.00 Default: $4.00

Tier 4 Credits: specify the number of credits for pricing tier 4.
1-100: 1-100 credits Default: 4 credits

Tier 5 Cost: specify cost for pricing tier 5.
50.01-5100,000.00: $0.01-$100,000.00 Default: $5.00

Tier 5 Credits: specify the number of credits for pricing tier 5.
1-100: 1-100 credits Default: 5 credits

Tier 6 Cost: specify cost for pricing tier 6.
50.01-5100,000.00: $0.01-$100,000.00 Default: $6.00

Tier 6 Credits: specify the number of credits for pricing tier 6.
1-100: 1-100 credits Default: 6 credits

Tier 7 Cost: specify cost for pricing tier 7.
50.01-5100,000.00: $0.01-$100,000.00 Default: $7.00

Tier 7 Credits: specify the number of credits for pricing tier 7.
1-100: 1-100 credits Default: 7 credits

Tier 8 Cost: specify cost for pricing tier 8.
50.01-5100,000.00: $0.01-$100,000.00 Default: $8.00

Tier 8 Credits: specify the number of credits for pricing tier 8.
1-100: 1-100 credits Default: 8 credits

Tier 9 Cost: specify cost for pricing tier 9.
50.01-5100,000.00: $0.01-$100,000.00 Default: $9.00

Tier 9 Credits: specify the number of credits for pricing tier 9.
1-100: 1-100 credits Default: 9 credits

Tier 10 Cost: specify cost for pricing tier 10.
50.01-5100,000.00: $0.01-$100,000.00 Default: $10.00

Tier 10 Credits: specify the number of credits for pricing tier 10.
1-100: 1-100 credits Default: 10 credits

GUNS N ROSES

40



I | GAME SETTINGS

" When you enter the Game Settings menu, the LCD monitor will display the screen shown. Settings
k| that have been changed from factory defaults are displayed in red. Default settings are displayed in

green, but only when a menu item is highlighted. Menu items that cannot be

altered are displayed in gray. You can scroll through menu items with the Up/+ and Down/-

buttons; press Enter to select an item you would like to change. Use the Up/+ and Down/- buttons

to alter the highlighted data value, then press Enter to accept the new value. Press Back/Escape to

escape from a selected menu item without saving changes.

To exit the Game Settings menu at any time, press the Back/Escape button.

B main - Guns N' Roses - X

GENERAL
GAME SETTINGS Allow Adult Content: Allow vulgar language and suggestive images.
. ON or OFF Default: OFF

GENERAL
Allow Adult Content Allow vulgar language and suggestive images

Game Number: shown in attract mode (for LE and CE games only).
EXTRA BALL Floating Scores:Show scores earned floating up the display
ACTION BUTTON

DEUE S Protips: Whether tips are shown during bonus or not

Mode Intro Instructions: Whether mode intro instructions are shown or notS

CONCERT BOOSTERS

EXTRA BALL

PYRO QUALIFYING Difficulty: Default: NO JETS ALLOWED
NO JETS ALLOWER

NO JETS OR LOOPS ALLOWER

LIT ALWAYS

INLANES

ACTION BUTTON
Enable Button Game Start: Action button can start a game

Game Settings screen. Never / Freeplay Default: NEVER

GUNS N ROSES 41



Devices
This Game Settings section allows you to disable any broken or otherwise non-functional
devices. Below are the possible options & default for each setting:

Disable Left Ramp Diverter: Stops game from using diverter.
YES: device disabled Default: NO
NO: device enabled

Diable Right Ramp Diverter: Stops game from using diverter.
YES: device disabled Default: NO
NO: device enabled

Guitar Lockup Pass-Through: Allow balls not being locked to pass through.
ON; Enabled Default: ON
OFF: Disabled

Sensor Autocalibration: Enables autocalibration of ball snsors.
ON; Enabled Default: ON
OFF: DiIsabled

Sensor Test Glitch Cautching Mode: Enables glitch - catching mode sensor tests.
ON; Enabled Default: OFF
OFF: Disabled

Concert Boosters
Concert Booster Difficulty: Specify the Concert Booster Difficulty level
1 (Easy) - 10(Hard) Default: 1

Jackpot Score Level Reset: Do Jackpots earned reset after each song for score level.
YES - NO Default: NO

Pyro Qualifing
Pyro Qualifing Difficulty:
1 (Easy) - 4 (Hard) Default: 1

Inlanes

Inlane Game Start Letter Spot: Determins how many letters are spotted at the start of the game.

0 - 6 Letters: Default: 0

Inlane Progress Memory: Keep inlane progress from ball to ball.
YES - NO Default: YES

Lights Qualifying
Light Qualifing Difficulty: Sets the difficulty for Light Qualifing.
1 (Very Easy) - 6 (Very hard) Default: 2

Coma Qualifing
Stage Difficulty: Sets the difficulty for Stage.
1 (Very Easy) - 6 (Very Hard) Default: 1

Shot Difficulty: Number of hits to light Coma.
2-10 Default: 3

Shot Timmer Difficulty: Amount of time for Coma target to be hit.
3-10 Default: 5

Progress Memory: Keeps Progress of Coma target hits in memory.
YES - NO Default YES

One Combo Completion: Coma qualifing By a left loop to Coma Combo.
YES - NO Default YES

GUNS N ROSES

42



Coma Mode
Timer Difficulty: Is the Coma Mode timed.
YES - NO Default YES

Frenzy Stage Difficulty: Switch hits required to complete Frenzy stage.
Easy - Medium - Hard Default: EASY

Timer Difficulty: Timer allowed for completion of mode.
Easy - Medium - Hard Default: MEDIUM

Max Time Added: Max seconds that can be added to the timer.
5-30 Default: 15

Shot Stage Difficulty: Number of shots lit to start on final stage.
1-5 Default: 2

Time Added After Frenzy: Time added for completing the frenzy stage.
0-20 Default: 5

Jet Hits Difficulty: Number of jets to count as one switch hit.

1-10 Default: 3
Coma Multiball
Super Jackpot Combe Difficulty: Number of seconds between each shot.
1-15 Default: 3

Super Jackpot Difficulty Minimum: Minimum spinner hits to light super jackpot.
10- 50 Default: 10

Super Jackpot Difficulty Maximum: Maximum spinner hits to light super jackpot
50-100 Default: 60

Super Jackpot Difficulty Increase: Increment spinner hits after super jackpoy.
5-15 Default: 5

Skill Shot
Light Make Some Nose Difficulty Minimum: Miniimum advaces to light Make Some Noise.
1-6 Default: 2

Light Make Some Nose Difficulty Maximum: Maximum advances to light Make Some Noise.
6-20 Default: 6

Light Make Some Noise Difficulty Increment: Increment advances after Make Some Noise.
1-3 Default: 1

Throw The Lights Multiball
Combo Timer Difficulty: Sets the timer difficulty of Coma.
1 (Easy) - 3 (Hard) Default: 2

Jackpot Roving Difficulty: Sets the Jackpot difficulty.
1 (Easy) - 5 (Hard) Default: 3

Jackpot Roving Timer Difficulty: Sets theTimer Difficulty:
1 (Easy) - 3 (Hard) Default: 2

Minimum Jackpot Ramps Difficulty: Minimum number of ramps made to light subsequent jackpots.
5-20 Default: 6

Subsequent Jackpot Ramps Made Difficulty: Maximum number of ramps made to light subsequent
jackpots.
20-50 Default: 20

Subsequent Jackpot Ramps Made Difficulty: Number of ramps made to increment for next jackpot.
1-10 Default: 1

GUNS N ROSES 43



Ignite The Flames Multiball
Minimum Jackpot Switch Difficulty: Number of switches to light subsequent lackpots.
1-500 Default: 300

Subsequent Jackpot Switch Difficulty: Number of maximum switches to light subsequent lackpots.
500 - 1500 Default: 600

Subsequent Jackpot Switch Difficulty: Number of switches to increment for next jackpot.
10-100 Default: 25

Turn It Up Multiball
Subsequent Jackpot Minimum Difficulty: Minimum number of hurrups made to light subsequent
jackpots.

3-10 Default: 3

Subsequent Jackpot Maximum Difficulty: Maximum number of hurry ups made to light subsequent
jackpots.
10-50 Default: 12

Subsequent Jackpot Increment Difficulty: Number of hurry ups made to increment for subsequent
jackpots.
1-10 Default: 1

Make Some Noise Multiball
Minimum Shots Made Difficulty: Minimum number of shots made to light subsequent jackpots.

2-10 Default: 2

Subsequent Shot Made Difficulty: Minimum number of shots made to light subsequent jackpots.
5-15 Default: 5

Sebsequent Shots Made Difficulty: Number of shots made to increment for next jackpot.

1-2 Defaullt: 1

JAM

Last Song Number With Easy Advance: JAM target always lit for this number of songs.
0-20 Default: 1

First Song With No Advance Available: JAM never lit starting this song number
0-50 Default: 10

Jam Promotional Timer Length: Seconds JAM spot band member promotion is available.

3-15

GNR Mystery

Spellout Difficulty Level: How hard is it to spell out GUNS N ROSES.

1=1Lit-29 =very very hard

Extra Ball Memory: Extra Ball carries over across balls.

ON / OFF

Allow Tilt Warning Award: Allow the game to add tilt warnings to a player.
Default: ON

ON / OFF

SONG

Song Difficulty:
1=Easy-10=Hard

Song Qualifing Spotting Difficulty
1=Easy-10=Hard

Drums Qualifing Dificulty
1=Easy-5 HArd

Bass Qualifing Difficulty
1=Easy-5=Hard

Keybord Qualifing Difficulty
1=Easy-5=Hard

Keyboard 2 Qualifing Difficulty
1=Easy-5=Hard

Slash Qualifing Difficulty
1=Easy-5=Hard

Guitar Qualifing Difficulty
1=Easy-5=Hard

AXL Qualifing Difficulty
1= Very Easy - 8 = Extreamly Hard

Rose Rule Difficulty
1= Very Easy - 8 = Extreamly Hard

Default: 6

Default: 5

Default: ON

Default: 3
Default; 5
Default: 3
Default: 3
Default: 2
Defauly: 2
Default: 3
Default: 3
Default: 2

Default: 3

GUNS N ROSES

44



SONG CONTINUED

Rock Meter Encore Threshold
10000 - 1100000

Rock Meter Booed Threshold
10000 - 250000 Default: 50000

Rock Meter Flipper Penalty Start: How much meter goes down while holding flippers

Default: 1000000

0-500 Default: 350
Rock Meter Flipper Penalty Increase: Increase of penalty each song played
0-100 Default: 25
Boo Time
50- 1000 Default: 500
Time Needed To Qualify Album: Seconds
30- 360 Default: 180
Continue Add Ball: Enable / Disable Add - A - Ball on song continue
ON / OFF Default: ON
Super Jackpot Add Ball: Enable / Disable Add - A - Ball on Song Super Jackpot
ON / OFF Default: ON
Skip Song Intro: Hit both flippers to end song introductons.
YES /NO Default: NO
Change Song: Allow the player to change the song before starting.
ON / OFF Default: ON
Time Allowed to Choose A Song: Seconds.
15-180 Default: 60
Change Song Left Flipper
Move Back / Next Album Default: NEXT ALBUM
Collect Balls: Setting when balls are collected at end of song.
OFF / ALWAYS / MULTIBALL Default: MULTIBALL
Applause Time: Seconds.
0-45 Default: 15
Band Frenzy Timer Difficulty: Number of seconds for band frenzy to run.
10- 40 Defaukt: 20
Extra Ball Memory: Extra Ball lit carries over across balls.
ON / OFF Default: ON
Song Is Lit Reminder: Does song is lit graphic shows at ball start.
ON / OFF Default: ON

Song Multiball
Lit Locks At Game Start: # of Lit Locks are Awarded at Game Start.

0-6 Default: 0
Base Song Ball Save Time: Ball Save Time

0-25 Default: 5
Song Ball Save Boost Seconds: Ball Save Boost Time.

0-5 Default: 1
Member Max Song Ball Save Time: Ball Save Time Member.

10- 30 Default: 15
Maximum Song Ball Save Time: Ball Save Time Max.

10-90 Default: 60
Superlock Timeout: How Long the Super Locks Last. (Zero for Disable)

0-25 Default: 15

Bottom Lane Bonus
Bottom Lane Bonus Difficulty: Light Song Collect Bonus Extra Ball.

1 = Trivial - 6 = Very Hard Default: 3
Song Modes
Better Mode Difficulty:

1-8 Default: 1
Civil War Mode Difficulty:

1-8 Default: 1
Civil War Background Shaker: Background Shaker On or Off During Mode.

ON - OFF Default: ON
Don’t Cry Mode Difficulty:

1-8 Default: 1
Double Talkin” Jive Mode Difficulty:

1-8 Default: 1
Its So Easy Mode Difficulty:

1-8 Default: 1
Live And Let Die Mode Difficulty:

1-8 Default: 1
My Michelle Mode Difficulty:

1-8 Default: 1
My Macheele Lamp Intensity:

1-3 Default: 2
Nighttrain Mode Difficulty:

1-8 Default: 1

GUNS N ROSES

A



Song Modes Continued

Paradise City Mode Difficulty:
1-8

Paradise City Jet Difficulty Min
1-5

Paradise City Jet Difficulty Increment:
0-5

Paradise City Jet Difficulty Max:
5-10

You could Be Mine Mode Difficulty:
1-8

This | Love Mode Difficulty:
1-8

This | Love Lamp Difficulty:
1-3

Nighttrain Mode Difficulty:
1-8

Coma Mode Difficulty:
1-8

Estranged Mode Difficulty:
1-8

November Rain Mode Difficulty:
1-8

Rocket Queen Mode Difficulty:
1-8

Welcome To The Jungle Mode Difficulty:

1-8

Mr. Brownstone Mode Difficulty:
1-8

Sweet Child O’ Mine Mode Difficulty:
1-8

Chinese Democracy Difficulty:
1-8

Patience Mode Difficulty:
1-8

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Patches
Extra Ball: Number of GNR Lane Completions Until Extra Ball is Available.
0-10 Default: 0
Extra Ball Memory: Extra Ball Carries Over Across Balls.
ON - OFF Default: ON
Special: Number of GNR Lans Completions Until Special is Available.
1-10 Default: 3
Firecracher: Number of Seconds Added to Ignite the Flames Timer.
5-30 Default: 15
Horn Hands: Number of Failed Plunges Added to Allowable Amount.
1-3 Default: 1
Spotlight: Number of Seconds Added to Throw the Lights Combo Timer.
1-3 Default: 2
Speaker: Number of Seconds Added to Turn It Up Hurry Up Timer.
1-3 Default: 2
IV Bag: Number of Seconds Added to Coma Timer.
5-30 Default: 15
Concert Poster: Number of Seconds Added to On the Road Modes.
5-30 Default: 30
Crash Cart: Number of Seconds Added to Coma MB Ball Saver.
5-15 Default: 10
IV Bag & Crash Cart: Percent Score Increase of Coma MB.
5-100 Default: 75
Bra: Percent Score Increase of Skill Shot.
5-100 Default: 50
Bandana: Number of Seconds Added to JAM Hury Up Timer.
2-10 Default: 5
Marshall: Percent of Shots Removed From Slash Solo to Light Stage Completion.
5-75 Default: 25
Patience: Number of GNR Lane Completions Until Patience is Available.
0-10 Default: 0
Sunglasses: Number of Tour Cities to Spot.
1-5 Default: 5
Album Sales
Album Sales Memory: Do Album Sales Reset at Ball Start.
YES - NO Default: NO

GUNS N ROSES

i



Slash Solo Qualifing
Minimum Spins Difficulty: Miinimum Number of Spins to Light Slash Solo.

100 - 2500 Default: 2000
Maximum Spins Difficulty: Maximum Number of Spins to Light Slash Solo.
2500 - 5000 Default: 2500
Subsuquent Spins Needed Difficulty: Number of Spins to Increment for Next Slash Solo.

100 - 500 Default: 100
Thirst For Carnage
Difficulty:

1=Easy-9=Hard Default: 5
Mode Time: Time Limit for Mode.

1=Easy-9=Hard Default: 5
Desert Demolition:
Difficulty:

1=Easy-9=Hard Default: 5
Mode Time: Time Limit for Mode.

30-120 Default: 60
Tear Down The Wall
Aim First: Does the Mode Require Aim First Before a Sot is Lit.

YES - NO Default: NO
Max Multiplier Per Shot: Max X Pe rShot Prior to Clearin g Poster First Time.

6-200 Default: 100
Ammo Allowed: Total Ammo Allowed Before Mode Ends.

6-24 Default: 10
Shot Multiplier: Multiplier Increase by X for Each Shot.

1-5 Default: 3

Shall We Play A Game
Timer Difficulty: Max Time Allowed for Mode.

15-60 Default: 60
Shot Difficulty: Number of Shots Required to Win Mode.
5-15 Default: 10

Slash Solo
Stage 1 Difficulty: Number of Slash Spinner Switches Needed.

25-200 Default: 75

Stage 2 Difficulty: Number of Pick Spinner Spins Needed
25-200 Default: 75

Tour Multiball

Super Jackpot Minimum Difficulty: Minimum Number of Jackpots Made to Light Super Jackpots.
3-6 Default: 3

Super Jackpot Increment Difficult: Number of Jackpots to Increment for Subsequent Super Jackpots.
1-10 Default: 1

Super Jackpot Maximum Difficulty: Maximum Number of Jackpots Made to Light Super Jackpots.
6-12 Default: 9

Super Jackpot Roving Time Difficulty:
1=Easy-3=Hard Default: 2

Add-A-Ball Earned Maximumm: Max Number of Add-A-Balls Allowed to be Earned.
1-4 Default: 4

Camera

Disable Camera:
YES - NO Default: NO

Disable High Score Photos: Turn Off Photos Taken for High Scores.
YES - NO Default NO

Show Attract Mode Camera Message: Show Camera Message is Attract Mode.
YES - NO Default: YES

Camera

Disable High Score Photo Decorations: Turn Off Adding Decorations to Photos Taken for High Score.
YES - NO Default: NO

GUNS N ROSES 47



- COILS

COILS
Coil #001: not used BRN BLK J104-9 0308 70V J104-1 F701 F704

-

A v Rep Press ENTER to change mode; Press START to test coil

Coil Settings screen.

GOIL SETTINGS

When you enter the Coil Settings menu, the LCD monitor will display the screen shown. Settings
that have been changed from factory defaults are displayed in red. Default settings are displayed in
green, but only when a menu item is highlighted. Menu items that cannot be

altered are displayed in gray. You can scroll through menu items with the Up/+ and Down/-
buttons; press Enter to select an item you would like to change. Use the Up/+ and Down/- buttons
to alter the highlighted data value, then press Enter to accept the new value. Press Back/Escape to
escape from a selected menu item without saving changes.

From the Coil Settings menu, virtually every single coil strength in the game is adjustable. This
feature allows the owner/operator to fine tune game play and operation for specific uses.

CAUTION: Be careful when adjusting the values in this menu; making certain coils too strong can
result in breakage or excessive wear on certain parts of the game.

To exit the Coil Settings menu at any time, press the Back/Escape button.

GUNS N ROSES 48



TROUGH
Trough VUK Strength: specify the firing strength for the trough VUK coil.
1-32: 1-32 firing strength Default: 15

Auto-Launch Strength: specify the firing strength for the ball Auto-Launch coil.
1-32: 1-32 firing strength Default: 10

Trough: Restrict Kickout on Error: specify whether or not to restrict ball kickout and game start

functions when a trough error is encountered.

YES - NO Default: YES
GENERAL
Kickouts: Restrict Kickout on Error YES / NO Default: YES
Maximum Shaker Strength: Adjust to Extreme at Your Own Risk.
OFF - EXTREME Default: MEDIUM
FLIPPERS
Left Flipper Strength: Specify the firing strength for the left flipper power coil.
1-32 Default: 22

Right Flipper Strength: Specify the firing strength for the right flipper power coil.
1-32 Default: 25

Upper Right Flipper Strength: Specify the firing strength for the upper right flipper
power coil.

1-32 Default: 18

Upper PF Flipper Strength: Specify the firing strength for the upper left flipper

power coil.

1-32 Default: 10
BUMPERS
Left Bumper Strength: Specify the firing time.

20- 36 Default: 24

Right Bumper Strength: Specify the firing time.
20- 36 Default: 24

Top Bumper Strength: Specify the firing time.
20- 36 Default: 24

SLINGSHOTS
Left Slingshot Strength: Specify the firing time.
14-64 Default: 32

Right Slingshot Strength: Specify the firing time.
14-64 Default: 32

VERTICLE UP KICKERS
Upper Playfield VUK Strength: Specify the firing time.
Factory Set Default: 10

Center Scoop VUK Strength: Specify the firing time.
1-32 Default: 13

Left Guitar Release Fire Time: Specify the firing time.
Factory Set Default: 3

Right Guitar Release Fire Time: Specify the firing time.
Factory Set Default: 3

Coma Release Fire Time:

1-5 Default: 3
DIVERTERS
Left Ramp Diverter Fire Strength: Specify the firing strength.

50- 1000 Default: 250

Right Ramp Diverter Fire Strength: Specify the firing strength.
50- 1000 Default: 250

Right Ramp Diverter Hold Strength: Specify the hold strength.
1-32 Default: 6

GUNS N ROSES

41



B main - Guns N' Roses

HIGH SCORE SETTINGS

GAME FEATURES HIGH SCORES
Tear Down The Wall Champ Credits # of credits for Tear Down The Wall Champ

High Score Settings screen.

HIGH SGORE SETTINGS

When you enter the High Score Settings menu, the LCD monitor will display the screen shown. Set-

tings that have been changed from factory defaults are displayed in red. Default

settings are displayed in green, but only when a menu item is highlighted. Menu items that cannot

be altered are displayed in gray. You can scroll through menu items with the Up/+ and Down/-

buttons; press Enter to select an item you would like to change. Use the Up/+ and Down/- buttons
to alter the highlighted data value, then press Enter to accept the new value. Press Back/Escape to

escape from a selected menu item without saving changes.

To exit the High Score Settings menu at any time, press the Back/Escape button.
GAME FEATURE HIGH SCORES

Tear Down The Wall Champ Credits: Specify the number of credits awarded.

0-10: 0-10 credits Default: O credits

Desert Demolition Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: 0 credits

Thirst For Carnage Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: 0 credits

Shall We Play A Game Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: 0 credits

Ignite The Flames Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: 0 credits

Throw The Lights Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: 0 credits

GUNS N ROSES

50



Turn It Up Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Make Some Noise Champ Credits: Specify the number of credits awarded.

0-10: 0-10 credits Default: O credits

Coma Multiball Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Better Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Chinese Democracy Champ Credits: Specify the number of credits awarded.

0-10: 0-10 credits Default: O credits

Civil War Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Coma Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Don’t Cry Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Double Talkin Jive Champ Credits: Specify the number of credits awarded.

0-10: 0-10 credits Default: O credits

Estranged Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

It’s So Easy Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Live And Let Die Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Mr. Brownstone Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

My Michelle Champ Credit: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Nightrain Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

November Rain Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Out Ta Get Me Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

H.S.T.D. 3 Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

H.S.T.D. 4 Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Paradise City Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Patience Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Rocket Queen Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Sweet Child O’ Mine Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

This | Love Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Welcome To The Jungle Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

You Could Be Mine Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

GUNS N ROSES

51



Slash Solo Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

Tour Multiball Champ Credits: Specify the number of credits awarded.
0-10: 0-10 credits Default: O credits

No Sympathy For The Devil Champ Credits: Specify the number of credits awarded.

0-10: 0-10 credits Default: O credits

REGULAR HIGH SCORES

Keep High Scores: ON / OFF. Defaults: ON
High Score Award: AUDIT / FREE GAME Default: FREE GAME
High Score Name Length: 3- 11 Default: 11
H.S.T.D. Rest Every: 200 - OFF Default: OFF
Champion Credits: 0 - 10 Default: 1
H.S.T.D. 1 Credits: 0 - 10 Default:1
H.S.T.D. 2 Credits: 0 - 10 Default:1
H.S.T.D. 3 Credits: 0 - 10 Default:1
H.S.T.D. 4 Credits: 0 - 10 Default:1
H.S.T.D. 5 Credits: 0 - 10 Default:1
H.S.T.D. 6 Credits: 0 - 10 Default:1
H.S.T.D. 7 Credits: 0 - 10 Default:1
H.S.T.D. 8 Credits: 0 - 10 Default:1

Default Grand Champion: 500000 - 1000000
Default H.S.T.D. 1: 400000 - 900000
Default H.S.T.D. 2: 300000 - 800000
Default H.S.T.D. 3: 250000 - 700000
Default H.S.T.D. 4: 200000 - 600000
Default H.S.T.D. 5: 150000 - 500000
Default H.S.T.D. 6: 125000 - 400000
Default H.S.T.D. 7: 100000 - 250000
Default H.S.T.D. 8: 75000 - 200000

DAILY HIGH SCORES
Keep Daily High Scores: ON / OFF

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

Default:

500,000 points
400,000 points
300,000 points
250,000 points
200,000 points
150,000 points
125,000 points
100,000 points

75,000 points

ON

Minimum Daily High Score: Minimum Score to Qualify for the Daily High Scores Table.

10000-100000

Default:

20,000

GUNS N ROSES

52



AUDITS

Audits

Audits menu tree.

AUDITS

The Audits menu allows the user to view, monitor and/or track game usage and earnings over a
specific time period (since audits were last cleared and over the lifetime of the game).

Standard Audits - view game-related totals such as free plays, 1-, 2-, 3- & 4-player games started,
extra balls, replays, matches, etc.

Earnings Audits - view totals for paid credits, free plays, service credits, pricing tier purchases and
coins accepted in each slot.

Game Audits - view totals for various shots made (targets hit or switches closed) and modes started
and/or completed in the game.

GUNS N ROSES 53



UTILITIES

Utilities

— Network
Set WIFI
>et | Network
Clock
|| setwinl
Network Password
settings | | Connect
To WIFI
Customization Download
Update
- Terms And
View Conditions
Manual
Edit
Message
usB Custom
Update Message Clear
Message
Settings
Backugp ] Install
Custom Graphic
Graphic Froce
Burn-in Graphic
Settings
Hardware Backup
Info
Settings
Dump Restore
Logs

Utilities menu tree.

UTILITIES

The Utilities menu allows the user to manage and maintain the game by setting the internal clock,
entering messages/graphics and through commonly-used routines like burn-in and software update.
There are also utility screens to save/restore settings, dump data logs and view this manual and/or
game hardware information.

Set Clock - adjust the system date and time.

Network Settings - Manage Your games Wireless Network Connection and check for software updates.
Customization - customize your game: enter/modify a message for the game to display in attract mode
(Custom Message > Edit Message), clear an existing message (Custom Message > Clear Message),
upload/select an image (Custom Graphic > Install Graphic) for the game to display in attract mode or
erase a previously uploaded graphic with the Custom Graphic > Erase Graphic utility.

View Manual - display/navigate the PDF version of the GnR manual on the game’s LCD screen.

USB Update - update the game’s software via a USB memory stick. Note: The update must be
downloaded from the JJP® support website (https://www.jerseyjackpinball.com/support/), using a

separate computer.

Settings Backup - backup (Settings Backup) and/or restore (Settings Restore) settings, audits, replay
information and custom message for the game.

Burn-In - run a preset routine to exercise all of the critical devices in the game, repeatedly, to test for
reliable, long-term system operation.

Hardware Info - view game hardware characteristics such as game serial number, firmware revision
levels, motherboard type, display Information, available RAM, processor speed & solid state disk size.

Dump Logs - dump diagnostics software logs from the game to allow off-line analysis and troubleshoot-

ing of game issues.
GUNS N ROSES 54



UTILITIES

SET CLOCK

B main - Guns N' Roses

SET CLOCK

SET CLOCK

ESC + p  Use door buttons to select/change values; Press START to set clock.

Set Clock utility screen.

oET GLOGh

When you enter the Set Clock utility, the LCD monitor will display the screen shown. To maneuver
to the portion of the display that requires adjustment, use the Back/Escape (left) and Enter (right)
buttons. Use the Up/+ and Down/- buttons to alter the highlighted value, then press the Start but-
ton to save the time and date, as displayed on the screen.

To exit the Set Clock utility, move the cursor to the position shown, then press the Back/Escape

button. Note: The Start button moves the cursor to this position after
saving the time/date.

GUNS N ROSES 35



NETWORK SETTINGS

UTILITIES

Use the NetWork Settings utility to configure your games wireless internet connection and check
NETWORK for software updates. See page Ill for more information on how to setup your WIFI.

NE RK
SETTINGS

B main - Guns N' Roses - X

M

SETTINGS

UTILITIES

s Press ENTER to select/view this item

NetWork utility screen.

GUNS N ROSES 56



UTILITIES

NETWORK

S
NETWORK

B main - Guns N' Roses

SET WIFI NETWORK

S| FI
NETWORK SET WIFI NETWORK

AVAILABLE NETWORKS

ESC + p  Press-/+ to change; ENTER to choose; START to rescan, ESC to exit

Set WIFI NetWork utility screen.

oET WIFI NETWORK SETTINGD

When you enter Set WIFI Network Settings, the LCD monitor will display the
screen shown. Set WIFI Network is used to scan available WIFI networks.

Press the black Enter button to scan for available networks.
Use the red Up/+ and Down/- buttons to highligh the network you want to

conect to. Select your network with the black Enter button.

Use the green Back/Escape button to Exit.

GUNS N ROSES 57



UTILITIES

SETTINGS

PASSWORD

B main - Guns N' Roses

SET WIFI PASSWORD

S| 1
PASSWORD  ENTER YOUR NETWORK PASSWORD

PRESS FLIPPERS TO CHANGE CHARACTER SET

p  Press ENTER/CANCEL to move cursor; -/ + to change character; START to save.

Set WIFI Password Utility Screen.

oET WIFI PASSWORD SETTINGS

When you enter Set WIFI Password Settings, the LCD monitor will display the screen
shown. Set WIFI Password is used to input the network password.

Use flipper buttons to change the character set.

Use black Enter button and green Back/Escape button to move cursor between
characters.

Use red Up/+ and Down/- buttons to change characters within a character set.
Press “Start Button” to save password once you're finished.

Press the black Enter button to scan for available networks.
Use the red Up/+ and Down/- buttons to highligh the network you want to conect

to. Select your network with the black Enter button.

Use the green Back/Escape button to Exit.

GUNS N ROSES

58



omemes GONNEGT TO WIFI SETTINGS

SETTINGS

When you enter Connect to WIFI Settingss, the LCD monitor will display the screen
shown. Connect to WIFI Settings is used to connect to the network.
TO WIFI g

Use black Enter button to connect to the WIFI Networ.
Connected to Network “xxx” will be shown once connected to the network.

Use the green Back/Escape button to Exit.
CONNECT TO WIFI

Ci u
TOWIFI™  CONNECT TO WIFI NETWORK

Name:
ssid

Password:

* K K

PRESS FLIPPERS TO SHOW PASSWORD

Press ENTER to connect to selected network, ESC to go back

Connect to WIFI utility screen.

GUNS N ROSES 59



UTILITIES

UPDATE

B main - Guns N' Roses

DOWNLOAD UPDATE

DO AD
UPDATE Current version: Guns N' Roses 01.00RC

Esc a V Press +/- to scroll log text, hold down to autorepeat

Download Update utility screen.

DOWNLOAD UPDATE SETTINGS

When you enter Download Update Settings, the LCD monitor will display the screen
shown. Download Update Settings is used to update the game code.

Once entered, the current software version will be displayed along with any
available updates.

Use black Enter button to highlight the available update and follow the onscreen
instructions.

Use the green Back/Escape button to Exit.

GUNS N ROSES 60



UTILITIES

TERMS AND CONDITIONS SCREEN

SETTINGS

READ T&C

When you enter Terms and Conditions, the LCD monitor will display the screen

shown.
READ T&C Use red Up/+ and Down/- buttons to scroll through the different T&C pages. Once
4 all pages are viewed, “Terms Accepted” will be displayed.

Press ENTER to view Operations Manual.
While viewing: use -/ + to change page; press ENTER to zoom.

Use the green Back/Escape button to Exit.

While zoomed: use -/+ to move around page; press ESCAPE to unzoom.

Hit + (next page) while viewing last page to accept these terms

N\ view Press ENTER to view Operations Manual.

Terms and Conditions Utility Screen.

GUNS N ROSES 61



UTILITIES

MESSAGE

MESSAGE

B main - Guns N' Roses

MESSAGE

ESC —-—

EDIT MESSAGE

| 4

Press ENTER/CANCEL to move characters; -/ + to change character; START to save message. " ! : =l

Edit Message utility screen.

EDIT MESHAGE

Use the Custom Message utility to enter a message that will be displayed on the LCD monitor,
periodically, during the game’s attract mode. The message is entered or modified using the Edit

Message utility.

When you enter the Edit Message utility, the LCD monitor will display the screen shown. To move

the cursor around in the message, use the Back/Escape (move left) and Enter (move right) buttons.

Use the Up/+ and Down/- buttons to change the highlighted character, then press the Start button
to save your custom message, as displayed on the screen.

To exit the Edit Message utility, move the cursor to the position shown (The upper left hand cor-
ner), then press the Back/Escape button. Note: The Start button moves the cursor to this position

after saving the message.

GUNS N ROSES

62



UTILITIES

MESSAGE

MESSAGE

B main - Guns N' Roses

MESSAGE

CLEAR MESSAGE

Clear Message utility screen.

CLEAR MESSAGE

Use the Clear Message utility to delete a previously entered custom message.

When you enter the Clear Message utility, the LCD monitor will display the screen shown. To clear
the current custom message, press the Enter button. You will be prompted to hit the Start button

to confirm and complete the operation.

To exit the Clear Message utility at any time, press the Back/Escape button.

GUNS N ROSES 63



UTILITIES

INGTALL GRAPHIG

Use the Custom Graphic utility to install an image that will be displayed on the LCD monitor,
periodically, during the game’s attract mode. The custom image is uploaded or changed using the
Install Graphic utility.

Note: The image must be loaded onto a USB memory stick, using a separate computer. It must be
in PNG or JPG format and under 2MB in size. Create a folder named “pinballimages” in the root

directory of the USB stick, then copy your graphic(s) into the folder. Power up the game, open the
coin door, and use the diagnostics buttons to enter the Install Graphic utility; the LCD monitor will

B main - Guns N' Roses - X

INSTALL GRAPHIC

b Locate the end of the USB extension cable, just inside the open coin door. Fully insert the USB stick
into the connector at the end of the cable (if your USB stick is equipped with an “in-use” light, it will
illuminate). A screen will come up automatically, showing a listing of the available graphics in your
USB stick’s “pinballimages” folder.

display the screen shown on the left.

Graphics must be in "/pinballimages" folder.
Graphics must be PNG or JPG format.

Maximum size = 2MB.

Use the Up/+ and Down/- buttons to select the graphic you wish to install, then press the Enter
button to complete the operation.

To exit the Install Graphic utility at any time, press the Back/Escape button.

Install Graphic utility screens.

GUNS N ROSES 64



UTILITIES

ERASE GRAPHIG

Use the Erase Graphic utility to delete a previously installed custom graphic.

GRAPHIC

GRAPHIC When you enter the Erase Graphic utility, the LCD monitor will display the screen shown. To clear
the current custom graphic, press the Enter button. You will be prompted to hit the Start button to
= x confirm and complete the operation.

B main - Guns N' Roses

ERASE GRAPHIC To exit the Erase Graphic utility at any time, press the Back/Escape button.

GRAPHIC

Erase Graphic utility screen.

GUNS N ROSES 65



UTILITIES

MANUAL

MANUAL

VIEW MANUAL

Press ENTER to view Operations Manual.
While viewing: use -/ + to change page; press ENTER to zoom.

While zoomed: use -/ + to move around page; press ESCAPE to unzoom.

"\ vew Press ENTER to view Operations Manual.

View Manual utility screen.

VIEW MANUAL

When you enter the View Manual utility, the LCD monitor will display the screen shown. To view
the GnR Operations Manual (this document), press the Enter button. While viewing, use the Up/+
and Down/- buttons to move from page to page; use the Enter button to zoom in on the current
page. When zoomed in, use the Up/+ and Down/- buttons to move around the current page; use
the Back/Escape button to cancel the zoom function.

To exit the View Manual utility, press the Back/Escape button while in the viewing mode.

GUNS N ROSES 66



UPDA';E “SB “P“ATE

51 main - Guns N Roses - X Use the USB Update utility to apply a GnR delta software update to your game. Note: The

USB UPDATE update must be downloaded from the JJP® support website (https://www.jerseyjackpinball.com/
support/), using a separate computer. Copy the “gunsnroses_update” folder from your computer
onto an empty USB memory stick (i.e. it should be the only folder on the stick). Power up the game,
open the coin door, and use the diagnostics buttons to enter the USB Update utility; the LCD moni-
tor will display the screen shown.

) Insert USB/Thumb drive containing update data.
UPDATE

Locate the end of the USB extension cable, just inside the open coin door. Fully insert the USB stick
into the connector at the end of the cable (if your USB stick is equipped with an “in-use” light, it will
illuminate).

To attempt the USB delta update, press the Enter button. The game’s playfield will go dark for
approximately 15-30 seconds (depending upon the size of the update); the LCD monitor will
display the bottom, left screen. You can abort the update process by pressing the Back/Escape
button. When the delta update is complete, the LCD monitor will prompt you to remove the USB
stick and restart the game. Power the game down, remove your USB stick from the end of the
USB cable, then power the game back up again. Once the game has rebooted, verify that the delta
Aug 27, 2020 - 02:2 update installed successfully by
e o re-entering the GnR Menu System. The installed software version is displayed in the lower, right
hand corner of most menu system screens.

To exit the USB Update utility, press the Back/Escape button.
— .

PINBALL PINBALL

UPDATE IN PROGRESS UPDATE COMPLETE

Please wait Plecse remave USA stick and RESTART the game

USB Update utility screens.

GUNS N ROSES 67



OETTINGS BACKUP

The Settings Backup & Settings Restore utilities allow you to quickly and easily backup & restore

BACKUP your game’s settings, audits, reports, replay information and custom message. Your settings will be
stored on a USB memory stick.

When you enter the Settings Backup utility, the LCD monitor will display the screen shown in figure
B39. Locate the end of the USB extension cable, just inside the open coin door. Fully insert a USB
stick into the connector at the end of the cable (if your USB stick is equipped with an “in-use” light,
it will illuminate).

SETTINGS BACKUP

Prass ENTER ta hagin backisp

Note: The saved settings file is unique to each game (allowing you to use the same USB stick to
backup settings for several different games, without fear of overwriting anything). The file is also
time- and date-stamped, using the game’s internal clock.

Press the Enter button to perform the backup. If there is an existing settings file for the game on
the USB stick, you will be prompted to hit the Start button to confirm and complete overwriting the
backup.

To exit the Settings Backup utility, press the Back/Escape button.

o Pruxs EMTER Lo ke hackup.

Settings Backup utility screen.

GUNS N ROSES 68



RESTORE

SETTINGS RESTORE

S
RESTORE
Press ENTER to begin restoration.

ok Press ENTER to begin restoration.

Settings Restore utility screen.

OETTINGD RESTORE

The Settings Backup & Settings Restore utilities allow you to quickly and easily backup & restore

your game’s settings, audits, reports, replay information and custom message. Your settings will be
restored from a USB memory stick.

When you enter the Settings Restore utility, the LCD monitor will display the screen shown in figure
B40. Locate the end of the USB extension cable, just inside the open coin door. Fully insert the
USB stick containing your settings file into the connector at the end of the cable (if your USB stick is
equipped with an “in-use” light, it will illuminate).

Note: The saved settings file is unique to each game (so you can use the same USB stick to backup
settings for several different games, without fear of overwriting anything). The file is also time- and

date-stamped, using the game’s internal clock.

If a settings file for the game is found on the USB stick, its date and time will be displayed as shown.
Press the Enter button to perform the settings restore operation.

To exit the Settings Restore utility, press the Back/Escape button.

GUNS N ROSES 69



UTILITIES

BURN-IN

BURN IN

The Burn In utility allows you to repeatedly exercise/test virtually all of the critical devices in the
GnR game. When you enter the utility, the game will cycle through a preset routine to

simultaneously fire coils, activate magnets, run motors, flash colors on the LCD screen, play sounds,
etc. - indefinitely.

To exit the Burn In utility at any time, press the Back/Escape button.

GUNS N ROSES 70



UTILITIES

HARDWARE INFO

HARDWARE INFO Qse the Hard'V\{are Info utility to view your game"s hardware characteristics such a§ serial ngmbgr,
firmware revision levels, motherboard type, available RAM, processor speed & solid state disk size.

Serial 0, country 1 (USA), HW id 0, model 3 (Collectors Edition), num 0, max 1000 . . . .
1/0 Board: JJP-I0-REVO0-XXXXXX When you enter the Hardware Info utility, the LCD monitor will display the screen shown.

Jersey Jack Pinball LED Driver Version 500
Machine: Mobo: MSI model: H81M-P33 (MS-7817) v: 1.0
Bios: American Megatrends v: V1.21B1 date: 12/11/2015 To exit the Hardware Info utility at any time, press the Back/Escape button.
CPU: Dual core Intel Celeron G1840 (-MCP-) cache: 2048 KB
clock speeds: max: 2800 MHz 1: 2794 MHz 2: 2800 MHz
Memory: Array-1 capacity: 32 GB devices: 4 EC: None
Device-1: ChannelA-DIMMO size: 4 GB speed: 1333 MHz type: DDR3
Device-2: ChannelA-DIMM1 size: No Module Installed type: N/A
Device-3: ChannelB-DIMMO size: No Module Installed type: N/A
Device-4: ChannelB-DIMM1 size: No Module Installed type: N/A
Drives: HDD Total Size: 32.0GB (17.8% used) ID-1: /dev/sda model: SanDisk_SD8SBATO size: 32.0GB
HDMI1 connected primary 1920x1080 + 0+ 0 (normal left inverted right x axis y axis) 368mm x 207mm
VGA1 connected 1024x768 + 1920 + 0 (normal left inverted right x axis y axis) Omm x Omm
HDMI-1-1 disconnected
VGA-1-1 connected 1024x768 + 2944 + 0 Omm x Omm

Hardware Info utility screen.

GUNS N ROSES 71



UTILITIES

DUMP LOGS

DUMP LOGS

Insert USB/Thumb drive in order to perform dump.

Insert USB/Thumb drive in order to perform dump.

Dump Logs utility screen.

DUMP LOGS

The Dump Logs utility allows you to dump your game’s diagnostics software logs to a USB stick.
These logs can then be analyzed, off-line, as an aid for troubleshooting difficult game issues.

When you enter the Dump Logs utility, the LCD monitor will display the screen shown. Locate the
end of the USB extension cable, just inside the open coin door. Fully insert a USB stick into the con-
nector at the end of the cable (if your USB stick is equipped with an “in-use” light, it will illuminate).

Press the Enter button to perform the data dump. The game will create a new file folder in the
root folder of the USB stick, then write all of the pertinent log data to it. When the write function
is complete, the game will reboot and enter attract mode. You can then remove the USB stick and
share the game logs data with Tech Support or other game owners, via email or any other form of
messaging.

To exit the Dump Logs utility, press the Back/Escape button.

GUNS N ROSES 72



Install
Presets

Install

Install Presets menu tree.

Ex.Easy
Install
Easy
Difficulty Install
Presets Kedium
Install
Hard
Install
Ex. Hard
Install
Home
Install
Coin-Op
Install
3-Ball
Game Install
Presets S-Ball
Install
Movelty
Install
Sdd-A-Ball
Competition
LIsa
Canada
Australia
Pricing
Presets UK
Euro
lapan
FEC

INGTALL PRESETS

The Install Presets menu allows the user to quickly make quantum, predefined changes to game
play settings (as opposed to changing settings individually, in other sub-menus).

Difficulty Presets - change a predefined group of game/system settings to quickly make the game
easier or more difficult to play. The difficulty level options are listed.

Game Presets - change a predefined group of game/system settings to quickly configure the game
to play in one of the standard modes listed.

Pricing Presets - change a predefined group of pricing settings to quickly configure the game to
accept coinage from one of the countries listed.

GUNS N ROSES 73



REPORTS

Reports

Events

Dump

Play
Events

Ewent

Sward
Events

Charts

Coinage
Events

Error

Bim
s

Reports menu tree.

Game
Events

PORT

The Reports menu allows the user to view logs and graphs of events of interest in the game includ-
ing bad switch alerts, device errors, game power-ups, service credits, game statistics, awards, etc.

Dump Stats - dump game statistics to a USB drive for records or detailed, offline analysis.

Event Logs - view logs for various system events including when the power was cycled on the game,
when the game was started, when the coin door was opened, when service credits were added,
when game awards were earned, etc.

Charts - view charts of statistics such as games played per day, game times, game scores, etc.

Error Log - view the contents of the game’s error log.

GUNS N ROSES

74



RESETS

Clear
Credits

Clear
Audrts

Resets

Resets menu tree.

Clear

Earnings

Reset
High Scores

Factory

Factory
Resat

RESETS

The Resets menu allows the user to quickly clear game
audits/earnings information and high scores from a single menu.

Clear Credits - clear credits from the game.

Clear Audits - reset audits data.

Clear Earnings - reset earnings data.

Reset High Scores - reset high scores to default values (see High Score Settings in Section B.3).

Factory Settings - reset all software-adjustable settings to the values they originally were given at
the factory.

Factory Reset - reset factory settings (as above) plus reset audits and alarm counters.

GUNS N ROSES

75



GAME PARTS INFORMATION

GUNS N ROSES 76



LOWER CABINET BASE ASSEMBLY

GUNS N ROSES 77



Item

OCooNOYULL A WNER

R e el T ol
NoudhwNRERO

Part Number

05-000005-00
16-005000-02
10-000002-00
10-000033-00
10-000033-01
30-000118-24
30-000049-08
30-000049-12
10-000026-00
30-008000-00
30-008001-02
82-009008-08
81-005011-28
92-000010-00
91-000011-00
51-005023-00
18-007012-00

LOWER CABINET BASE ASSEMBLY

Description

Cabinent Base Assembly
Main Transformer
Speaker Grill 8”

Right Side Support Bracket
Left Side Support Bracket
Black Tubing 1-1/2”
Cable Clamp Open 1/2”
Cable Clamp Open 3/4”
Cashbox Lock Bracket
Side Glass Channel

Rear Glass Channel

#8 x 1/2” Phillips SMS

#10-24 x 1-3/4” Carriage Bolt, Black

#10 Flat Washer

#10-24 Nylon Stop Nut
Line Filter Box Assembly
ON/OFF Switch Assembly

Qty Pg. Item

- 18
- 19
- 20
21
- 22
- 23
- 24

NP R R PR R
1

- 26
27
28

=N
L]

- 30
- 31
32
- 33

P P NDNDN
1

LEGS

10-000031-11
10-000031-15
10-000031-07

SE Black River
LE Wild Copper
CE Purple

Part Number

10-000010-01
42-005001-00
51-006004-01
05-003007-00
51-000035-00
13-003008-00
13-003009-00
10-000086-00
11-000028-00
91-03406-00
91-001008-00
80-002008-20
80-002025-08
19-009027-02
19-003052-55
19-009011-00

Description

Line Cord Cover Plate
ROTO - LOCK LATCH

Subwoffer Speaker Assembly

Subwoofer Mounting Panel

Door & Interlock Switch Assembly

Tilt Wire Form Bracket

TIt Hanger Wire

Tilt Hanger Wire Bracket
Plumb Bob

#6-32 Wing Nut

#8-32 Keps Nut

8-32 x 1-1/4” Phillips MS
#1/4 - 20 x 5/8” Phillips MS

Transformer Secondary Cable

Bround Cable 18AWS
Ground Braid

Qty

P RDWRRRRPRREPRRRRR

[E

206”

GUNS N ROSES

78



GNR LOWER CABINET ASSEMBLY

] lf

=i b 51-100131-01
VA ITEM 36
i - i

GUNS N ROSES 79



GNR LOWER CABINET ASSEMBLY

L WO BLOCE SwTC
|||||||||||||||

o —— _ ; L -
@F‘ i L ".-:" []:: En
@ ¢ O | E
oo °° /E) :a: @ i
e o ° aﬁﬁn IE e il ab
—o =R

GUNS N ROSES 80



Item

OCooNOYULL B WNPRE

WWWWWNNNNNNNNNNRRPRPRRPRPRELRRRER
FRWUNRPRPOUOVONNODUBRWNROWOVONOODUDWNERO

Part Number

50-005040-02
82-009008-08
10-000003-01
10-000003-02
25-100008-00
82-000004-10
62-100025-00
15-100020-00
15-100020-01
15-100020-02
30-100066-00
10-000002-01
82-002006-20
51-006000-00
51-006001-01
51-006001-10
51-005027-01
40-000006-20
40-000011-74
19-003011-00
15-000017-00
83-000006-04
24-000006-13
62-100018-21
81-005125-20
91-002025-00
91-000025-01
18-007023-04
51-100113-00
62-100018-15
10-000197-01
62-100022-15
91-000008-00
92-000008-00

GNR LOWER CABINET ASSEMBLY

Description

Lower Cabinet Base Assembly

#8 x 1/2” Phillips SMS

LE & SE Cabinet Vent Grill

CE Vent Grill With Grommet

CE Grommet

LE #4 x 5/8” SMS

LE Decal Cover

LE Cabinet Controller Board

SE Cabinet Controller Board

CE Cabinet Controller Board

Cabinet Controller Board Cover
Switch Plate

#6 x 1-1/4” SMS

Flipper Switches & Cable Assembly
Power Box & Cable Assembly, U.S.
Power Box & Cable Assembly, International
Shaker Motor Assembly

USA Coin Door Assembly 12VDC
European Coin Door Assembly 12VDC
European Coin Door Cable

European Coin Door Board

6-32 Type 25 TCS, International Bd
555 12V LED, International

Decal Coin Door

#1/4 - 20 x 1-1/4” Carriage Bolt, Black
#1/4 - 20 Flange Nut

#1/4 - 20 Lock Nut

Start Button Assembly

LE & CE Cab BT & Headphone Jack Assembly
LE & CE Headphone Jack Decal

SE Cab BT & Headphone Jack Assembly
SE Headphone Jack Decal

8-32 Nylon Stop Nut

#8 Flat Washer

CABLES NOT SHOWN

Item Part Number
70 19-003100-10
71 19-003115-02

Qty Pg.

[EY

N
~
1

DORPRRPRRPRRPRRPRRLPRUODRRPRRPRPRPRPRRPRRPRPREPREPDIMNNRPRRLRREPRELPEREDAMNNN
1

Description

CE USB 2.0 A to Mini B, M/M

Item

35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68

LE & CE Headphone Board Jumper

Part Number

51-000092-08
51-100131-01
51-000092-09
10-000025-00
80-002010-08
10-008001-00
51-000066-10
91-000001-10
30-000009-04
30-000009-02
30-000125-00
51-100101-00
51-100101-01
51-100134-00
61-100005-03
61-100005-04
61-100005-05
61-100009-03
61-100009-04
61-100009-05
30-100047-01
30-100047-02
30-100047-03
42-007003-16
42-007003-09
61-009000-00
51-100135-00
81-005108-16
91-001008-00
82-006104-08
61-100010-01
61-100010-02
51-100145-00
80-002008-10

Qty

Description

LE Ball Shooter Assembly
CE Ball Shooter Assembly
SE Ball Shooter Assembly
Ball Shooter Mounting Plate
#10-32 x 3/8” MS

Lockdown Bar Receiver Assembly
Lockdown Switch Assembly
Flipper Button PAL Nut

SE & LE Flipper Button, Yellow
CE Flipper Button, Red

Line Filter Box Cover

LE Lockdown Bar, Cinnamon
SE Lockdown Bar, Black

CE Lockdown Bar

LE Left Cabinet Decal

LE Right Cabinet Decal

LE Front Cabinet Decal

SE Left Cabinet Decal

SE Right Cabinet Decal

SE Front Cabinet Decal

CE Left RAD-CAL

CE Right RAD-CAL

CE Front RAD-CAL

LE Side Rail, Cinnamon

SE Side Rail, Black

LE & SE Foam Tape

CE Side Rail

#8-32 x 1” Carriage Bolt, Black
#8-32 KEPS Nut

#4x1/2” SMS, Black

CE Left Side Blade

CE Right Side Blade

CE LED Strip Assembly

# 8-32 x 5/8” Phillips MS

Qty

NNRPRRPRRPRRRPRRPRRPRPRRRPRRPRRPRRELNNNRPRRWRRRR

=
o

P RPRPERPNMNMNNNDN

GUNS N ROSES

1



BACKBOX ASSEMBLY OUTSIDE

®
@ ©
SE A
LE
— CE

(®) ariaces 20vech

A
O)

CEQIY 16

@

D)

2/

GUNS N ROSES

82



Item

OCoOoNOULLDWNPR

NNNNNNRRRREBRRRRRRR
OB WNROWOVLONOODULDAWNERO

Part Number

05-100010-00
51-005044-03
91-001006-00
82-009008-08
10-000034-01
80-002025-08
51-100021-00
91-002025-00
42-007001-18
42-007001-19
42-007001-32
42-007001-33
42-007001-21
42-007001-20
81-005125-20
51-100105-00
51-100105-01
51-100105-02
51-005041-00
30-000094-00
30-000093-01
30-100073-00
10-100088-00
10-100088-10
80-000108-08

BACKBOX ASSEMBLY OUTSIDE

Description

Backbox Wood Assy

SSD Assembly

#6-32 Keps Nut

#8 x 1/2” Phillips SMS

Backbox Corner Bracket

#1/4 - 20 Philipps MS

27” LCD Monitor Assembly

#1/4 - 20 Flange Nut

SE Backbox Left Hinge Black

SE Backbox Right Hinge Black

LE Backbox Left Hinge Wild Copper
LE Backbox Right Hinge Wild Copper
CE Backbox Left Hinge Purple

CE Backbox Right Hinge Purple
#1/4 - 20 x 1-1/4” Carriage Bolt Black
SE GnR Printed Backglass Assembly
LE GnR Printed Backglass Assembly
CE GnR Printed Backglass Assembly
USB Camera Assembly

USB Camera Cover

Button Plug, 1.0” Black

SE JJP LOGO Name Plate

LE JJP LOGO Name Plate

CE JJP LOGO Name Plate

8-32 x 1/2” MS, Black

Qty

N =

= A~ N

[EY
o

N R RPRRPRRRPRRRPRRRORRLRRRRR

Item

26
27
28
29
30
31
32
33
34
35
36
37
38
39
40

Part Number

61-100009-01
61-100009-02
61-100005-01
61-100005-02
30-100047-04
30-100047-05
10-100080-00
80-002008-04
51-005042-00
51-100143-01
51-100143-02
51-100116-00
51-100132-00
91-000008-00
61-009004-01

16-005001-00
15-100013-00
19-100102-00
19-003043-01

Description

SE Left Decal

SE Right Decal

LE Left Decal

LE Right Decal

CE Left RAD-CAL

CE Right RAD-CAL

Backbox PCB EMI Shield

#8-32 x 1/4” Phillips Hex Head Screw
Backbox LED Strip Assembly

CE LED Strip Left Assembly

CE LED Strip Right Assembly

CE Sound Bar Topper Assembly
CE Slash Acrylic Topper Assembly
8-32 Nylon Stop Nut

Foam Adhesive Tape

Parts not shown

Ground Loop Isolator
GnR Security Dongle
Amplifier Extension Cable
AUX Input Cable

Qty

NRPRRPRRPRRPRDEMRLRNRRRRR

xQ

N

GUNS N ROSES

83



= BACKBOX ASSEMBLY INSIDE

wdid
L}~ R

14331

Ean

T T ————twUsT ADD 10-000235-03
UMTILL ITEM 25 51-100040-00

19 A&k

T

GUNS N ROSES 84

15 RECIEVED AS REV B. E:




Item

OCooNOYULLE, WNPRE

NNNRRRRRRRRR
NP, OWLWWONOUDWNERO

Part Number

50-100028-00
10-000016-00
10-000110-01
10-000201-00
10-000206-09
10-000207-01
10-000207-00
10-000234-00
10-100077-00
11-000011-00
17-006003-00
19-000030-22
19-003116-10
19-003116-11
19-009011-00
23-005004-03
30-000049-08
30-000049-16
30-000051-04
30-000051-08
30-000115-06
30-002105-03

Description

Backbox Wood Assy

Knocker Plate

Fan Guard

Acoustic Plate

27” LCD Panel Face Plate
Speaker Panel Mounting Brkt Right
Speaker Panel Mounting Brkt Left
Vent Hole Cover, Louvered
Screen Brace

Knocker Plunger Assembly
5.25” Midrange Speaker 8 Ohm
Crimp Pin, Female

Speaker Bar Cable, Right
Speaker Bar Cable, Left
Ground Braid

Fan 12 VDC 120 x 25mm

Nylon Cable Clamp, Open 1/2”
Nylon Cable Clamp, Open 1”

4” Wire Tie

8” Wire Tie

1.1” Cable Tie Mount #6 Screw
Housing Female, 3 Pin

BACKBOX ASSEMBLY INSIDE

Qty

4

PNNNNNRPIRPPNNRNRRRPRRNRRR

Pg. Item

- 23
- 24
- 25
- 26
- 27
- 28
- 29
- 30
- 31
- 32
- 33
- 34
- 35
- 36
- 37
- 38
- 39
- 40
- 41
- 42
- 43

Part Number

42-005002-00
51-006014-25
51-100040-00
51-100041-01
51-100050-00
51-100051-00
80-000108-32
80-000110-16
80-002008-08
80-002010-06
80-002025-12
80-008108-16
81-005011-28
82-006106-08
91-000008-00
91-000011-00
92-000008-00
92-000010-00
92-000108-00
92-000110-00
82-009008-08

Description

Roto-Lock Receptacle

Knocker & Cable Assembly

27” LCD Piviot / Wsing Assembly
Backbox Mount PCB Assembly
Assembly Magnetic Latch
Backbox Speaker Bas & Cable Assy.
#8-32 x 2” MS, Black

10-32 x 1” MS, Black

8-32 x 1/2” Phillips MS

#10-32 3/8” MS

1/4”-20 x 3/4” MS

8-32 x 1” T25 TORX MS, Black
#10-24 x 1-3/4” Carriage Bolt, Black
#6 x 1/2” SMS, Black

8-32 Nylon Stop Nut

#10-24 Nylon Stop Nut

#8 Flat Washer

#10 Flat Washer

#8 Flat Washer, Black

#10 Flat Washer, Black

#8 x 1/2” SMS

Qty

CONNDBNDDAONNWOOOOOPRAENRERERERPRE

N
(e)]

GUNS N ROSES

85



2101119 (3

oo ¥

1A

11 L1111

ulll

I R
1O ©
Lo ° .
He) °
L0 /] - , o
Y & @

P=Y

Tl

I

11

Item

O O NOOULLPE, WN B

NNNNRRPRPRRRRRRR R
WNFRPOWVWONOOUDAWNERO

BACKBOX PCB BASE ASSY

Part Number

10-100079-01
10-100082-00
15-004001-01
15-004002-01
16-000013-00
19-003043-01
19-003072-03
19-003100-01
19-009015-02
30-000049-08
30-000049-12
30-000108-02
30-008005-00
Part of ATX
80-002006-06
91-000006-00
91-001008-00
25-009013-00
19-100002-00
19-003127-03
15-000000-05
15-000012-03
15-000014-02

51-100041-01

Description

Backbox PCBs EMI Shield
Backbox PEM Plate

I/0 PCB Fully Populated
Sound Amplifier PCB

ATX Power Supply, 150 Watts
AUX Input Cable

27” LCD Power Cable

USB Cable 2.0 A to Mini - B
Sound Amp Power Cable
Cable Clamp Open 1/2”
Cable Clamp Open 3/4”
Locking Grommet 1 1/2”
Plastic Edge Trim

6-32 x 1/4” MS

#6-32 x 3/8” MS

6-32 Nylon Stop Nut

#8-32 Keps Nut

PCB Chassis Grommet 1”
ATX Power Cable

DVI-D to HDMI, 3ft

CPU H310CM-HDV

4GB DDR4-2400 SDRAM 288 Pin
Intel Celeron G4900 or G4920

GUNS N ROSES

Qty

PR R R RRRRRRRR

N

=
S

O O T = N A O N



FRONT VIEW

—————NOTE ORIENTATION OF

THE "D"HOLE. LINEAR EDGES
ARE VERTICAL.

=]

™

INSERT ITEM ¢ FROM
FRONT AS SHOWN

Item

OO NV WN B

=
o

BACKBOX SPEAKER BAR ASSY.

Part Number

05-100014-00
10-000002-10
10-000002-11
10-000224-00
109-475M-100
82-000106-08
51-005012-02
91-005008-00
17-006000-00
30-100074-00

51-100051-00

Description

Speaker Bar Front Panel
Tweeter Speaker Grill
Mid-Range Speaker Grill
Cam, Lock

Capacitor 4.7MF, 100V, 20%
#6 x 1/2” SMS

Lock Assy. 11/8” 11/4” Cam
#8-32 Hex Drive

Sound Bar 2” Dome Tweeter
Washer

Qty

PR NN R

1

[e)]

P NN

GUNS N ROSES

87



BACKGLASS ASSEMBLY
51-100105-00 SE
-01 LE -02 CE

Item Part Number Description

1 60-100002-00 SE GNR Printed Back Glass
60-100002-01 LE GNR Printed Back Glass
60-100002-02 CE GNR Printed Back Glass
30-008004-00 Backglass Lift Channel

AP WN R PR

30-008002-00 Backglass Top Plastic Channel
30-008002-01 Backglass Side Plastic Channel

Qty

N R R R R R

GUNS N ROSES



ABOVE - PLAYFIELD ASSEMBLIES

GUNS N ROSES 89



Item

o ubh wN

Part Number

51-000003-00
51-000004-01
51-000026-00
51-100012-00
51-100022-00
51-100058-00

UNDER PLAYFIELD ASSEMBLIES

Description

Slingshot Assy. 23-800

Pop Bumper Bottom Assy.

Auto - Launch Assy.

Magnet, Single Coil Through Playfield
6 Ball Trough Assy.

Record Spin Assy.

Qty

R R R R WN

Pg. Item

- 10
- 11
- 12

Part Number

51-100063-00
51-100067-00
52-000121-00
52-000131-00
52-000132-00
52-000151-00

Description

Left Ramp Diverter

Dual UP Down Post Assy.

Upper Right Flipper Assy.

Right Flipper Assy. FL-15411

Left Flipper Assy. FL-15411

Flipper Assy. Right, Extended Bushing

Qty Pg.
1 -
1 -
1 -
1 -
1 -
1 -
GUNS N ROSES



SHOOTER LANE RAIL ASSY.
51-100103-00

Item Part Number Description Qty

1 12-100025-02 Flatrail

2 30-000087-01 Buble Level

3 30-000087-00 Buble Level Bracket
4 91-000006-00 6-32 Nylon Stop Nut

N R R

GUNS N ROSES 91



Item

LOWER BUMPER EXIT GATE ASSY.
51-100118-00

Part Number

10-100178-00
13-100019-00

Description

Lower Exit Gate Brkt
Wire

Qty
1
2

Item

B wWw N

SHOOTER LANE GATE ASSY.
51-100121-00

Part Number

10-100180-00
51-100133-00
91-000006-00
25-009001-01

Description Qty
Bracket Shooter Lane 1
Flap Gate Assy. 1
6-32” Nylon Stop Nut 2
Ball Trough Bumper Plug 1

GUNS N ROSES

92



CENTER SPINNER GUARD ASSY. LE
51-100124-00

Item

u b wWwN

Part Number Description

30-000083-04 Spacer
30-100048-08 Center Spinner Left
30-100048-36 Ball Trap
80-000008-20 8-32x11/4” MS
91-000008-20 8-32 Nylon Stop Nut

Qty

NN RPN

CENTER SPINNER GUARD ASSY. SE
51-100124-01

(,."‘\. e
o,
40 o
N
= =1 ) e j
S =
— _? -
.. @ \‘“\\ =)
® — N
Item Part Number Description Qty

1 30-100060-25 Center Spinner Left Ball Trap
30-100060-08 Center Spinner Left
30-000083-04 Nylon Round Spacer
80-000008-20 8-32” x 1-1/4” Screw
91-000008-00 8-32” Nylon Stop Nut

u b wWwN
N NN P -

GUNS N ROSES

93



UPPER PLAYFIELD BALL TRAP ASSY. UPPER PLAYFIELD GATE ASSY, LE & CE
51-100112-00 LE 51-100096-00
51-100112-02 CE

Item Part Number Description Qty Item Part Number Description Qty
1 See Table Plastic, Left 1 1 10-100162-00 Bracket 1
2 See Table Ball Trap 1 2 13-100016-00 Wire 1
3 80-002008-06 8-32 x 3/8 MS 4
4 95-001508-28 5/16” x 1 3/4” Hex Spacer 8-32 1

ITEM &#1 ITEM & 2
LE 30-100048-19 | 30-100048-25
CE 30-100057-15 | 30-100057-25

GUNS N ROSES



Item

u b wnN

O]

ﬁ
S~
! -

-

(4)

51-100110-01 SE

Part Number

30-000083-04
30-100060-14
30-100060-33
80-000008-20
91-000008-00

Description

Nylon Spacer

Right Orbit High

Right Orbit High Ball Trap
8-32 x 1-1/4” Screw

8-32 Nylon Stop Nut

Qty

NN R RN

POP BUMPER PLASTIC GUARD
51-100110-01 SE - 51-100110-00 LE
51-100110-02 CE

Item

u b wN

Item

u b wN

51-100110-00 LE

Part Number

30-000083-04
30-100048-14
30-100048-33
80-000008-20
91-000008-00

Description

Nylon Spacer

Right Orbit High

Right Orbit High Ball Trap
8-32 x 1-1/4” Screw

8-32 Nylon Stop Nut

51-100110-02 CE

Part Number

30-000083-04
30-100057-14
30-100057-33
80-000008-20
91-000008-00

Description

Nylon Spacer

Right Orbit High

Right Orbit High Ball Trap
8-32 x 1-1/4” Screw

8-32 Nylon Stop Nut

Qty

NN R RN

Qty

NN R PN

GUNS N ROSES

95



Item

u b wWwN

51-100125-01 SE
Description

Part Number

30-009000-12
30-100060-06
30-100060-27
80-000008-28
91-000008-00

1.188"” Post Clear

Left Drain Left Orbit
Left Orbit Low Ball Trap
8-32 x 1-3/4” Screw
8-32 Nylon Stop Nut

Qty

el el el

LEFT ORBIT BALL TRAP ASSY.
51-100125-01 SE - 51-100125-00 LE

51-100125-02 CE

Item

u b wWwN

Item

u b wWwN

51-100125-00 LE

Part Number

30-009000-12
30-100048-06
30-100048-27
80-000008-28
91-000008-00

Description

1.188"” Post Clear

Left Drain Left Orbit
Left Orbit Low Ball Trap
8-32 x 1-3/4” Screw
8-32 Nylon Stop Nut

51-100125-02 CE

Part Number

30-009000-12
30-100057-06
30-100057-27
80-000008-28
91-000008-00

Description

1.188"” Post Clear

Left Drain Left Orbit
Left Orbit Low Ball Trap
8-32 x 1-3/4” Screw
8-32 Nylon Stop Nut

Qty

R el el el

Qty

el el el

GUNS N ROSES



SLASH RIGHT RAMP MOUNT BRACKET

51-100081-00

| | [
[ ] 7
|II |'I |II ||L._ o _K“Ej I
I
*ADD IOCTITE 243«551%.% =N

. )
4 >

E&:_:_v__ T~

T ___@

Item

Description
Slash Right Ramp Mount Brkt

#8 Flat Washer
.313 Hex Spacer 38-32

Part Number

10-100142-00
92-000008-00
95-001508-38

Qty

N

UPPER RIGHT PLASTIC GUARD
51-100111-01 SE - 51-100111-00 LE
51-100111-02 CE

51-100111-01 SE

Part Number Description

Item
1 25-009005-04 1/4” DN Rubber Posyt
2 30-100060-15 Monitor Loop Deflector
3 30-100060-31 Rear Right Corner
51-100111-00 LE
Item Part Number Description
1 25-009005-04 1/4” DN Rubber Posyt
2 30-100048-15 Monitor Loop Deflector
3 30-100048-31 Rear Right Corner
51-100111-02 CE
Item Part Number Description
1 25-009005-04 1/4” DN Rubber Posyt
2 30-100057-15 Monitor Loop Deflector
Rear Right Corner

3 30-100057-31

Qty

R RN

Qty

R RN

Qty

[ N

GUNS N ROSES

97



CENTER SPINNER GUARD ASSY. CE

51-100124-02

Item
1

u b wnN

Part Number

30-000083-04
30-100057-08
30-100057-36
80-000008-20
91-000008-00

Description

Spacer

Center Spinner Left
Ball Trap
8-32x11/4”MS
8-32 Nylon Stop Nut

Qty

NN R RN

Item

1
2
3

POP BUMPER RING ASSY.
11-005004-01

Part Number

11-000005-00
91-000006-00
11-100000-00

U

Description

Pop Bumper Ring
6-32 Nylon Stop Nut
Bumper Rod

— —

(A

Qty

GUNS N ROSES

NN -



|6|

51-100162-00

51-100162-01

POP BUMPER TOP ASSY.

21-100762-02 51-100162-03
T — —

ITEM NO. PART NUMBER DESCRIPTION 51-100162-00/QTY. | 51-100162-01/QTY. | 51-100162-02/QTY. | 51-100162-03/QTY.
1 13-007003-00 POP BUMPER SKIRT SPRING 1 1 1 1
2 15-004251-05 RGB GI PCB ASSY, T LED FP, 5V 1 1 1
3 19-000020-24S CRIMP PIN, FEMALE, 24-28AWG 4 4 4
4 19-100078-00 GNR LOWER POP BUMPER LED EXTENSION CABLE - 1
5 19-100079-00 GNR LOWER POP BUMPER LED EXTENSION CABLE - 1
6 19-100080-00 GNR LOWER POP BUMPER LED EXTENSION CABLE 1
7 30-000003-09 POP BUMPER BASE, WHITE 1 1 1 1
8 30-000004-09 POP BUMPER SKIRT WHITE - 1 1 1
9 30-000005-09 POP BUMPER BODY, WHITE 1 1 1 1
10 30-100059-09 POP BUMPER SKIRT, WHITE 1
11 DF1B-4DS-2.5RC 4 PIN RECTANGULAR CONNECTOR WHITE 0.098" 1 1 1

51-100162-XXX

GUNS N ROSES



Item

[EEN

O oo ~NOULL b WN

POP BUMPER BOTTTOM ASSY.

Part Number

10-005003-00
10-007003-00
23-000010-00
10-000021-00
10-000021-01
11-000004-00
30-000014-28
13-007002-00
80-002006-04

51-000004-01

Description

Pop Bumper Coil Brkt

Pop Bumper Coil Centering Brkt
26-1200 Coil

Pop Bumper Yoke, Steel

Pop Bumper Yoke, Backlite

Pop Bumper Plunger

1 3/4” Coil Tubing

Pop Bumper Spring

6-32 x 1/4” PHILLIPS MS

Qty

N R RPRRPRRPRRLPPRPR

GUNS N ROSES

100



Item

2
3
4
5
6

UPPER LOOP RAMP SWITCH

Part Number

10-000024-01
10-000024-00
12-100025-10
18-003011-00
19-100082-00
80-002102-08

51-100077-00

Description

Microswitch Plate
Microswitch Nut Plate 2-56
Flatrail Upper Loop Ramp
Microswitch

Wire Harness (Not Shown)
2-56 x 1/2” MS

Qty

N R R R RPN

Item

Part Number
10-100137-00

91-000006-00
51-000085-10

SLASH FLAP GATE
51-100079-00

Description

Flap Gate Mtg Brkt
6-32 Nylon Stop Nut
Flap Gate Pem Brkt Assy

Qty

=N

GUNS N ROSES

101



BACK PANEL ASSY. SE

Part Number

05-100017-01
51-100059-00
82-009008-08
91-004008-00
80-002008-10
94-003003-01
82-000004-14
10-000162-00
15-100016-13
30-100044-00
30-000052-04
19-100085-01
19-100041-08
19-003111-03
30-000051-04
62-100022-36
10-100160-00
30-000049-04

51-100052-01

Description

Back Panel

LCD

#8 x 1/2” PHILLIPS SMS
8-32 x 1/4” T-Nut

8-32 xx 5/8” PHILIPS MS
Nylon Spacer

#4 x 7/8"” SMS

Back Panel Support Brkt
Lighting Truss LED Bd
Lens Cover

1/4” Cable Clamp Closed
Power Cable

8 Ft HDMI Cable

Cat 5e, 3 Ft

4” Wire Tie

Decal

Back Pan

1/4” open Cable Clamp

NFRPRPRRPRPRPRPNUORNMNMNNDD

GUNS N ROSES

12



Item

OCoOoONOOTU P WNPR

NNNRPRRRRRRR R R
NP OWVWOONOOUDAWNRO

BACK PANEL ASSY. LE
51-100052-00

Part Number

05-100017-01
51-100059-00
82-009008-08
91-004008-00
80-002008-10
94-003003-01
82-000004-14
91-000008-00
10-000162-00
51-100094-00
15-100016-13
30-100044-00
62-100018-18
30-000052-04
30-000051-04
19-100041-08
19-100053-00
19-100085-01
19-003111-03
62-100024-36
10-100160-00
30-000049-04

Description

Back Panel

LCD

#8 x 1/2” PHILLIPS SMS
8-32 x 1/4” T-Nut

8-32 xx 5/8” PHILIPS MS
Nylon Spacer

#4 x 7/8” SMS

8-32 Nylon Stop Nut
Back Panel Support Brkt
Spot Light Assy., Right
Lighting Truss LED Bd
Lens Cover

Decal

1/4” Cable Clamp Closed
4” Wire Tie

HDMI Cable 8ft
Spotlight Cable

Power Cable

Cat 5e, 3 Ft

Decal

Back Pan

1/4” open Cable Clamp

GUNS N ROSES

WRPRPRRRPRRPRRNRPORRPRNNMNNNDD

105



Item

OO NOUVL P WN R

NNNRPRRRPRRRRRRR R
NP OWVWOONOOUDAWNRO

BACK PANEL ASSY. CE

Part Number

05-100017-00
51-100059-00
82-009008-08
91-004008-00
80-002008-10
94-003003-01
82-000004-14
91-000008-00
10-000162-00
51-100094-00
15-100016-13
30-100044-00
62-100018-18
30-000052-04
30-000051-04
19-100041-08
19-100053-00
19-100085-01
19-003111-03
62-100023-36
10-100160-00
30-000049-04

51-100052-02

Description

Back Panel

LCD

#8 x 1/2” PHILLIPS SMS
8-32 x 1/4” T-Nut

8-32 xx 5/8” PHILIPS MS
Nylon Spacer

#4 x 7/8” SMS

8-32 Nylon Stop Nut
Back Panel Support Brkt
Spot Light Assy., Right
Lighting Truss LED Bd
Lens Cover

Decal

1/4” Cable Clamp Closed
4” Wire Tie

HDMI Cable 8ft
Spotlight Cable

Power Cable

Cat 5e, 3 Ft

Decal

Back Pan

1/4” open Cable Clamp

GUNS N ROSES

WRPRPRRRPRRPRRNRPRORRPRNNMNNNDDS

14



APPLY SMALL AMPUNT OF
MAGNALUBE (OR SIMILAR)
L%gOTH SIDES ARROUND

APPLY LOCTITE 425 ONLY

APPLY LOCTITE 425 ONLY

»

OPTION ONLY USED WITH 23-100004-01

APPLY ITEM 17 TO OUTPUT SPLINE
ONLY WITH ITEM 11 23-100004-01
BOTH SERVOS

APPLY LOCTITE 425 ONLY

APPLY LOCTITE 425 ONLY

NOT SHOWN SOLDERED TO ITEM#15
SEE BOTTOM OF DRAING FOR CONNECTION
INFORMATION

APPLY SMALL AMOUNT OF

GREASE (MAGNALUBE-G OR SIMILAR)
TO ITEM 7 AROUND ID OF HOLES

Item

OO NOULL P WN B

N
D WNRO

SPOT LIGHT LEFT ASSY.

Part Number

30-100041-00
30-100040-00
30-100040-01
30-100040-04
30-100040-03
92-100006-00
30-100040-02
30-000M25-06
91-1000106-00
80-000207-24
23-100004-00
83-001006-06
15-100018-00
62-100018-17

51-100093-00

Description

Lens

Housing - Left
Housing - Right
Servo Arm
Spot Light Arm
#6 Flat Washer
Main Bracket

M2.5X6mm MS

6-32 Nylon Stop Nut
6-32 x 1-1/2” MS

Servo Digital

#6 x 3/8” THD Forming Screw
RGBW Spot Light board

Decal

GUNS N ROSES

Qty

R R NNRPRERNRNRRRRR

16



Item

OCoONOUVL P WN R

[N
= O

DRUMSTICK TARGET ASSY. SE

51-100053-01

DRUMSTICK TARGET ASSY.

51-100053-00 LE
51-100053-02 CE

Part Number

10-100092-00
10-000095-00
91-000004-00
80-000004-14
18-009015-00
25-001005-00
10-000022-01
30-100060-30
19-100063-00
30-000051-04
62-100018-13

Description

Drumstick Target Brkt
Target Back Plate
#4-40 Nylon Stop Nut
Pan Head Screw
Rectangle Stand up Target
Foam

Switch Plate

Cover

Cable (Not Shown)

4” Wire Tie

Decal

Qty

P NP RPRRPRPRLRNNRR

Item

OCoONOYU P WN B

[
= O

Part Number

10-100092-00
10-000095-00
91-000004-00
80-000004-14
18-009015-00
25-001005-00

Description

Drumstick Target Brkt
Target Back Plate

#4-40 Nylon Stop Nut

Pan Head Screw
Rectangle Stand up Target
Foam

10-000022-01 Switch Plate
See Table Cover

19-100063-00 Cable (Not Shown)

30-000051-04 4” Wire Tie

62-100018-13 Decal
ITEM # 8
LE 30-100048-30
CE 20-100057-30

Qty

P NRPRRPRRPRRPRRLRNNRPR

GUNS N ROSES

106



51-100054-00

PLASTIC RIGHT RAMP ASSEMBLY

Item

O 00N, WN B

P R R R R RR R R R
LN WNERO

Part Number

31-100003-00
10-100121-00
10-100122-00
10-100122-01
10-100122-02
18-003003-00
13-100008-00
10-000024-00
80-000002-07
10-000024-01
80-000004-05
91-000004-00
93-000000-00
92-000004-00
51-100122-00
80-002006-06
91-000006-00
19-100062-00
25-007001-02

Description

Plastic Ramp Right
Ramp Flap

Right Ramp Protector
Left Ramp Protector
Switch Bracket
Microswitch

Switch Wire

Nut Plate 2-56

2-56 x 7/16” MS
Microswitch Plate
#4-40 x 5/16” MS
#4-40 Nylon Stop Nut
1/8” x 7/32” Rlvet

#4 Flat Washer

Ramp Gate Assy
#6-32 x 3/8” MS

6-32 Nylon Stop Nut
Cable (Not Shown)
Microswitch Cover

GUNS N ROSES

Qty

P PR RPRERPNNAEDMNRPLPNRPRRPRPRRRERERER

107



Item

OCoONOUL P WN B

PR R R R R R R R
oNOOUL P WNEO

PLASTIC LEFT RAMP ASSEMBLY SE

Part Number

31-100006-01
10-100102-00
10-100125-00
10-100125-01
10-100125-02
10-000024-01
10-000024-00
80-000002-07
80-000004-05
93-000000-00
91-000004-00
13-100010-00
51-100074-00
92-000004-00
10-100179-00
18-003003-00
51-100128-00
25-007001-02

51-100061-01

Description

Plastic Ramp Left
Ramp Flap

Left Ramp Protector
Right Ramp Protector
Switch Bracket
Microswitch Plate
Nut Plate 2-56

2-56 x 7/16” MS
#4-40 x 5/16” MS
1/8” x 7/32” Rivet
#4-40 Nylon Stop Nut
Ramp Switch Wire
Return Switch

#4 Flat Washer

Rear Ball Guide
Microswitch

Acrylic Guitar
Microswitch Cover

Qty

P P PR NRPRPRPONOONRRRRERRAR

GUNS N ROSES

108



Item

(IR
mBwoNoU s wWN R

[l e = eV FER SEGR SN
O oONOUD WN

PLASTIC LEFT RAMP ASSEMBLY LE & CE

Part Number

31-100006-00
10-100102-00
10-100126-00
10-100125-00
10-100125-01
10-100125-02
18-003003-00
10-000024-01
10-000024-00
80-000002-07
80-000004-05
93-000000-00
91-000004-00
13-100010-00
51-100074-00
92-000004-00
19-100066-00
19-100067-00
25-007001-02

51-100061-00

Description

Plastic Ramp Left

Ramp Flap

Bumper Plate

Right Ramp Protector
Left Ramp Protector
Switch Bracket
Microswitch

Switch Plate

Nut Plate 2-56

2-56 x 7/16” MS

#4-40 x 5/16” MS

1/8” x 7/32” Rivet
#4-40 Nylon Stop Nut
Switch Wire

Return Switch

#4 Flat Washer

Enter Cable (Not Shown)
Made Cable (Not Shown)
Switch Cover

Qty

R R R NRPRRPRODMNIINRRPRRRRRRRR

GUNS N ROSES

19



LEFT CAT WALK RAMP
10-100103-00

RIGHT CAT WALK RAMP
10-100091-00

GUNS N ROSES 110



Item
1

No o b wN

Slash Return Switch Left

Part Number

10-100124-00
13-100009-00
10-000024-00
10-000024-01
80-000002-07
18-003003-00
25-007001-02

51-100074-00

Description

Bracket

Wire

Nut Plate, 2-56
Protector Plate
2-56 x 7/16” MS
Microswitch
Vinyl Cover

Qty

1
1
1
1
2
1
1

GUNS N ROSES

1



ACRYLIC GUITAR ASSY SE SPINNING GUITAR PICK ASSY
51-100128-00 51-100066-00

[ R G

— f — =
0 ﬁ [ [ VERY LIGHT FILM OF GREASE——__ [y —
- [P/ [ TO BE APPLIED, BOTH ENDS AXELS OF
Il [ ] SPINNER USE MAGMNALUBE-G p
—7 f ' OR SIMILAR | — @
__'_,_;-'-'"_ _ — f i
— |, LU
= | ] = 0 Hf_,_@
e _—
Item Part Number Description Qty

1 30-100061-00 Acrylic Guitar
10-100185-00 Bracket
91-000004-00 #4-40 Nylon Stop Nut
51-100130-00 LED Strip Assy
62-100022-37 Decal Bass SE

a D wN
R RN R

Item Part Number Description Qty

1 10-100112-00 Spinner Brkt W/ LED

2 30-100037-00 Guitar Pick Spinner

3 18-005003-00 U Shaped OPTO

4 80-000004-05 #4-40 x 5/16” MS

5 15-100023-01 RGB W/ PCB Assy

6 80-000004-08 4-40x 1/2” MS

7 19-000013-22R MFJ Pins (Not Shown)

8 30-002011-04 MFJ Receptacle (Not Shown)
9 19-100046-00 Spinner Cable (Not Shown)
10 62-100015-00 Decal

P R R AR RPNRRR

GUNS N ROSES 112



Item

W

SNUBBER SIDE BRACKET ASSY., LEFT
51-100065-00

Part Number

10-100110-00
10-100113-00
25-100007-00
91-000006-00

Description

Snubber Brkt, Left
Retaining Plate
Snubber Block

6-32 Nylon Stop Nut

Qty

N R R R

Item

~wnN

SNUBBER SIDE BRACKET ASSY., RIGHT
51-100065-01

Part Number

10-100110-01
10-100113-00
25-100007-00
91-000006-00

Description

Snubber Brkt, Right
Retaining Plate
Snubber Block
6-32 Nylon Stop Nut

Qty

N R R R

GUNS N ROSES

113



CATWALK RAMP ASSY
51-100142-00

DRUMSTICK RAMP
51-100055-00 SE & LE
51-100055-01 CE

Item Part Number Description Qty

1 10-100093-00 Lower Drumstick Brkt 2 i
) 10-100095-00 Front Upper Brkt 1 Item Part Number Description Qty
3 10-100094-00 Rear Upper Brkt 1 1 10-100091-00 Cat Walk Ramp 1
4 80-000004-03 #4-40 x 3/16” MS 2 2 51-100062-00 Cat Walk Diverter 1
5 80-000006-04 6-32 x 1/4” MS 3 3 91-000006-00 #6-32 Nylon Stop Nut 4
6 82-000004-08 #4x 1/2” MS 4
7 See Table Drumstick W/ Mylar Decal 2
8 15-100024-02 Single Reflector OPTO BD 1
9 19-100101-00 Extension Cable 1

ITEM & 7

SE & LE 51-100070-00

CE 51-100070-01

GUNS N ROSES 114



Item

OCoONOULL P WN B

NNNNNNRRPRERERRRPERRRRPR
VPR WNRPOOLONOODUD WNPRO

CATWALK DIVERTER

Part Number

10-100134-00
10-000231-09
80-001006-04
10-100133-00
23-003008-01
13-007029-18
92-000308-00
80-000308-06
10-000213-06
10-000213-07
92-003108-00
32-100006-00
80-000108-05
70-009001-01
62-100018-28
62-100018-29
62-100018-30
62-100018-31
62-100018-32
62-100018-33
15-100023-01
10-100183-00
80-000004-06
19-100057-00
19-100100-24

51-100062-00

Description

Mounting Bracket

Trip Coil Frame

#6-32 x 1/4” MS
Diverter Guide
26-600 Mini Coil Assy
Spring 18 OZ

#8 Flat Washer

#8-32 x 3/8” MS

Coil Armature Plate
Residual Arnature Plate
#8 Lock Washer
Speaker Stack

8-32 x 5/16” MS, Black
Fish Paper

Decal - NOT

Decal - IN

Decal - THIS

Decal - LIFE

Decal - TIME

Decale - VERT

RGB W/ PCB

Bracket

4-40 x 3/8” MS

Coil Cable (Not Shown)
RGB Cable

Qty

PR PR RPRURRPRRPRRPRPRRLRNRPRRPRPRPRPRPRRRARNRER

GUNS N ROSES



ASSEMBLY NUMBER | DESCRIPTION | COLOR 10-100104-XX | ITEM 4
52-100013-01 5E BLACK 10-100104-01 | £2-100022-01
52-100013-03 LE WILD COPPER 10-100104-02 | 62-100024-01

Item

O 0N, WN B

PR R R R R R R R
ONOUD WNRO

APRON SE & LE

52-100013-01 SE 52-100013-03 LE

Part Number

13-100004-00
10-100104-XX
80-002008-08
SEE CHART
62-100018-16
25-009014-00
15-004328-00
80-000004-05
11-100032-00
11-100032-01
19-009038-06
92-000008-00
15-100023-01
10-100182-00
80-000004-06
19-100100-24
62-100019-09
62-100019-03

Description

Arch Rail

Bottom Arch

8-32x1/2” MS

Decal Apron

Decale Skill Shot

Bottom Arch Rubber Plug
Single RGB W/ PCB
#4-50 x 5/16” MS

Price Card

Instruction Card

Action Buttion LED Cable
#8 Flat Washer

RGB W/ PCB

BRKT LED BD Tray

4-40 x 3/8” MS

RGB Floodlight Cable 24”
Mylar Protector, Left
Mylar Protector, Right

Qty

R R R RPRRPRRPRWRRRNRRRRDNRPR

GUNS N ROSES

116



Item

OCoONOUL P WN R

NNRP PR RPRERRRERRRBR R
PO WVWOoONOOUDWNERERO

Part Number

10-100188-01
13-100004-01
80-002008-08
62-100023-01
62-100018-16
25-009014-00
15-004328-00
80-000004-05
11-100032-00
11-100032-01
19-009038-06
92-000008-00
15-100023-01
10-100182-00
80-000004-06
19-100100-24
62-100019-09
62-100019-08
51-100075-03
71-100007-00
91-000008-00

APRON CE
52-100016-00

Description

Bottom Arch

Wire Rail

8-32x1/2" MS

Decal Apron

Decale Skill Shot

Bottom Arch Rubber Plug
Single RGB W/ PCB
#4-50 x 5/16” MS

Price Card

Instruction Card

Action Buttion LED Cable
#8 Flat Washer

RGB W/ PCB

BRKT LED BD Tray

4-40 x 3/8” MS

RGB Floodlight Cable 24”
Mylar Protector, Left
Mylar Protector, Right
Solenoid Gate Assy.

CE Signature Card

8-32 Nylon Stop Nut

GUNS N ROSES

Qty

NRRPRRPRRPRRPRRPRPRPWRRPRRLRNRRRLRRLRDNRR

117



COMA BALL LOCK DOWN POST CE

/B\ NOTE: 51-100020-00
ORIENTATION OF LEADS ON COIL

VAN

Item Part Number Description Qty

1 10-007000-00 Coil Retaining Bracket
10-100060-00 Main Bracket
11-100015-00 Plunger
13-007004-00 Spring

23-000003-00 23-800 Coil
30-000014-28 1 3/4” Coil Sleeve
80-000008-04 8-32x1/4” MS
94-004011-14 E-Ring

O NOUD WN
P AR R RREPRRERN

GUNS N ROSES 118



Item

coONO U WN

Part Number

10-100141-00
32-100007-00
80-006308-08
15-100008-00
30-100010-00
82-000004-08
19-100098-00
30-000051-04

HAT ASSY
51-100080-00

Description

Bracket

Hat

8-32x1/2” MS

RGB Gl

Spacer

4-40x 1/2” MS

RGB Gl Extension Cable
4” Wire Tie

Qty

WhRRPRRRNPRPR

Item

W

SINGLE COIL MAGNET
51-100012-00

Part Number

23-100000-00
10-100035-00
11-100008-00
91-100000-00

Description

Coil
Bracket
Core
Hex Nut

Qty

R R R R

GUNS N ROSES 119



Part Number

30-100060-10
30-100060-22
30-100060-20
30-100060-18
30-100006-19
30-100060-17
30-009000-12
91-000008-00
30-000034-03
15-100008-01
10-000227-01
32-100008-00
80-002008-08
91-000108-00
93-000000-00
92-000004-00
19-100097-00
91-000104-00
80-002104-06
80-000008-28
80-002008-10
30-000049-08

ROCK STAGE SE

51-100123-00

Description

Stage Floor

Duff Stand Up
Slash Stand Up

Ball Trap Verticle
Ball Trap Horizontal
Stage Front

Clear Post

8-32 Stop Nut
Ramp Light Rod
RGB Gl

Mounting Bracket
AXL Sulpture
8-32x1/2" MS
8-32 Nylon Stop Nut
1/8” x 7/32” Rivet
#4 Flat Wasaher
RGB Gl Cable

4-40 Nylon Stop Nut
4-40 x 3/8” MS
#8-32 x 1-3/4” MS
#8-32 x 5/8” MS

Cable Clamp, Open 1/2”

GUNS N ROSES

Qty

N R RPDMDDMNRRRRRRRR

N
=

1

N R R R DR

12



Item

OCoONOOUVL P WN R

PR R R R RRRR R R
CoONOODUEADWNERO

FLIPPER ASSEMBLY, RIGHT
52-000121-00 BOTTOM

Part Number

10-005001-00
10-000018-00
10-007001-00
30-009002-00
51-005018-00
18-000001-00
13-007001-00
90-004010-06
92-001010-00
80-000008-05
80-001006-04
80-000006-06
91-000006-00
23-002002-00
23-002003-00
30-000014-35
10-007002-01
25-009001-00
82-000006-08
91-006000-00

52-000131-00 TOP

Description Qty

Base Plate, Right

EOS Bracket

Coil Stop

Bushing

Plunger, Pawl and Link, Right
EOS Switch

Return Spring

10-32 x 3/8” Screw

#10 Split Washer

8-32 x 5/16” MS

6-32 Nylon Stop Nut

6-32 x 3/8” MS

6-32 x 1/4” MS

FL-11629 Top Flipper Coil
FL-15411 Bottom Flipper Coil
2-3/16” Coil Sleeve
Centering Bracket

Bumper Plug, Black

#6 x 1/2” SMS

Tinnerman Nut

P NP PRPRPRPRPWOWWUNNNNRRRRERRR

GUNS N ROSES

121



] T

!

Item

OCoONOOUVL P WN R

PR R R R RR R R R
OCoONOOUDAWNRO

FLIPPER ASSEMBLY, LEFT

Part Number

10-005002-00
10-000018-00
10-007001-00
30-009002-00
51-005018-01
18-000001-00
13-007001-00
90-004010-06
92-001010-00
80-000008-05
91-000006-00
80-000006-06
80-001006-04
23-002003-00
30-000014-35
25-009001-00
10-007002-01
82-000006-08
91-006000-00

52-000132-00

Description

Base Plate, Left

EOS Bracket

Coil Stop

Bushing

Plunger, Pawl and Link, Left
EOS Switch

Return Spring

10-32 x 3/8” Screw

#10 Split Washer

8-32 x 5/16” MS

6-32 x 1/4” MS

6-32 x 3/8” MS

6-32 x 1/4” MS

FL-15411 Top Flipper Coil
2-3/16” Coil Sleeve
Bumper Plug, Black
Centering Bracket

#6 x 1/2” SMS
Tinnerman Nut

Qty

P NP RPPRPRPNWNNNNRRRPRRPPRPR

GUNS N ROSES

12



52-000151-00 - FLIPPER ASSEMBLY, RIGHT, EXTENDED BUSHING - (SHOWN)

UPPER PLAYFIELD FLIPPER ASSEMBLY RIGHT

Item Part Number

1 51-000001-4X
2 23-002000-00
3 30-000014-35

LE & CE
52-000151-00

Description Qty
Extended Bushing 1
FL-11722 Coil 1
2 3/16: Coil Sleeve 1

GUNS N ROSES

125



Item

OCoONOOUVL P WN R

NN R R RRRRRRR R
P OWLWOONOOUEAWNRO

Part Number

10-100128-00
10-100129-00
10-100138-00
11-100027-00
13-100014-00
13-100015-00
25-009009-00
30-100034-00
62-100018-05
62-100018-06
62-100018-07
80-000002-14
80-000004-16
80-002008-08
91-000002-00
91-000004-00
91-000008-00
92-000002-00
92-000008-00
92-000008-00
92-001012-00

BASS HEAD ASSY

LE & CE
52-100082-00

Description

Mounting Plate
Scoop

Kinetic Diverter
Post

Right wireform

Left Wireform
Mylar Dots

Bass Head

Decal

Decal

Decal

2-56 x 7/8” MS
4-40x 1" MS

8-32x 1/2"” MS

2-56 Nylon Stop Nut
#4-40 Nylon Stop Nut
8-32 Nylon Stop Nut
#2 FLat Washer

#4 Flat Washer

#8 Flat Washer
Wave Disc Spring

Qty

WHAWWOAWWNWWRRRPRRERNRPRERWWRPR

GUNS N ROSES

14



Item

[N
HO&DOO\IO\U‘I#UJNI—\

NN R R RRRRRR
P OWLWLOoONOUD WN

POPUP DIVERTER ASSY

Part Number

10-1100018-00
10-100140-05
10-100140-04
10-100140-01
94-004011-14
23-002000-00
10-100140-00
30-000014-35
10-007008-00
90-004010-06
92-001010-00
10-100140-02
92-000006-00
92-001006-00
11-100028-00
90-004006-06
10-100140-03
91-000006-00
90-004010-08
91-002010-00
19-100058-00

LE & CE

51-100063-00

Description

Spring

Main Bracket
Soleniod Bracket
Diverter

E Ring

FL-11722 Coil
Adjustment Plate

2 3/16” Coil Sleeve
Coil Stop

10-32 x 3/8” Screw
#10 Split Lock Washer
Jam Plate

#6 Flat Washer

#6 Split Washer
Shaft

6-32 x 3/8” Screw
Guide Bracket
6-32 Nylon Stop Nut
10-32 x 1/2” Screw
10-32 Flange Nut
Cable (Not Shown)

Qty

P RDORNRPRNNRNNRRRRRERERRR

GUNS N ROSES

15



MOTE COIL TERMINAL ORIEMTATION

Item

OCoo~NOOULLDE WN B

e ol
w N RO

DUAL UP DOWN POSTS

Part Number

10-007004-00
10-100115-00
11-100023-00
13-007004-00
19-100061-00
23-000003-00
30-000014-28
80-003025-16
91-000008-00
91-002025-00
92-000044-02
92-001025-00
94-004011-14

LE & CE
52-100067-00

Description

Centering Bracket
Bracket

Plunger

Spring

Coil Cable

23-800 Coil

1 3/4” Coil Sleeve
1/4”-20 Hex Head Bolt
8-32 Nylon Stop Nut
#1/4”-20 Flange Nut
7/16” Flat Washer
1/4-20 Split Washer
E Ring

Qty

NNNNONNNENNRESD

GUNS N ROSES

1%



Item

OO NV WN R

PR R R R RR R R R
OCoONOOUDAWNRO

6 - BALL TROUGH ASSY

Part Number

10-005010-01
10-005010-00
10-007000-00
10-007006-00
11-005012-00
13-007005-00
15-100002-00
15-100004-00
19-009019-00
23-000010-00
25-009001-01
25-009001-00
25-009006-00
30-000014-30-1
80-002006-10
80-002008-14
91-000008-00
92-000006-00
94-003002-00

51-100022-00

Description

Coil Bracket

Main Bracket

Coil Retaining Bracket
Coil Mounting Brkt
Plunger Assy.

Spring

Transmitter Board
Reciever Board
Power Cable (Not Shown)
26-1200 Coil

Bumper Plug, Blue
Bumper Plug, Black
Rubber Grommet

1 7/8” Coil Sleeve

#6 x 5/8” MS

#8-32 x 1/4” MS

8-32 Nylon Stop Nut
#6 Flat Washer
Bushing

GUNS N ROSES

Qty

DD R ORRPRRPRPRRPRERRERRRERRER

1Z



LILT

Item

OCoONOUL P WN B

PR R R R R R R R
oNOOUL P WNEO

AUTO-LAUNCH ASSY
51-000026-00

Part Number

10-005009-00
18-003001-00
70-009002-00
10-000024-01
10-000028-00
23-000003-00
30-000014-28
13-007004-00
80-002102-08
10-007009-00
10-007005-00
13-009002-00
95-002651-20-67
62-000002-00
80-002006-04
90-004010-06
92-001010-00
11-005000-00

Description

Coil Bracket
Microswitch

Fish Paper
Protector Plate
Crank Bracket
23-800 Coil

1 3/4” Coil Sleeve
Spring

2-56 x 1/2” MS
Centering Bracket
Coil Stop

Hairpin Clip

Flat Washer
Decal

6-32 x 1/4” MS
10-32 x 3/8” CS

#10 Split Lock Washer

Plunger, Link Assy.

Qty

P NNNRPRRNRPRPNRPRRRRRRRAR

GUNS N ROSES

128



Item Part Number

1 10-005004-00
2 30-000014-28
3 23-000003-00
4 10-007000-01
5 91-000006-00
6 13-007004-00
7 11-005003-00
8 10-000042-00
9

SLINGSHOT ASSY
51-000003-00

Description
Coil Bracket

2 1/16” Coil Sleeve

23-800 Coil
Centering Bracket

6-32 Nylon Stop Nut

Spring
Plunger, Link Assy.
Crank Assy.

95-002651-20-67  Flat Washer

10 10-000043-00
11 13-009002-00

Crank Mounting Brkt

Hairpin Clip

Qty

N R R RPRRRNRRRR

Item

No o wN

PLAYFIELD SUPPORT ASSY.

Part Number

10-000093-00
10-000280-00
25-009008-00
80-000006-04
80-007010-28
91-000011-00
94-001406-16

51-100001-00

Description

Support Tube

Foot Bracket

Rubber Spacers

6-32 x 5/16” MS

10-24 x 1 3/4”MS

#10-24 Nylon Stop Nut
#6-32 Female Hex Spacer

Qty

P WWOERLNPRE

GUNS N ROSES



Item

1
2
3

PLAYFIELD CONTROLLER BOARD ASSY
51-000103-05

Part Number Description

10-005035-00 Mounting Bracket
15-100019-00 Playfield Controller Board
80-002104-08 4-40 x 3/8” MS

QRN

OPTO BOARD ASSY
52-100008-00

Part Number Description

10-005020-00
15-100005-00 OPTO Board
80-002104-08

Mounting Bracket

4-40x 1/2” MS

GUNS N ROSES

Qty

o

13



RECORD ASSEMBLY
51-100058-00

Item Part Number Description Qty
1 10-000254-11 Height Adjustment Screw 1
2 10-100097-00 Bracket 1
(20} \‘B 3 11-100033-00 Shalit ; 1
T 4 18-005000-00 U-Shaped OPTO 2
T 5 19-000013-22R Crimp Pin 8
6  25-002004-03-13  3/16” Mini Post Ring 1
7 30-000121-11 Bushing 1
8 30-000121-12 Jam Nut 1
9 30-002011-04 Cable Connector 2
10 30-009004-13 1 1/16” Clear Post 1
11 30-100032-00 Disk 1
12 62-100017-XX Decal 1
13 80-000004-06 4-40x 3/8” MS 4
14 80-000008-28 8-32x13/4” MS 1
15 80-002008-06 8-32 x 3/8” MS 1
16 80-006208-08 #8-32 x1/2” MS 1
17 83-001008-06 #8 x 3/8” Screw TF 3
18 83-001008-08 #8 x 1/2” Screw TF 2
19 91-000008-00 8-32 Nylon Stop Nut 1
20 92-000008-00 #8 Flat Washer 2
=, 21 94-003017-01 #8 Round Spacer 2
@j-.__q__h 22 96-000003-04 Sleeve Bearing 2
III
(D
-ﬂ_mg

GUNS N ROSES

131



Item

OCoONOULL P WN B

PR R R R R R R
NOuUhDWNRO

Part Number

10-100167-00
23-000003-00
11-005012-00
13-007002-00
30-000014-30-1
25-009001-00
80-001008-04
10-007000-00
10-100167-01
18-003005-00
110-000002-0OT
80-000002-07
10-000024-00
91-000008-00
19-100087-00
19-100090-00
70-009002-00

SAUCER VUK

51-100104-00

Description

Bracket

23-800 Coil

Plunger

Spring

1 7/8” Coil Sleeve
Bumper Plug, Black
8-32x 1/4” MS
Centering Bracket

Coil and Switch Bracket
Rollover Switch

Diode 1N4401

5-56 x 7/16” MS

2-56 Nut Plate

8-32 Nylon Stop Nut
Coil Cable (Not Shown)
Switch Cable (Not Shown)
Fish Paper

Qty

PP P NRPRNRPRPRPRPRNRRLRRLRRRR

GUNS N ROSES

132



RED WIRE [BLACK WIRE

VUK ASSY. LE & CE
51-000009-00

i

Item Part Number Description Qty

1 10-005005-00 Bracket

2 10-007004-00 Centering Bracket

3 11-005001-00 Plunger

4 13-007005-00 Spring

5 91-000008-00 8-32 Nylon Stop Nut
6 23-000003-00 23-800 Coil
7
8
9

25-009001-00 Bumper Plug, Black
30-000014-30-1 1 7/8” Coil Sleeve
Order Item 10 Part of #10
10 99-050013-00 OPTO Pair With Connector, 24”
11 83-000006-06 #6-32 x 3/8” MS

PR ORRPRRLPRNRRRR

GUNS N ROSES 133



SO EXPLODED VIEW

Item
1

No o b wN

UPPER PLAYFIELD BALL GUIDE ASSY.

51-100183-00 LE
51-100083-01 CE

Part Number Description
12-100026-03 Ball Guide
10-000024-01 Protector Plate
10-000024-00 Nut Plate
18-003003-00 Microswitch
70-009002-00 Fish Paper
80-002002-10 2-56 x 5/8” MS
See Table Ball Trap Plastic
ITEM # 7
LE 30-100048-18
CE 30-100057-18

GUNS N ROSES

Qty

P NP, R R R BR

1



LEFT RETURN LANE ASSY. RIGHT RETURN LANE ASSY.
51-100106-00 SE & LE 51-100106-01 SE & LE
51-100147-00 CE 51-100127-01 CE

APPLY LOCKTITER
TO THREAD BEFORE ASSEMBL

O

1 . 5

Item Part Number Description Qty
1 12-100025-06 Flatrail Left Lane

Item Part Number Description Qty
1 12-100025-07 Flatrail Right Lane

1
1
2 30-000083-04 S 4
pacer . 2 30-000083-04  Spacer 6
3 See Table Left Flipper Guide 1 ) . .
6 95-001518-10 5/16” Female Hex Spacer 1
:S-II-EEMth_aE 30-100048-02 ITEM # 3
CEEIn 20-100057-02 5E and LE 30-100048-03
- CE 30-100057-03

GUNS N ROSES 1%



HIGH HAT ASSY. LE & CE
51-100092-00

USE LOCTITE 243 OM #&

RUN #5 DOWN TO THREAD LIMIT @ e —

@ USE LOCTITE 243 ON ITEM #3 ONE SIDE TO-CONNECT TEM 4

Item Part Number Description Qty

1 51-100086-00 Mounting Bracket
10-100146-00 Cymbal

94-000406-16 1/4” x 1” Hex Spacer 6-32
11-100029-00 Shaft

91-000006-00 6-32 Nylon Stop Nut
91-000206-00 6-32 Acorn Nut

oD wN
R R R R R R

HIGH HAT MOUNTING BRACKET ASSY. LE & CE
51-100086-00

Item Part Number Description

1 10-100147-00 Bottom High Hat
2 11-100030-00 Spacer
3 10-100148-00 Mounting Bracket

GUNS N ROSES

Qty

N

1%



CYMBAL ASSY. LE & CE
51-100092-00

UPPER CENTER LOOP RAMP ASSY.
51-100076-00

BLUE LOCTITE ON ITEM 5

NOTE THAT THERE SHOULD BE SOME
PLAY AFTER APPLICATION OF ITEM
5. CYMBAL MUST BE ABLETO
"WIGGLE" FREELY.

RUN #4 FULL THREAD ON #3
ROUNDED SIDE OF NUT UP

Item Part Number Description Qty Item Part Number Description Qty

1 10-100146-00 Cymbal 1 10-100099-00 Upper Loop Ramp
94-001406-10 1/4” x 5/8” Hex Spacer 6-32 2 11-100025-00 Transition Flap
11-100029-00 Shaft 3 93-000002-00 1/8” x 3-16” Rivet
91-000006-00 6-32 Nylon Stop Nut
91-000206-00 6-32 Acorn Nut
10-100149-00 Mounting Bracket

N R

oD WwWwN
R R R R R R

GUNS N ROSES 157



RIGHT RAMP GATE ASSY. LEFT RAMP PEAR MOUNT
51-100122-00 51-100087-00

Item Part Number Description Qty Item Part Number Description Qty
1 10-100184-00 Right Ramp Gate Brkt 1 1 10-100153-00 Mounting Bracket 1
2 13-100021-00 Wire 1 2 95-001508-16 5/16” x 1” Hex Spacer 8-32 2

3 80-002008-06 8-32 x 3/8” MS 2

GUNS N ROSES 138



INNER BALL TROUGH ASSY. CE USB CAMERA ASSY.
51-100100-00 51-005041-00

-
-

-

-

»
/’/’
///

Item Part Number Description Qty Item Part Number Description Qty

1 12-100025-04 Flatrail 1 15-115034-00 USB Camera, 1 MP, 720P
2 80-000004-04 4-40 x 1/4” MS 10-000226-00 Bracket

3 15-100008-00 RGB Gl 3 80-000002-04 2-56 x 1/4” MS

R
N
DR R

GUNS N ROSES 139



Item
1

2
3

SSD BACKBOX MOUNT

51-005044-03

Part Number
15-000003-03

10-000209-00
80-001003-03

Description Qty

Solid State Drive
SSD Mounting Bracket
M3 x 5MM

Item Part Number

1 10-100065-00
2 23-100003-00
3 80-006008-12

AN -

MONITOR MAGNETIC LATCH
51-100050-00

Description Qty
Bracket Screen Lock 1
Magnet 1
#8-32 x 3/4” MS 1
GUNS N ROSES

40



Item
1

Uk, WwWwN

27" LCD MONITOR ASSY

Part Number

10-000206-07
10-100069-00
17-000000-02
62-100012-00
80-002006-04
91-002025-00

51-100021-00

Description

27" LCD MTG Plate
27” LCD MTG Bracket
27” LCD Panel

PULL HERE Decal
#8-32 x 1/4” MS
#1/4” - 20 Flange Nut

BACK SIDE VIEW

GUNS N ROSES

Qty

N B NR R R

21|



Item
1

2
3

DOOR & INTERLOCK SWITCH ASSY.
51-000035-00

i

X

°
<

\J

Part Number Description Qty Item
10-000089-01 Mounting Bracket 1 1
18-003007-01 Coil Interlock Switch 1 2
18-003008-00 Coin Door Switch 1 3
4

LINE FILTER BOX ASSY.

Part Number

10-000009-00
22-000000-01
80-002006-06
91-001006-00

51-005023-00

O O
FRONT VIEW
Description Qty
Mounting Bracket 1
Line Filter with Resistor 1
#6-32 x 3/8” MS 2
#6-32 Keps Nut 2

GUNS N ROSES 142



Item

A wWwN

ACTION BUTTON, LOCKDOWN ASSY.

Part Number

10-000167-10
18-003015-00
80-002104-08
19-003107-10

51-000066-10

Description

Mounting Bracket
Switch

4-40 X 3/8” MS
Cable (Not Shown)

Qty

RN R R

Item

u b wnN

HEADPHONE & BLUETOOTH ASSY.

Part Number

10-100168-00
15-100025-00
18-003006-01
80-000006-04
19-003115-01

51-000035-00

Description
Mounting Plate

PCB

Volume Switch

6-32 x 1/4” MSS
Harness (Not Shown)

Qty

1
1
1
3
1

GUNS N ROSES

143



CABINET POWER BOX ASSY U.S.
51-006001-02

Item Part Number Description Qty

1 10-000008-01 Power Box

2 22-000001-00 Service Outlet

3 22-008000-00 Line Fuse Holder

4 170-000110-SR Fuse Slow Blow 10A 125V
5 180-000001-00 Thermistor

6 180-000000-00 Varistor
7
8
9

19-001000-18 Wire, 18 AWG, Black
19-003052-00 Jump Wire 18AWG, Black
19-100115-00 Cabinet Power Cable

10 19-003053-00 Jump Wire 18AWG, White

PR PR RRPRRRRR

HEAT SHRINK SOLDER JOINT

GUNS N ROSES 144



Item

2
3
4
5
6
7
8
9

10

CABINET POWER BOX ASSY INT

Part Number

10-000008-01
22-000001-00
22-008000-00
19-001000-18
19-003052-00
19-100115-00
19-003053-00
180-000002-00
180-000003-01
170-000205-SR

51-006001-11

Description

Power Box

Service Outlet

Line Fuse Holder

Wire 18AWG, Black

Jump Wire 18AWG, Black
Cabinet Power Cable

Jump Wire, 18 AWG, White
European Varistor

Varistor European

Fuse Slow Blow 5A 250V

Qty

R R R RRPRRRRR

GUNS N ROSES

145



CABLE LEADS TO PROTRUDE
FROM END WITH SHORTER STUDS

= =—==-== o <==
APPROX. 1 INCH |__ —"'I APPROX. 1.00 INCH
FROM END " FROM END
.ilu 111 +
| i P =

| [ | \I,
H"“‘\; \t

— N

———CABLE LEADS TO PROTRUDE
~FROM END WITH SHORTER STUDS

/Q k::::j_xx %
h“‘:r_;:l ———AFTER INSTALLATION OF LIGHT RAIL BRACKET

WEDGE IN 25-100009-00 TIGHTLY TO PREVENT
BRACKET FROM LOOSENING

Item

aoOuh, bwN

HOT RAIL, SHORT - LEFT SIDE
51-100171-00 - SE
51-100164-00 - LE & CE

Part Number

10-100166-00
25-100009-00
30-100029-00
51-100102-00
51-100136-00
85-009008-08
91-000008-00

Description

Bracket Short

Plug Rubber

Hot Rail, Short

LE & CE RGB LED Assy.
SE White LED Assy
8-32 x1/2” Screw
8-32 Nylon Stop Nut

GUNS N ROSES

Qty

N U R R R R

14b



T TT——CABLE LEADS TO PROTRUDE
— __FROMEND WITH SHORTER STUDS

— AFTER INSTALLATION OF LIGHT RAIL BRACKET
TT—WEDGE IN 25-100009-00 TIGHTLY TO PREVENT
BRACKET FROM LOOSENING

INSTALL NUT ON FIRST STUD \}'
L 1 1

1]
, I u I
APPROX. 1INCH
FE‘OM END

__ CABLE LEADS Td' PROTRUDE
~ FROM END WITH SHORTER STUDS

Item

NoubhbwnN

HOT RAIL, LONG - RIGHT SIDE

51-

Part Number

10-100166-01
25-100009-00
30-100030-00
51-100102-01
51-100136-01
51-100103-00
85-009008-08
91-000008-00

51-100170-00 - SE
100165-00 - LE & CE

Description

Bracket Long

Plug Rubber

Hot Rail, Long

LE & CE RGB LED Assy.
SE White LED Assy
Shooter lane Rail Assy.
8-32 x1/2” Screw
8-32 Nylon Stop Nut

GUNS N ROSES

147

Qty

R R R R R



PRESSED ON
WITH ATOOL

APPLY LOCTITE 425
SUBSTITUTION MUST
BE APPROVED BY

ENGINEERING

Item

OCONOUDNWNERR R

=
o

LOCKDOWN BAR ASSY. WITH BUTTON

51-100101-01- SE 51-100101-00 - LE

Part Number

10-000282-02
10-000282-01
10-000282-04
62-100019-10
61-009003-01
61-009003-00
30-000124-13
30-000126-00
94-100000-00
80-000008-08
32-100010-00
61-009014-00

51-100134-00 CE

Description

SE Lockdown Bar

LE Lockdown Bar

CE Lockdown Bar

Mylar

Foam Tapel.5 Inches
Foam Tape 21.0 Inches
Flipper Button

Spacer

Push Nut

8-32x 1/2" MS

CE Sculpture (Not Shown)
CE Sculpture Tape (Not Shown)

Qty

U R R R RPRRRERNNRRR

GUNS N ROSES

148



BALL SHOOTER ASSEMBLY
51-000092-09 SE 51-100092-08 LE

Item Part Number Description Qty

1 10-000025-00 Cabinet Mounting Plate
2 11-000007-00 Shooter Rod

3 14-000001-11 SE Ball Shooter Housing
3 14-000001-22 LE Ball Shooter Housing
4 13-007007-02 Power Spring

5 13-007006-00 Outer Spring
6
7
8
9

25-009003-00 Shooter Rubber Tip

30-000021-00 Sleeve

94-004011-12 E-Clip
95-002564-58-16  Washer

W R R R RRRRR R

GUNS N ROSES 149



10

{)

Item

OCoONOOUVL P WN R

e =
U D WNRO

BALL SHOOTER ASSEMBLY

Part Number

11-100034-00
13-007006-00
13-007007-02
14-000002-01
25-009003-00
30-000021-00
94-004011-12

95-002564-58-16

32-100009-00
83-001008-10
82-000106-08
80-000106-06
10-100190-00
10-100190-01
91-000108-00

51-100131-01 CE

Description

Shooter Rod
Outer Spring
Power Spring
Shooter Housing
Shooter Rubber Tip
Sleeve

E-Clip

Washer

Skull Cover

#8 x 5/8” Screw
#6 x 1/2” SMS
6-32 x 3/8” Screw
Bracket

Bracket

8-32 Stop Nut

GUNS N ROSES

Qty

P R R RPRRPRNRRRRRRRRR

130



Item

coONO UL WN

RUBBER SILICONE RINGS

Part Number

25-002001-02
25-002002-02
25-002004-03-13
25-002004-12-13
25-002004-24-13
25-002004-32-13
25-006005-06-13
25-006012-13

Description

Flipper 1-1/2”, Red

Mini Flipper 1”, Red

3/16” Mini Post, Clear
Silicone Ring, 3/4”, Clear
Silicone Ring, 1 1/2”, Cl;ear
Silicone Ring, 2”, Clear
3/9” Mini Post, Clear

Post Sleeve, 1 1/16”, Clear

GUNS N ROSES

151



ot

e

y 8
’ \ .
o9

.
»

T-NUTS BOTTOM

Item Part Number Description

1 91-004010-00 #10-32 T-Nut Flanged
2 91-004008-00 #8-32 X 1/4” T-Nut Flanged

. \
() l .

S

l :

TR

. .
*

GUNS N ROSES 12

Qty

45



)]
~ o) P
9]
o)
O o
- o)
- N 50
) 4 .\ oo ] -
O N AN o o®
o .C_ o
hefe]
/
8}

O

5 -
. \
8]

.

/ “

I N

Item

Part Number
91-004008-00

T-NUTS TOP

Description
#8-32 T-Nut Flanged

GUNS N ROSES

15

Qty
10



(207
\

By

B) \

(22— ©

(1a)

Item

OCoONOOUVL P WN R

NNRNNNNNRRRRRRRRR R
DU PWNRPOOLOMNOOULDWNERO

FLAT RAILS, DEFLECTORS

Part Number

12-100025-01
12-100025-05
12-100025-08
12-100025-09
12-100025-12
12-100025-13
12-100025-00
13-003000-03
13-003000-06
13-003000-08
13-003000-11
13-003000-12
13-003000-40
13-003000-00
13-100003-28
13-100006-00
13-100007-00
13-100013-00
13-100017-00
51-100065-01
51-100065-00
51-100076-00
51-100077-00
51-100078-00
51-100106-01
51-100106-00

AND WIRE FORMS

Description

Inner Shooter Lane
Laner Diverter, Left
Upper Right

Center Left

Left Outer

Outhole

Main Orbit

1.38” Straight Ball Guide
1.75” Straight Ball Guide
2.00” Straight Ball Guide
2.38” Straight Ball Guide
2.50” Straight Ball Guide
6.00” Straight Ball Guide
1.00” Straight Ball Guide
1.25” Straight Ball Guide
Wire Rail

Wire Rail

Left Ramp Return Switch
Top Right Ball Guide
Snubber Bracket, Right
Snubber Bracket, Left
Upper Loop Ramp, Center
Upper Ramp Loop, Inner
Upper Ramp Loop, Center
Return Lane, Right
Return Lane, Left

GUNS N ROSES

1

Qty

P R R RPRRPRPRRPRRPRRPRRPRRRRRRRRRRRRRRERRERER



BOTTOM SUPPORT RAILS
AND BRACKETS

Item Part Number Description Qty
1 10-000013-01 Support Bracket

2 11-007001-10 Hinge Bracket
3 51-100001-00 Support Tube

N NN

GUNS N ROSES 13



REFERENCE DIAGRAMD &
SGHEMATIGS

GUNS N ROSES 156



6-Ball Trough Opto Receiver Board
15-100004-00

Jersey Jack Pinball s 15-100004-00 Ball Trough Opto Receiver Bd

(C>2020 0 [Rev D]
JERSEY (U
JACK

PINBALL /
§ C

o7 m

m e
E

| D7

R2Z7 RA7 iiiiiii] Hiiiiii

cz W ct Wl

J1 Switch Inputs

Pin

1 Black/ Green Column 1 From |/O Board J201-1

2 White /Blue Row 7 from 1/0 Board J200-7 J2 Power Input

3 White / Black Row 1 from I/O Board J200-1

4  White / Brown Row 2 from 1/O Board J200-2 Pin

5  White / Red Row 3 from 1/0 Board J200-3 1 Black Ground from ATX Power Supply
6 White / Orange Row 4 from 1/O Board J200-4 2 Red  +5VDCfrom ATX Power Supply
7  White / Yellow Row 5 from 1/O Board J200-5

8 White / Green Row 6 from 1/O Board J200-6

9 White / Violet Row 8 from 1/O Board J200-8

10 Key

GUNS N ROSES



6-Ball Trough Opto Receiver Board

15-100004-00

U2

1; GND  VCC };
6A 6Y pd—
1L S5A 5Y p——
9cf 4a 4y |2
5 ¢
R38 10K | 2 |
2A 2Y
R3] 10K N el Qs
SN74HC14D
v
© Dig| ~
= 5
100nF DA bLs 4
D13]
D12 |
D11
Dlolg bl
DIl
<
5V ul
7 14
GND vee
R36 10K [EN I 6y 112 k/ oY
10
R3S 10K TN N oy |10 Ra2 3 1@‘ Q
R34 10K, 9 4a a4y -2 )
R33 10K ; 3 3y 3 kS K/ 22204
R32 10K Q
24 2y
R3l 10K [N M R41 B 2
L | IK
SN7THCIAD 22228
2
R21 R22 R23 R24 R25 R26 R27 R28
56 56 56 56 56 56 56 56
QR7 QIR6 QRS QR4 QR3 QIR2 QIRI QRS
< SD123 K SD123 SD123 K SD123 < SD123 < \QSD123 SD123 SD123
3 3 3 3 3 3 3 3
Q1 /“ Q2 /‘ Q3 /‘ Q4 /“ Qs /" Q6 Q7 Q8
lp 1 |:’ WA WA 1 |:’_ V[ |- | 3
\\f 22224 L‘! 22224 \f 22224 kf 22224 b 22224 \\_f 22224 22224 /22220 &
9 2 2 b 2 b 2 2 T
L 1
FI :‘2
A 4 h 4 A 4 A 4
DI D3 D6 D7 D8 2
|4
X
D20

GND

GUNS N ROSES

WA U 00

3



6-Ball Trough Opto Transmitter Board
15-100002-00

JERSEY 'f-l
JACK
PINBALL IR4

IR3

o

4 4
; gi\I{ID RIA AN 18 N N
J100 Power Input 3100 e I
2 4
Pin A Dt )
1 Black Ground from ATX Power Supply
2 Red +5VDC from ATX Power Supply /4 4
A + +
IRS IR6
R4 N’y
13; IR7 4’
33 ]RHS

Q
2z
[~}

GUNS N ROSES



J9 Switch Inputs

Pin

Black / Green
White / Blue
White / Black
White / Brown
White / Red
White / Orange
White / Yellow
White / Green
White / Violet
10 Key

OCoo~NOOULLDE WN B

Opto 10 Board
15-100005-00

qu

R21-W W Dy

D16 R41 R42

J1 BLK I J2 BRN

LJI_.D’

J3RED

E @0*

R43 -~ R44

E ot
= OO Ll = 3
III m |II N Iil_f J L
Q10 !

Column 1 From 1/O Board J201-1
Row 7 from 1/O Board J200-7
Row 1 from I/O Board J200-1
Row 2 from I/O Board J200-2
Row 3 from I/O Board J200-3
Row 4 from |/O Board J200-4
Row 5 from I/O Board J200-5
Row 6 from I/O Board J200-6
Row 8 from 1/O Board J200-7

J1-J8 OPTO Inputs

Pin

1 5vDC
2 5VDC
3  Ground
4 Input

IJSYEL BGRNJTBLU
N Q5 m Q6 m Q7 m
gl por= o] per="la] per

R25 .M B D5 R2p R27 -
D1t R46 p1p R47 D@ R48
= [ .

| 1]

D12 R45

=

Power Input
Pin
1 Red +5VDC from ATX Power Supply

2 Black Ground from ATX Power Supply

1

J8 VIO

EQB m

R23 .1 =

GUNS N ROSES

16D



Opto 10 Board
15-100005-00

vee
cc SV Fused
PWR
1 FI
3 .
2-Pin Mal 34
DI7
GND
o =
2 2
- v v
1000 T D18 g
R
100
L
GND
SV Fused
ul
3
R31 10k — - = 1a g
2 = - =N 2y
R’ 10k — = ; 3A 3Y
A ay
/55
Tok = 1] & |0
- B e oy |5
G vee H4
SNTAHCTAD
SV Fused a
1000
vz
R37 10k : NN w2
R3S 10k =15 2y |4
S VN 3y [ S—
2] 4a ay [ S—
sA sy [0
A
GNp  vee 4
5V Fused NAHCTAD
. «
g g g g I g g
RI 2 RS R4 RS R6 R7 RS
33 33 33 33 33 33 33 33
] ] 3 3 e ]
n_ . n_ s 36 m_ ®_
Q1 ) @ Qi ) Qs Qs Q7 Qs
ha22a 22204 ha2A 2222 R222A 22224 ha2a
2
Z Z z

1
D16 g Diode IN 2 Vo
3 BLU
D14] g Diode | 4 GRN
4 ] DI3 5 | YEL
DI2| g Diode | 6 O
) D 7 RED
\J on < D9 | g Diode 5 ﬁfﬂ
2224 3 b
~« — 10
2)

: | Qi2
22224 9

@&

Q13
22224

N
4

F.
N2
2

3

RA4 Ik
R15 Ik
RAG 1k
R47 Ik
R4S Ik

=

=
Na-?

Ql6
2224

GUNS N ROSES

161



Playfield Controller Board
15-100019-00

ion - HRANARA
B R ]

Fi

'
T

. Illll|l||.|:]._.:-:.;-

= Bt s ‘@

SEENNN ¢ oo CWREN S

; r—t
! B "
iml SUE 0187

-8 o=

- —
Tz |

Power Input

Pin

1 Red +5VDC from ATX Power Supply
2 Yellow +12 VDC from ATX Power Supply
3 Black Ground from ATX Power Supply

GUNS N ROSES 162



GND.

Playfield Controller Board

15-100019-00

o
VIN rB—L-
EN INeo? s
s
sw_our—L
o
s
2] 3 s
(' ne . )
VRasa Diodds i Temiion br mli-op RS4850 Terminaonformals-dop RSA85/422
USB HUB I
I o .
Ly
Servo Power and Output uns .
™ e JRO6 R97
B RNer o 556 &Y
B Boost
e ppa
SW_OUT: 2 ! RS
o0 . “ 2 s 5
X T Ls o
. 4 MO g [ — RRAIL
sery sv bioisors
fevy 1 R DicddSBI0ISOTA
2
o £ i
3 I
s
" sposn
o
> w9
2
= = I 5MHz Lighting Bus & 400KHz Acc Bus e
Lot
“OVRCURL
orrm— [tk
ey w0
— Twro —
PE—1H] ovreura .
o i EBS 5 SMDAT P
or2 et
R ey DA N =
Vi S JD0TS ==
. TOSEaBVR o v 3 iz onse iy swaxs
XP L USDAL I °
(oaLE o Wiy s ey
{2 USDAN 5 scr z -
= g preries ST26C315 CHOS quad s diflu e i
= SDAO: 87
5
AaND . = _
e A 2 SMD Auminum Electrolytid :x usec
ST DiotqsBIOISOTA :
i o - —]
I LA T 156
185
v \
. H oo VDo)
ST PN i S 1 o)
. w Dspar m 15
B o & . Dicts
v emppor Vs DSCiM
o Jhou T oot
L1 s
amule
amar
sMa N
ek
oAt v
T
00K N
SAM ACC Controller
SAM4 Lighting Controller s0KCIK P
v
CEl PBI3DACO
= DDMTRI0
DopPBIL
o { piupact
o T <] Pnoaa
Az T s —; sMzLED prm— v 177
N s s o] PRYADS
Yo pr— ]
. STATLED x| ] Fraserniz o L
TRV s
= v o P - oo 5
. ‘Eui )T" XINPGMCKPR. ACCERG
. 3
sy T
ATSAMGSSTIOA-AUT
2 1 Py a,
2 1 Sl TvsswoiorBe nes 1] vmarmes
£ AR P ey o S
R Z<cin <o { ] mommacesworss s B o i
| Cop 00w 25V Frcicrotyic s (213 7 o o £
Cop 10T 25V letectolie V(213 Tl 7 o e ] a5 P SN SRV (CRYSTAL 2 7680KI17 12,59 SMD
— NRST e . sir sv orn
=, S Vopour . s i 2 o gz
[ e g z orrig
Gy » ot
£ vopout
o
£ 2] o
o 2] mwxour
33V ATSAMASSDA-A e
> opT1 S
G ST o Rio. 2 Gss b
TEST IR P2 P
e SFI o2 Rip 55 or
o Setacyd RA7 JRas.
un OSN3
o
opour o e —
VoDCoRe i G SERT
VbocokE D20 m = s fuse
VDDCORE vy PBI0 *
ol z
iz Forr 4
B rouT]
BIS i I
voorLL E [Sleor T

ATSAMASIZDA

T toor

T
L pow

vnuswon v R

GUNS N ROSES



1/O PCB ASSY.
15-004001-01

1 10 1 10 1 10 1 10 1 IID :lI 10 1 10 1 10 :lI
coomooooon mﬁlnmnnnnnnntlluuwwwn| ooooomoooolfl ||:||:n:||:||:||:||:||:|:|ll!] oooooooomo|] [Coocoooomoao] UDDDDDIDDDII_'

J604 J603 1602 J601 J109 J113 J112 J111 J110

J200

= o

?

1202
1

9

J201

o

@

flooooooomo 'Eﬂﬂﬂﬂﬂ.ﬂﬂ

1

?

J108

1107

J106

J105

i 4 1 7 1 5 oooomRDDOOOO

ooomoOooooOoO|

oomODODOOODO

OomO0O0OOoOOOOO

500l I :

10 1

10 1

10 1

J104

EO0C0DODDODOO

’

10 1

?

J702

(CXXX
= =

?

o

1701

(|oooooo|

?

PWR1 J203 JUSB

GUNS N ROSES

164




1/O PCB ASSY.
15-004001-01
Matrixed Switches
1-14

CPU Communication

5 i o
ZIS ﬂ——l (Switch Monitoring,
Switch Matrix 1-c 0Oz g Device Control)
z = bz oF} =1 cany =
Rows 1-8 2 8 <3k <3 -
Eh ] NGRS PICIEFESSD ., ' S8
— ot Voo Voo 58
Rawl | 1 2 vy Vi n - = 1|5
Rowl | 2 3az TR PAES F]
Rawd | 3 2aa rcs B2 3
Howd | 4 = A4 g RE2 REL M =L
Raws | & Elas E REZ n L =T
Rawt | & Has Ras per[2S
8 s Mini USE
:::m;; : 3 :i - E 15 Cannector
W (a1==]  —
a |- Wenn B o Rast e =
— e 2 asealS
ROOT oG ascalt
10001 o2 28l o [
AN o3 2 Va2
RO0S 1 £ 223en3 REd[
':"J\r;( - s Ei1 o naal=
g\ rra il P
o RAL
10l o E!
e aca 22 i
Data Bus, B[0_7) /
Switch Matrix = = = = 1, o ek
Columns 1-8 Al A A | A e Y sl Cioas
= = ¥, - OLNZE03A 0 BLANKING
1201 ] = = I b11) COM - sl 30| 4 D2 { BLANKING
can [ 2] . . . . 181y FE 2y apf—02
colz | 2 lae e Py S spli .
wiz] 3 Ely = 1l S eof—= =
eole | & Bl =5 o Blen P L
e [ ]
cas | 5 ul, R gl el P Crystal Ball
13 7 12 1
col6 | & | 0 aE CDT4HCT154 B
,zl = w| gal EEY P EE1 ok oe gl = 2 Control
& = = enpf L N2 i GND :': = 1203
tola | & -——J Q8 __3p B2 — 1
Kl + OF1_ alen P L - R
= oEs sl o L p 2
' 3
: A FTTT] M e T o=
2 rd oe? e S eppt 4
= om sl T 2 o
o gl M E 6
= = = A OEL0 10 e 82 pi l-—- T
) ) =2 |12 2 |2 12 |7 |2 PTETUET e S I J_
Switch Matrix B ~ - =  OEL2 13 18 5
-4 L L . r Do 11 5 =] —
Columns 9-16 r'y s rFs rF P |~ 8 E
= = = = OLHZEO3A
1202 I I I i 10 i 4 m
=] 5] 5] (=] oM 1B P —S 0
cola | 2 15 1c 2 py TP ey
eod 1 1 1
ol o ol =/
Cal12 - L ac E 58 - L Q o s — * Not populated
col1a | & Ml W gt o (21] apf— 07
oi1s | B lce T =1 P o
N Hn o g N o
J 11 g
CollS | 8 ac GND|
cass | f— | | N\ 4 OE[L12] -

GUNS N ROSES 165



AN

1/0 PCB ASSY.
15-004001-01
Dedicated Switches
2-14

i i
Mﬂuﬂlul-lulb

TAHCT165
a7
P
FL
T 5
I

+5vﬁ

l:msﬁlu.—mm

FAHCT1RS
ar

roan

cP
FL
o
os
Vo
GND
e

REO3 - = = =
2300 & = & &=
o = i
e = = 3 2 Dedicated
=] b (=3 .
= = = -3 Switch
REDA < S 5 - Returns 1-8
22001 g -; g
= E = = &l
= 2 3 = _I:
TAHCT LGS RGOS 1] =] o =] — 1
14 505
oz naf 2200 7
2ep o2f 3
e be BEOG 4
7 c 4 3007
-7 o D5 : 22001 5
%D& 2 m . 6
Ve ol m REOT 7
D1 2200 8
i e 9
REOL — 10
22001 L
REOD
22001
+5v[\_\
RE23 - = =
22001 a ] 2 [
o = = s = Dedicated
= k=] = =t = = - switch
B ] 3] =
BE24 Returns 9-16
2300 g <§ %
= 5 s = FLJ.’..‘.E
= = = = -
o THCTIEE |, - o 1] B & - ;
—a7 oaf = 2200 -
2 oaft 3
: ol BE26 4
2 S o 2200 5
10 = 5
ra D s [
o7 REZT 7
o L 2200 o
11
] — s
RE21 10
2200 |
RE20
2200

RE43 . . . -
i,{",: @
soaz = = = = Dedicated
A"\ = =] = 2] = =] = ] Switch
g1 - -~ - S Returns 17-24
i Sl sl =S
e - s - 1603
RE45 =
D3 14 2M0 — 2
i3
D2 2 3
4 . 4
D5 o — 5
D&

3 (]
o7 = 7
D1 n = &
Do — 3

bl
v/
REGI o - - -
2l ] B g
Rog = = = z Dedicated
AN sl = B Switch
[ S = S S Returns 25-32
7 S| S| s s
z = = A [ o
REES D |=] v ] =] T i
22003 2
3
4
L
(]
b
a
9
RE6L 10
2200 —
RE&D
2200

GUNS N ROSES

166



N N N\, P
— — TAACIS7A
TANCISTA FANCTSTA ! 1w/ I/O PCB ASSY.
2 Y 3 |
Ve w g': :g Ve [ g': v :E T o
. o Iy o - s o/ 15-004001-01
appt 02 TRIE 42 a0 app— 02 W o3
o op—2 DI B, o ep—2 S Device Control
i4 bry
= 5D = 5D
=] 7 ms FETTIET = 7o 3 eof—ot 3-14
& &) sa 5 &0 — oo /]
I Cr s is), o I Cr - o A
o T 7). b CIT ; .
= 11 :E: 1: - o 11 P ors |
CLE 0 CLK
DEE
DE3
TANCTS — TS |, g
AR |, o A TCE |, o e wp—
bt P Ve T GND wp—o
w0 GMD 0
;D.w LEE N I o2 o W,
,w.w T34 13f apfi—02 I =N TR
= SD.Q_D“/ TRIE 14 0 E . [ g = 5D o
E Yy TRIG 15 =] 7 o 0 o EbE——
&0 ——=y O b f—— .0 0 06
ofE__06 7] LLES ST PO o8 D6 —
gol® 07 TRIE 17 I CR 2 i 1Y
1 s aa] i 0 oF
ot ————10 oE 1 P OE1D
11 TR4D 19 1
Lk ———in LK P
OE7
ora ]
4 ™ ;:-1:15:'-.11D : o
GND 20 i o1
aft o2
o o3
TARCTETE |, oo = ospfi—0d
— — o ‘A o eap—=o8
.'-t-ILT.-:]‘Jw.z 0 A 2 m.-..-m:um P GMD 0 i E;/ 70|08
o
o o ENY ET] il e ENY wi—— a0 o7
TRI? 12 4 m TR&1 12 4 m app—27 1
20 0] 80 D = 5 e oE
ap|t— 03 TRz 13l ap|>— D3 = 5D P e
= 6 o TR 14 c 6 o o eop—5
50 60 = 5D o
=] T ps /S TRa4 15 =] 7 os 0
(6D Q. G 6D 8 oS [s]3F]
2 05 /] TRAS 16 8 Di D
701 40 70 3 ot 1
sof® o7 Thee 17) . sof> o7 = et m]_/
e STYIET] I ol e
ik JR4B 194, Py OER
DES

GUNS N ROSES 167



1/0O PCB ASSY.
15-004001-01
70 Volt Drivers (1 - 8)

4-14

Ill_

oA Wﬁ!}g -

o Wu:-sn

AN AV

::'m\f\"ll»

::-ulW‘_“h

:J\m\lﬂ\f,h?_
T\

::.mv'\'.-_'h?

Drives
1-8

R ‘MMM.’.:
4-,.\1-_',\}\2:‘“)

ﬂu_‘,ﬂv-'\; o0

R0 -L,AV\ 3000

R h‘uﬁv’\ 2200
R ;:I}M:“ﬂ-_}

B mu.ﬁv'\ Lann

A307A (2200

- Q302
RLSAD
—
9
_ e
b
| l}‘_—]_ir
_T_ 0304
RL540
—
| m_%
N

=f=]

| (T—TT

GUNS N ROSES 16

Iamﬂﬂmma.wh‘ula
E




1/0 PCB ASSY.
15-004001-01 : - - o5
70 Volt Drivers (9 - 16) ; & &
5-14

.||_

GEEY

7 B Drives
g8 9-16

e
IIWE
l
P
DI5H
TIEQ
|
P
BT5H
TEQ
|38 )
ELEC
i
I
T
T
p
o1su
S1E0
P
T
T
P
154
| §3
b
oI5
BTEQ
it

T
O80T

CTVI\:’E W
L'>c-T\u"\/cezsu
ILW H
Vv
Js

TRiG p..aza,-\j\:z:n |
1 *.!Eif\‘n\z:or.-
I H-‘élf\dk;:or.- - 5
| r-.;:.\,,‘v\:;a-.]
H.azaf\vn'\;gm'_. |
4;:-,,'\#1\_*;0-:1
R3 zu,n\,r\z:or.- = 5
4;:;}\‘,&:;0-:1

=0
b
f4=
| P
Lt
Igmmqmmhwuulg

_(B1"

.(

-T- 0317
IRLS40
'_
MKy
= 03

o (ET

GUNS N ROSES 169



1/O PCB ASSY.
15-004001-01 |

70 Volt Drivers (17 - 24) LT ETETET E
ot HEARAN A A A A A A A A 4 gy Drives

17-24

470V,

E
REH

|5mmqmmhww-—l|:ﬂ
o

EDF

[SEXE]
IRL540

(]

GUNS N ROSES 17



1/0O PCB ASSY.
15-004001-01 ,

70 Volt Drivers (25 - 32) - -§
7-14 .

=

g " TOW,
- = o — - = —-] - -l —_— —_ = Py & :
_ ZE OKEE  ARE 0 AKIE AL AR AE AL g 23 o

Ox0L WI.“?:
%

£
DLEW

T
T
[
I
:-'-I!
'
|Eqummh|-.—l|

[SEEE
IRLSA0

ED

YL

(@D"

| (EI i

GUNS N ROSES 171



I/O PCB ASSY. -
15-004001-01 LT ETETETE

STV,

70 Volt Drivers (33 - 40) BEIRIEIE- T T T T T T T Drives

8-14 S Bl EE ) - o o o ' 33-40

|Emm4mlﬂhhh-l-‘|:.':
=]

403
IRLSa0

GUNS N ROSES 172



1/O PCB ASSY. - oy
15-004001-01 LTETETETDE

20 Volt Drivers (49 - 56) < gE A A A Al A A G Drives

9-14 CELELELE _ _ . _ _ . - o711 2° 49-56

|W|

A\
Wy
>

<
<
T
I
T
I
| -
EXEEXIETIa

0423
IRL540

L

(ED

)i

LED

&)

GUNS N ROSES 173



I/O PCB ASSY. - .
L L3 a0
15-004001-01 LTETEDEDE
20 Volt Drivers (57 - 64) = Al A AR &I ARID AL A AR @7 s, Drives

W%
=\
Wy

10-14 LELELF _ | * -
=z = L, _

g
T
v
g - F e
FI
0
|Emmqmwhw~“|

F)

@)

i @

] (HJ

GUNS N ROSES 174



1/0O PCB ASSY.
15-004001-01 T T LT T .

20 Volt Drivers (65 - 72) i -%,_* v & i ¥ i Y ol . v =+ 2z v & Drives
11-14 : : - ; A A A A A A y A o i_ 65-72

|'\f\,’||
o :-IW‘I'.;-
I‘u"\a’l

=y

.|.
N ED

i1 L aT

L
|Emmumm&m~u|

Q503
IRL540

(ED"

GUNS N ROSES 175



1/0O PCB ASSY.
15-004001-01 -

12 Volt Drivers (41 - 48) =
12-14 E| E

+12V,

=

41-48

IWI
T W""'.?‘.
_—y

-4 = - = —— —— 4 = _— - = —_ = 7 " .
A A A A A A 12 i - £, Drives
2 &
oo =

ES

]
[

— ED

1l nT
™
|"‘u:m-.|mn-a-|»~u|
-1

R4 s!./\v,l'\;:u'.'.- - foT o]
I
R4 0

RLSA0

-G

GUNS N ROSES 178



1/0 PCB ASSY.
15-004001-01 -

12 Volt Drivers (73 - 80) = : 2 5 s 25
13-14 FLELELE ) ‘

e
I
“
E
LS

Drives
73-R0

%
Vv
W
.'H
IIH
.'H
.'H
.'H
g

TRIZ I-':‘-.:,'\Jr\_‘;':.::
n

1
T
I
. .
I@
SH
|5mm“mwa-|~r.."‘|_.

| (PT:I

GUNS N ROSES 177



DC Power
Input
I/O PCB ASSY.
- | PIC18F 2550 | -
o[ 15-004001-01 Il -
cho | 2 ) b b=
o2 Power g A0 ; U800
sl a L . 14 - 14 [x *5"['5 Flash Access
PC Disk Drive - 14 FAST g
Power Connector £ l Jﬂi-l'
L : L4
. g = 2l
I d sl
17
sl
45
AC Power -
Input z
T
ol
aavac & 2 1
49vAC < i % % %
GND | § R g;_if_l I CPU Communication
GHD | & AN A4 l (RGB LED Control)
_:_ - ;_‘ % : laoo*
A 7 T T I
p701 oz p— l . lx
- 2 & &
S
1 T il |
: ; - Bz
AC Power =
Input
1702 5V [I:\
i .| REOL"
18VALC < 3 l
10vAC i AR Eé
02 '
Tkl
AN - RGB LED
- Control
A B0z
- [ 1]
‘__—g (LFiE] | 2l
: & | 5l
|
14
Fr14 — F703 J_ f‘—‘L l:JI
- .24 SLOW _ -
: ¥ Mot populated -

44 SLOW =
A\ L

=

GUNS N ROSES



1/O PCB ASSY.
15-004001-01

110

110

1 10 1

10

Gecsccanadllcascaaaasofiaaaaaasaasfisaaasaaasall

J200

[ o

?

1604 J603

1602 Je01

o

1 10 1 10 1 10 1 10 1
| | | 1
ooooomoooaol |E|E.|E|E|EIDE|EII:III!J oooooooomof] DDDDDDDIDDI. |EIDE|EIEIE|II:|E|EI!I_I

J109 J113 J112 J111 J110

?

J702

(XXX
] =

?

HIE . E 6
8(1202 o
9, 1701 5
O
al® o1
af| J201 N~
o J108 1107 1106 J105 1104
a1l
i 4 1 7 1 5 gooomooooaolj Oo0oeO0o0ooO0O0) ooR0000000|) (Oe0CcoOoocoaaolf . BO0oooOoooooj
. |1| 10 1 10 1 10 1 10 1 10 1 .
PWR1 1203 JUSB
J104 70 Volt Coil Drives (1 - 8) J105 70 Volt Coil Drives (9 - 16) J106 70 Volt Coil Drives (17 - 24)
PIN PIN PIN
1 BROWN + 70 VDC Supply to Coils Below 1 RED + 70 VDC Supply to Coils Below 1 ORANGE + 70 VDC Supply to Coils Below
2 BRN-VIO Not Used 2 RED-VIO Not Used 2 ORN-VIO Right Ramp Diverter
3 BRN-BLU Knocker 3 RED-BLU Not Used 3 ORN-BLU Not Used
4 BRN-GRN Not Used 4 RED-GRN Auto Launch 4 ORN-GRN Not Used
5 BRN-YEL Not Used 5 RED-YEL Trough VUK 5 ORN-YEL Not Used
6 BRN-ORN Not Used 6 RED-ORN Right Flipper Hold 6 ORN-GRY Not Used
7 BRN-RED Not Used 7 RED-GRY Right Flipper Power 7 ORN-RED Upper Right Flipper Hold
8 BRN-GRY Center Scoop VUK 8 RED-BRN Left Flipper Hold 8 KEY
9 BRN-BLK Not Used 9 KEY 9 ORN-BRN Upper Right Flipper Power
10 KEY 10 RED-BLK Left Flipper Power 10 ORN-BLK Loop Magnet

GUNS N ROSES

1




J107 70 Volt Coil Drives (25 - 32)

= e
OKDOO\IO\U'I#UJNI—\E

TAN
TAN-VIO
TAN-BLU
TAN-GRN
TAN-YEL
TAN-ORN

KEY
TAN-RED
TAN-BRN
TAN-BLK

+ 70 VDC Supply to Coils Below
Not Used

Left Pop Bumper

Not Used

Not Used

Upper Playfield Flipper Hold

Upper Playfield Flipper Power
Left Ramp Diverter Hold
Left Ramp Diverter Power

J108 70 Volt Coil Drives (33 - 40)

uooo\ncnmhwmn—\g

=
o

PINK
PNK-VIO
PNK-BLU
PNK-GRN
PNK-YEL

KEY
PNK-ORN
PNK-RED
PNK-BRN
PNK-BLK

+ 70 VDC Supply to Coils Below
Upper Playfield VUK

Not Used

Not Used

Not Used

Bottom Pop Bumper
Right Pop Bumper
Lock Up Release Right
Lock Up Release Left

J109 12 Volt Coil Drives (41 - 48)

= e
OKDOO\IO\U'I#UJNI—\E

YELLOW
YEL-BLK
YEL-BRN
YEL-RED
KEY
YEL-ORN
YEL-GRY
YEL-GRN
YEL-BLU
YEL-VIO

+ 70 VDC Supply to Coils Below
Not Used
Not Used
Not Used

Not Used
Not Used
Not Used
Not Used
Not Used

J110 20 Volt Coil Drives (49 - 56)

= e
OKDOO\IO\U'I#UJNI—\E

PLUM
PLM-BLK
PLM-BRN

KEY
PLM-RED
PLM-ORN

PLM-YEL
PLM-GRN
PLM-BLU
PLM-GRY

+ 20 VDC Supply to Coils Below
Not Used
Not Used

Not Used
Not Used
Not Used
Not Used
Not Used
Not Used

J111 20 Volt Coil Drives (57 - 64)

= 0
OKDOO\IO\U'I#UJNI—\E

BLUE
BLU-BLK
KEY
BLU-BRN
BLU-RED
BLU-ORN
BLU-YEL
BLU-GRN
BLU-GRY
BLU-VIO

+ 20 VDC Supply to Coils Below
Right Slingshot

Left Slingshot
Not Used
Not Used
Not Used
Not Used
Not Used
Not Used

J112 20 Volt Coil Drives (65 - 72)

= e
OKDOO\IO\U'I#UJNI—\E

VIOLET
KEY
VIO-BLK
VIO-BRN
VIO-RED
VIO-ORN
VIO-YEL
VIO-GRN
VIO-BLU
VIO-GRY

+ 20 VDC Supply to Coils Below

Not Used
Not Used
Not Used
Not Used
Not Used
Not Used
Not Used
Not Used

J113 12 Volt Coil Drives (73 - 80)

uooo\ncnmhwmn—\g

10

J200 Matrix Switche Rows

uooo\ncnmhwmn—\g

KEY
LIGHT BLUE
LT BLU-BLK
LT BLU-BRN
LT BLU-RED
LT BLU-ORN
LT BLU-YEL
LT BLU-GRN
LT BLU-GRY
LT BLU-VIO

WHT-BLK
WHT-BRN
WHT-RED
WHT-ORN
WHT-YEL
WHT-GRN
WHT-BLU
WHT-VIO
KEY

+ 20 VDC Supply to Coils Below
Shaker

Not Used

Ticket Mech Motor Drive

Not Used

Not Used

Not Used

Start Button Light

Flash Bulb Topper

Row 1 to Playfield Switches
Row 2 to Playfield Switches
Row 3 to Playfield Switches
Row 4 to Playfield Switches
Row 5 to Playfield Switches
Row 6 to Playfield Switches
Row 7 to Playfield Switches
Row 8 to Playfield Switches

J201 Matrix Switche Columns (1 - 8)

uooo\ncnmhwmn—\g

GRN-BLK
GRN-BRN
GRN-RED
GRN-ORN
GRN-YEL
GRN-GRY
GRN-BLU
KEY
GRN-VIO

Column 1 to Playfield Switches
Column 2 to Playfield Switches
Column 3 to Playfield Switches
Column 4 to Playfield Switches
Column 5 to Playfield Switches
Column 6 to Playfield Switches
Column 7 to Playfield Switches

Column 8 to Playfield Switches

GUNS N ROSES

180



J202 Matrix Switche Columns (9 - 16)

uooo\ncnmhwmn—\g

GRY-BLK
GRY-BRN
GRY-RED
GRY-ORN
GRY-YEL
GRY-GRN
KEY
GRY-BLU
GRY-VIO

Not Used
Column 10 to Playfield Switches
Not Used
Not Used
Column 13 to Playfield Switches
Column 14 to Playfield Switches

Not Used
Not Used

J203 Serial Communications

\IO\U‘I#WNI—‘%

Not Used
Not Used
Not Used
Not Used
Not Used
Not Used
Not Used

J601 Dedicated Switches (1 - 8)

= e
OKDOO\IO\U'I#UJNI—\E

BLACK
BLK-YEL
BLK-GRN
BLK-ORN
BLK-RED
BLK-BRN
BLK-GRY
BLK-BLU
BLK-VIO
KEY

Dedicated Switch Common
Not Used

Not Used

Upper Playfield Flipper EOS
Upper Right Flipper EOS
Right Flipper EOS

Left Flipper EOS

Not Used

Not Used

J602 Dedicated Switches (6 - 16)

= e
OKDOO\IO\U'I#UJNI—\E

BLACK
YEL-GRY
YEL-GRN
YEL-ORN
YEL-RED
YEL-BRN
YEL-BLK
YEL-BLU
KEY
YEL-VIO

Dedicated Switch Common
Enter / Menue Button

Up / Volume Button

Right Flipper Switch Upper
Right Flipper Switch Lower
Not Used

Left Flipper Switch Lower
Down / Volume Button

Escape / Service Credit Button

J603 Dedicated Switches (17 - 24)

= 0
OKDOO\IO\U'I#UJNI—\E

BLACK
BLU-YEL
BLU-GRN
BLU-ORN
BLU-RED
BLU-BRN
BLU-BLK
KEY
BLU-GRY
BLU-VIO

Dedicated Switch Common
5th Coin Slot Switch

Ticket Mech Notch Switch
4th Coin Slot Switch
Center Dollar Bill Acceptor
Right Coin Switch

Left Coin Switch

Not Used
Not Used

GUNS N ROSES

181



1604 Dedicated Switches (25 - 32)

[N o
OKOOO\IO‘AU'I#UUNI—‘E

J701 AC Power Input High

o
O WNR =
=2

J702 AC Power Input Low

o
A wWN PR =
=2

BLACK
VIO-YEL
VIO-GRN
VIO-ORN
VIO-RED
VIO-BRN
KEY
VIO-BLK
VIO-BLU
VIO-GRY

RED
RED
BLUE
BLUE
GREEN
GREEN

YELLOW
YELLOW
GRAY
GRAY

Dedicated Switch Common
Action Button

Headphone Panel Volume Up
Bluetooth

Plumb Bob Tilt

Coin Door Open Switch

Start Button
Headphone Panel Volume Up
Headphone Panel Jack Sense

49 VAC From Transformer
49 VAC From Transformer
49 VAC From Transformer
49 VAC From Transformer
Chassis Ground
Chassis Ground

18 VAC From Transformer
18 VAC From Transformer
10 VAC From Transformer
10 VAC From Transformer

J800 CPU Communication
Not Used / Unpopulated

J802 RGB LED Control
Not Used / Unpopulated

J804 Flash Programing Access
Not Used / Unpopulated

JUSB CPU Communications
Mini USB Cable to CPU USB Connector

PWR1 DC Power Input

PIN
1 YELLOW +12 VDC From ATX Power Supply
2 BLACK Ground From ATX Power Supply
3 BLACK Ground From ATX Power Supply
4 RED +5 VDC From ATX Power Supply

GUNS N ROSES

182



LED Boards and Cables

ﬁ 15-100008-0

15-100016-05 15-100016-10

19-100100-24 05.100016.00
19-100075-00 /*15-1 00016-07 /7

19-100069-00
15-100016-01

C
=

YELLOW/
GREEN/BLUE
°

ORANGE '
1 i
GREE»%‘ .y

19-100100-24—

TO APRON FLOOD LIGHT

19-100068-00——

BROWN SPINNER -

TO ACTION BUTTON

o |

- LEFT LANE

~
e SPINNER [&]° =]
ORANGE
TO COMA LIGHT PART NUMBER DESCRIPTION ary.
15-004129-05 Double RGB LED Bd T LED FP 5V 1
1 5-1 0001 6-02 15-100008-00 RGB GI 5050 TLED 28
15-100016-01 G&R FLIPPER AREA LED BD 1
15-100016-14 19-100046-00 . o 1
15-100016-03 === Tat0mriss SaR SHOOTERANE LED 2D i
15-100016-06 GNR UR FLIPPER LED BD 1
- - - - - - - - G&f
19-100070-00 15-100016-02 19-100073-00 oy o 1
15-100016-10 G&R DRUMS AREA LED BD 1
15-100016-14 GNR LEFT INLANE LED BOARD 1
15-100016-15 AXL LANE LED BD 1

GUNS N ROSES

183



Single RGB Board
15-100008-00
15-100008-01 (No Connector)

15-100008-00 ‘-‘1?-‘3
RGB GI 5050 TLED
Rev A
R1 f"
AN — K
1 47 p
2 R2 ¥ R
3 AN 2 K 2
4 120 ~
R3
11 AN 6}/“ 1
47 P
¥
RGB1

1

Pin

1  +5VDC from a Main RGB LED Board
Blue Return to a Main RGB Board
Red Return to a Main RGB Board
Green Return to a Main RGB Board

N

GUNS N ROSES 184



.8
29
4
L5
M

J100 Power Input

Pin
1 Red +5VDC from ATX Power Supply
2 Black Ground from ATX Power Supply

Flipper Area RGB LED Board
15-100016-01

J101 12C Communications Input

Cat5 or Higher Ethernet Cable

GUNS N ROSES

186



un

SVEwed

e

GND!
2 vce ;-
PCUSGS6 34 Channel LED Driver

I. our

SV Eued S

w . N
Ve GND:
PCU9656 24 Chamnel LED Drver

Lo

GND.

SVEued P+
G

=

SV Eued

“

vee
' BCUPS6 24 Chauael LED Dries

I. o

@

Flipper Area RGB LED Board
15-100016-01

-
n
I e
3 =
o .
e rapfca 4 v
® -
s
an ) e
= =) o oo
= o1 LEDI RN Spotlsht
v
]
e o )
S
Roms
ua
1910007000 GNR Le e RGBLED B Catic
»
_,_“nm
M
SVEwet
Aoos iz
Abors b1
Ao 1o
Ao e
Abor1 b
oo fbs
%656 2 Chane 1 e
A 0308 Qs )
=
woms Rams
5 — —
— N
<
® 8 8N sa [
< T 7l
wame
o
o
»
& o b
Ao Lo
Be
X Mbe o0ty &
- i

ADDRS
ADDRY LEDI
ADDRY LED20
2 D21
ADDRI D22
ADDRO LED2:.

PCUS6S6 21 Claanel LED Diver
Addrss 0507 (s 5)

=

RGBS

Address OC (Index 6)

—
.
3
Jios
RN
E D
BT
RN —)
5 £ 2
1 E I - Spotight
Jios

%
=
Jios
vea —
—
o
UsDA a
iy
—

1
U636 21 Channel LED Drivr
Addtes 024 (Tadex 18)

ot

v Spotaht

GUNS N ROSES



American Tour RGB LED Board
15-100016-02

J200 Power Input J201 12C Communications Input

Pin Cat5 or Higher Ethernet Cable
1 Red +5VDC from ATX Power Supply
2 Black Ground from ATX Power Supply

GUNS N ROSES 187



v

SVEwed

s PCUPS6 24 Chamnel LED Driver

T

vn

SVpwed

“

'PCU556 24 Clianael LED Dives

Iﬁom

SV pwed

s

i
853535052

Chanael LED Daer

it

“

PCT656 4 Clanmel LED Drr

o

American Tour RGB LED Board
15-100016-02

Ram

Rams

o

Raall

[

Raai2

2 4

R

Rams Ram
yYvw

R N ]
o o N[

Raals

Rite

Ramy

'

N

Ram2

FCU9656 24 Chuaoel LED Drier

)

AbDRo Lem:
FCUS656 21 Chasael LED Drvr

Adhon 014 (lnde 10)

v

%
o
%

- ¢
¢
‘4

Ran

]
‘4
N

%

-
4
n
%

LS
%
5
%

Ram2

R0

SVhued

Ramss

4
~ig

o

Ramy7

U656 31 Chnaoel LED Driver

™

A L2
U956 3 Chaanel LED Dave

Addren 0016 (ndex 1)

U656 34 il LED Drvr

Addross 051C (ndex 19

— |

RGOW Spiner

Ty

3
L5 spoiien
3

GUNS N ROSES

)¢



Euro Tour RGB LED Board
15-100016-03

J300 Power Input

J301 12C Communications Input

Pin
1 Red +5VDC from ATX Power Supply
2 Black Ground from ATX Power Supply

Cat5 or Higher Ethernet Cable

GUNS N ROSES 189



Tiowr

w0

Tour

SVEwed

2 vee

)
PCUSG56 24 Channel LED Drier

u

FCU9656 24 Chinael LED Drier

Euro Tour RGB LED Board
15-100016-03

ERIRA ERIRD FAA
ERRA
B o [
JrS—
NG R FCR
o S
Hae 2 B T
o 7 20m R R P
i)

o Moo tuiexte)

D Addees 022 e 17)

GUNS N ROSES

19



Pacific Tour RGB LED Board
15-100016-04

J400 Power Input J401 12C Communications Input

Pin Cat5 or Higher Ethernet Cable
1 Red +5VDC from ATX Power Supply
2 Black Ground from ATX Power Supply

GUNS N ROSES 191



Pacific Tour RGB LED Board
15-100016-04

. SVEud
T m
7
RGB3 “| raBs “| raB7
b1l YVv v ;!1
) NW N N\
7 Y] A o N \\a., S
“| raBa | raBs | roms
h N 4
\‘i., N
) o 35BS
uiB 0 (0 7 B
(RG]
5V Fused -
l Cll| oo
L
o PCU9656 24 Channel LED Driver
1
ND
PCUS656 24 Chasnel LED Driver
T N 06 Gndex 19)
I Ry “| romn “| womis | wamis
~
—~——
YVv v YV v z
3 N W BN Nw Ny NN
L 7 N \27 N 7| Y] \3. 7l N
RGBI2 “| rapi6
A
N
o i
75 5 s 55 5 2 -
(A @ B
3 A 120 [
Stickd
o1
— »
T
el L
1
1
Rlae I
i
1
LEDI2
¥
Vraed L
Lo
1ED1
42— anoRs 15
LS fwore 1
LEDX
LED:
LED:
LED2:
POUS636 21 Chanel LED Driver
Address 0528 (adex 20)

GUNS N ROSES 192



Shooter Lane RGB LED Board
15-100016-05

J500 Power Input

J501 12C Communications Input
Pin

1 Red +5VDC from ATX Power Supply
2 Black Ground from ATX Power Supply

Cat5 or Higher Ethernet Cable

GUNS N ROSES 195



1 e
B
P —y
§ o
e

s

To: 19-100007-00 WW Matived-Dedicaed Switch Harmess

i

SV Fusel

Lok =5

1 FCUSGSG 24 Channel LED Drver
Vo

D

[

[ [N
w

S
.

a2

- - 5 i 5
s y s e 2
& w am s 0 wo o Rk o
YRR s o |2__om s wr FUENNEY (o) wr
o o 12 @ elap o elon  m
s wima s
« —— .ATHM 1ok upA
r T I P
Lo
e
el
o s et
or o 0
" oo oA o
; o P
o olon ]
FET I PR

AR
Lowr

D

DS

Toos

ADSIT0

G

2

1oy

Shooter Lane RGB LED Board
15-100016-05

.
==
- )

2

Rio2

R

V|
N«
¢

%
i
N

KR

Raps

R

0 [

RaB6

B
L Ly s ipfa
o o7 LEDL i
GND.
S _usct
SDA00K. R u () YD) [ —S00RDAT K
oo
Hw o o
g sk o s H b S—HReE o
T i oSO
. ol
o0 |100ur o AR} o

PCU9656 24 Chamnel LED Drver

= Address 022C (ndex 22)
@
[ e
LED)
LED2
\ s
3 I
LEDS
LED
. 5.
: 2l
i

Stied
SV Fused

o
Abois
Abowo
i
frc— F S a—rre
- 3 B
Mg e
& = 6a Y
L=
GND
SERIBRERE
&1 (s (e fae  OND
) ) ap i} i 3eiRe A =
i B
17 [
l [
[ 2] Vss@n)
G

ICINTERFACE

PECIALIZED 24

sop

T 19-100101-24 Gu Floodliht Cable

6
o0t

@D

GUNS N ROSES

LED Cale

o 19-100075:00 Gk Shooer Area RGi



UR Flipper RGB LED Board
15-100016-06

W\ R W RN
PR g x| Y
RGB2 | raB4
v v
PN IENWIRN 2| NG RGN
g f g g -
E 75§ E ~ B - % 75%2 § N
120 [47 E 75 §§ 5 120 [47 % 75 5 §
[t 120 [47 120 (47

GUNS N ROSES 1%



LP Area RGB LED Board
15-100016-07

J700 Power Input J701 12C Communications Input

Pin
1 Red +5VDC from ATX Power Supply
2 Black Ground from ATX Power Supply

Cat5 or Higher Ethernet Cable

GUNS N ROSES 196



Vet &
a

omael LD Disr

un

=)
s
D

.

.

.

+
scLiok o . n [
T DN Y M — -1

LP Area RGB LED Board
15-100016-07

e
oy e

Lla T

»

%

Rio

Raws Raw
R ENINA

R

Rans

2 luson
S user

e

Rabis

g

| wams

T

S

i
LED3-

U6 28 Clanel LD Divr
A 036 (e 27)

n
N
s W
s rat —|a
rowam L Lo 5 —] s
et T, 3 —=la
o
v, (S E
oo
s
[T
ey Lod
e S——

N Addes 0534 e 26)

R
o I
o o

GUNS N ROSES



Left Ramp Area RGB LED Board
15-100016-09

J7900 Power Input

J901 12C Communications Input
Pin

1 Red +5VDC from ATX Power Supply
2 Black Ground from ATX Power Supply

Cat5 or Higher Ethernet Cable

GUNS N ROSES 198



vee

PCUSG36.24

SV Fused

GND:
0Ly G

s PCUSGS6 21 Channel LED Driver

Left Ramp Area RGB LED Board
15-100016-09

2-Pin Mo
1900

P

RGBS

|
Al
"4
N
¢

RGB4

R3¢

RGB7

RGBS

%
-

RIQ7

. LEDI2
2 o
[T
DDRS 0
ADDRY L
ADDR3 LED20:
ADDR? D21
ADDRI LED2:
ADDRO ED2:

Address 0x3A (Index 24)

v

SV Fused

20 vee

s PCUIGS624 Chammel LED Diver

Iu opF
GND

PCU636 21 Channel LED Driver

%

0 [

» S I s
5
L. +H
H
b (e —
3 [T —
B - [ —
; VEwed it i
shied! [l —
it >
b2 aooes  Tobi S
01 - ADDR4 LEI
e
i |
{iba
i
U966 21 Chanmel LED Drver | ‘
= Address 0x3C (Index 25) _‘
oo —z
=3
o2
wa
Do
s
i
i |
% LD
st g
Lips
LEpy
s i
Rl i
; |
LEDI2 L1}
e
Lo
Libis |
= or
47 3
‘DRt
APoRs
\boR2
oot o
'PCU9636 24 Clisnnel LED Driver

Address OX3E (Index 26)

7 Lelt RGB GI Cable

19-100046-00 RGBW Spianer LED Cable

Sporlight

Spotlight

To: 19-100097-00 GaR CE Stsge RGB GI Cable

GUNS N ROSES



Drums Area RGB LED Board
15-100016-10

. i soeow

aoom

H-ﬁ:';'m.: s 'it ij“ °

Eilll; i rsglog"

e e

J1000 Power Input

2000000 e
[=L-1-X-J-% 1 T

Pin
1 Red +5VDC from ATX Power Supply
2 Black Ground from ATX Power Supply

J1001 12C Communications Input

Cat5 or Higher Ethernet Cable

GUNS N ROSES 200



Drums Area RGB LED Board
15-100016-10

sed

5V
F1
[ A
2Pin Mn}, 2 + N d o N
ois: T 3 907D AG P CG RGBI RGB3 RGBS RGB7
s
Gl = R3
Gl - 3 AR P cr—L
5V Fused gwl GND DI LEDI 100 \!! \!! - h 4 \!! \!! “ h 4 \!! \!! « w \!! \!! “
¢ S ENEEN o RN o R PN BN
GNI H " H " H " H
GNI o o o o
o RGB2 RGB4 RGBS
GNI 1
GNI
Gl
0 VCC GNI !! !! !z
o] NG NG
< PCU9636 24 Channel LED Driver g g Ny
1.opF = = = = b= =S 2 2
R 2 58S 58 & 55 B
120 120 120 [47 120 (47 295 g 9
GND UIA 120 [47
2uspa
UscL
wB .
GND
G
& Zne
SV Fused e
G =
GNL @
GNL
GNL
GNL
P ADDRS
0 e o ADDR4 LED
ADDR3 2D
1 PCU9656 24 Channel LED Driver ADDR2 LED2
LouF ADDRL LED2
ADDRO LED?
GND PCU9656 24 Channel LED Driver
SV Fused 1
= Addiess 0x40 (Index 32)
GND t GND
ol 1 o
N[} } n RGB9
LOF D Bin+ RI |
|3-+Dout Bout N v v
cou Aou 22 NS N Y
I Cin+ Ain++o— 2 I
—Cin- Ain- - o
u3
Pk
AK: CIK P
Qi 5 2
i CIK N = =
DATA N 120 |47
DATA P
- U2A —
Shield o 1
LED 2
1001 | | 3| To:19-100078-00 Upper Pop Bumper
3
Z—uspa | 7002
UscL 5
1
iz 1
23 2
e
3 To:19-100079-00 Middle Pop Bumper
. J1003
24 OE
5V Fused I
T 2 0l
3 1
2 aoons H 3 To:19-100080-00 Lower Pop Bumper
$—1— ADDR4 LED
$—5— ADDR3 LED: 7 i
$—— ADDR2 LED2
}—ie— ADDR1 LED2
ADDRO LED2 10
PCU9656 24 Channel LED Driver :;
Address 0x42 (Index 33) i: (:Ore
1s
16
J100:

GUNS N ROSES 201



Guitar Head RGB LED Board

15-100016-12

J1000 Power Input

Pin
1
2

Red  +5VDC from ATX Power Supply
Black Ground from ATX Power Supply

J1200 12C Communications Input

Cat5 or Higher Ethernet Cable

J102 Upper Playfield Harness Output
19-100052-00

GUNS N ROSES



el fhw
-
ol oo o m ae

L R 3
I
N ok o = -
sao 1| nr e wr =
D61 Gp Lok :l R
e =y e
T [ [ T )
e v s s s
sous soas
sor
EN - Vo o o
o Il oy e i s
P O ] L]
LK lv‘—‘“fl—mu K miee S,k
APDS9130 5 APDS-9130 =4 APDS9130
Lo
=
v
nmt L 1
wooay
T2 B NI ISE
- 2c 3a sy po INDN
NI DI PN ESTEY
NS 4 A 5
o3 Bl on ey 2 mex
7l op vee [ Rer
N

1000

Guitar Head RGB LED Board

15-100016-12

3p3 Rex

vy

Tz

“To: 19-100052-00 - GNR Upper Playfield Harmess (L6)

GUNS N ROSES



Lighting Truss LED Board
15-100016-13

J1 Power Input

J2 12C Communications Input

Pin
1 Red +5VDC from ATX Power Supply
2 Black Ground from ATX Power Supply

Cat5 or Higher Ethernet Cable

GUNS N ROSES 24



Lighting Truss LED Board
15-100016-13

s
T 7 il ] ] ——— ] ] 7 T I T T
f Yy v 3 J[ L 4 ; A 4 3% b 4 ;Z ¥ YyYyy J[ ¥y
TS T T S T J—Jﬁ TR Tl Nl R TS TSR TSR e
o Quaodan o oo S g oo . o s g s o drioduo Quon duan anduon e s
SRR SRR R R R R B R e SR SR ER NP R R R SRR R
P’
e
cc G A
. RO b =y
I et LD
= &3 = G a1
’ | samn | nanse | namss | sonae Rensr | rams xans | s | ramst o e
Yy, ¥y y ¥.3
T SN Y YN = r“r“?“ o] S [ Y r“(“;#‘\
s wndun g dpndondin o Qs . P
J S chec sl 5 e g R SRR SR
s
frighe
o ke
£ty e
LD
=0 i
Vrsed it
i
i
s U
Aok Libn s
Aokt ey
o i
o ey
v ‘
02
i ‘
e
it
I
u o i
e
wiped o
i
oo
B
B
ook 1
s D
A 50 e 0
¥
S
TS S TS
P [ ORI A o o
SRR ERed CRCHR R R

hsd | G-
o
w N

T

GUNS N ROSES 2B



Left Inlane RGB LED Board
15-100016-14

To: 19-100070-00 - GNR Left Inlane RGB LED Bd Cable

]

R100

“| raB2

%
2

%
%/

R103

27

11400

GUNS N ROSES

26



AXL Lane Area RGB LED Board
15-100016-15

o

“ RrGBI RGB3
v v
e \:‘f \\‘5' \:‘ g \:‘r Q‘:sf \:‘
& H = £ H
RGB2
v v
| G NG
B3 2 H
2 2 B = g 2
xR || 1888
B s [0 4735 3 g 75 [120 (47
11— 75 120 (47
2
4
19-100071-00 Upper Right RGB GI Cable g
1
12
1500

GUNS N ROSES 207



RGBW PCB No Connector Assembly
15-100023-01

Jersey Jack Pinball

{0
2019
R4 %
AAN s N
27 Vl&“"’“
Jl Rz 2 N 7
AYAY
22 4"‘““"_0 —
Rl ] 8 Pad 6 G§D
AN N - 5
39 /” 4
R3 R N a 3
— AN 5
vee 2 RGBW1 1
1

15-100023-01
RGBW Bd, 5U
No. Conn. Rev A

+5VDC from a Main RGB LED Board
Blue Return to a Main RGB Board
Red Return to a Main RGB Board
Green Return to a Main RGB Board
White Return to a Main RGB Board

ECD;UW+

GUNS N ROSES 208



Single Reflective Opto Board
15-100024-02

o

C3
T a TORF |1 oxp

i opr R1 R4
2 [vee -} “; GND 3p3 Reg | 22 Rl 8! yop SDA |L_SDA/MOSI ok
PBS (PCINTS/RESET/ADCO/DW) N b’f’““ SCUSCE 7 | gop T 2 INTL
PB4 (PCINT4/XTAL2/CLKO/OC1B/ADC2) INTT GND 6 3
PB3 (PCINT3/XTALI/CLKVOCIB/ADC3) HEEER 47k o e GND IDR
PB2 (SCK/USCK/SCL/ADC1/TO/INTO/PCINT2) VS0 Pl Reg aam g 4
PB1 (MISO/DO/AIN1/OCOB/OC1A/PCINT1) SDAMOSL 47k T { LED_A LED K
[PBO (MOSI/DI/SDA/AINO/OCOA/OCTA/A INT0) 25L_RG\ AL
2
ul 'APDS-9130
1.04F

PB2 =SCL, PB0 = SDA

1

Pin

+5VDC from ATX Power Supply
Column 8 from Switch Matrix
Row 1 from Switch Matrix
Ground from ATX Power Supply

A wWN PR

GUNS N ROSES




RGB Gl PCB Assembly
15-004251-05

V_(lZ_C
RGB100
R100 augy
AVAVE K
47
1
f— o P — R101 pa‘? 2
T Ig(}/\/ K
4 ¥,
7100 R102 umqll‘
2 %
15-000251-00 RGB GI Bd 47 4(
T LED FP Rev A S3528RGB-CMHBI1
° J100
-
Pin
Jersey Jack Pinball <C>2017 R102 ﬂ 1  +5VDC from a Main RGB LED Board
2 Blue Return to a Main RGB Board
3 Red Return to a Main RGB Board
4  Green Return to a Main RGB Board

GUNS N ROSES 210



15-000328-00

¢ ‘ Single RGBW PCB Assy
JERSEY ( Bt ;
JACK
K Il:*l BALL /

Jersey Jack Pinball © 2018

Single RGBW LED Board No Connector

15-004328-00

VCC

VY N
%p \\\g"" \2\5 \:\? \:\RGBWI
R3 & :
p— N L
Z—' 39  R2 GND
1 —AANAN
5—| R4 22
© AAN
J1 ‘ 27
GRD
1
Pin
1  +5VDC from a Main RGB LED Board
2 Blue Return to a Main RGB Board
3 Red Return to a Main RGB Board
4 Green Return to a Main RGB Board
5  White Return to a Main RGB Board

GUNS N ROSES

211



Double RGB LED Board
15-004129-05

vCC

“l rRGB100

anig

RGB101

vy

N \Y Q&
R101 S \Z" Xy X
R100 $120 §R102

47 47

R104 Sz
120

15-000129-00 J100

Pin

Jersey Jack Pinball © 2018

+5VDC from a Main RGB LED Board
Blue Return to a Main RGB Board
Red Return to a Main RGB Board
Green Return to a Main RGB Board
+5VDC From a Main RGB LED Board
Blue Return to a Main LED Board
Red Return to a Main LED Board
Green Return to a Main LED Board

CONO UL WN -

GUNS N ROSES 212



Voltage Conversion
Connector Pin-out

Pin 1 “rib” indicator

120V AC Input
Configuration

220V AC Input
Configuration

120W AC supplied
across these lines

220 AC supplied
across these lines

Supply Voltage Conversion

If you need to convert your game to a different supply voltage than it was wired
for at the factory, locate the 9-pin connector at the input of the transformer, in
the bottom of the lower cabinet, see illustration to the left.

Power the game down and disconnect the 9-pin connector (it has locking tabs
on each side). Looking at the back of the jumpered connector (the end with the
wires protruding), locate the pin 1 “rib” indicator and orient the connector so
that it is in the upper right hand corner, as shown opposite. The red numbers
show pin numbers for the entire connector.

Look at the illustration for the desired configuration and compare it to the
current configuration. Using a 0.084” pin extractor, remove all pins that re-
quire repositioning by pushing them out of the back of the connector, from the
front. You can reuse existing wires as long as they were not damaged during the
removal process. Fashion new, short jumper wires, as needed.

Using the appropriate illustration for reference, insert the jumper pins all the
way into the connector, in the proper positions, from the back side, until they
lock in place.

For a 120V supply voltage, connect the AC inputs across pins 1 & 7. Next, jump-
er pins 2 & 3 together with a short piece of black wire. Lastly, jumper pins 8 & 9
together with a short piece of orange wire.

For a 220V supply voltage, connect the AC inputs across pins 1 & 4. Then jump-
er pins 3 & 9 together with a short piece of black wire.

Note: Your game has an ATX power supply. This power supply may have a
voltage selection slide switches on its back panels that must be in the proper
position (120V or 220V) before applying power to the game.

GUNS N ROSES 213



MATRIX SWITCH WIRING TABLE

Column1 | Column 2 | Column3 | Column4 | Column5 | Column6 | Column7 | Column 8 | Column9 | Column 10| Column 11| Column 12| Column 13| Column 14| Column 15| Column 16
J201-1 J201-2 J201-3 J201-4 J201-5 J201-6 J201-7 J201-9 J202-1 J202-2 J202-3 J202-4 J202-5 J202-6 J202-8 J202-9
BLK BRN RED ORN YEL GRY BLU TN crv BT cry [EEDN Ry [N Grv [ | Gry] veL | ery [GRN] Gry [T cry [
Row 1 6 - Ball Right Bumper Left Ramp Upper Left Ramp [ Right Ramp [ Right Ramp| Not Used Center Not Used Not Used Shooter Left Guitar | Not Used Not Used
J200-1 Trough Orbit Hi Target Left Target | Playfield Enter Left Target Made Spinner Lane 1 Lock
#5 Rubber Sensor (Bottom) (Bottom)

WHT 1 9 17 25 33 41 49 57 65 73 81 89 97 105 113 121
Row 2 6 - Ball Right Bumper Left Ramp Upper Left Top | Right Ramp Center Not Used | Inner Loop | Not Used Not Used Shooter Left Guitar | Not Used Not Used
J200-2 Trough Top Lanes Rubber Right Target | Playfield Lane Right Target| Scoop VUK Enter Lane 2 Lock

#H4 Standup (Middle)

WHT 2 10 18 26 34 42 50 58 66 74 82 90 98 106 114 122
Row 3 6 - Ball Right Ramp | Keyboard Left Lock Up Left Right Shooter Not Used Upper Not Used Not Used Shooter Left Guitar | Not Used Not Used
J200-3 Trough Enter Insert QOutlane Enter Bumper Inlane Lane Target Playfield Lane 3 Lock

#3 Left Hole (Top)

WHT 3 11 19 27 35 43 51 59 67 75 83 91 99 107 115 123
Row 4 6 - Ball Right Keyboard Left Not Used Left Right Sling | Not Used Not Used Wheel Not Used Not Used Shooter Not Used Not Used Not Used
J200-4 Trough Bumper Insert Inlane Orbit Hi Hi CW 2 Lane 4

#2 Middle Left

WHT 4 12 20 28 36 44 52 60 68 76 84 92 100 108 116 124
Row 5 6 - Ball Bottom Keyboard Left Not Used Jam Right Sling | Not Used Not Used Wheel Not Used Not Used Shooter Not Used Not Used Not Used
J200-5 Trough Bumper Insert Inlane Target Lo CW1 Lane 5

#1 (Right) Right Right

WHT| YEL 5 13 21 29 37 45 53 61 69 77 85 93 101 109 117 125
Row 6 6 - Ball Center Not Used Left Not Used | Light Coma Right Not Used Not Used Upper Not Used Not Used Shooter | Right Guitar| Not Used Not Used
J200-6 Trough Top Lanes Sling Hi Standup Outlane Playfield Lane 6 Lock

Jam VUK (Top) (Top)

WHT 6 14 22 30 38 46 54 62 70 78 86 94 102 110 118 126
Row 7 6 - Ball Right Not used Left Not Used | Left Ramp Shooter Not Used Not Used Coma Not Used Not Used Not Used [Right Guitar| Not Used Not Used
J200-7 Trough Orbit Lo Sling Lo Made Lane Lockup Lock

#6 (Left) (CE Only) (Middle)

WHT 7 15 23 31 39 47 55 63 71 79 87 95 103 111 119 127
Row 8 Not Used Right Not used Not Used Not Used | Inner Loop | Not Used Not Used Not Used Left Orbit | Not Used Not Used Not Used | Right Guitar| Not Used Not Used
J200-8 Ramp Made Made Spinner Lock

Target (Bottom)
WHT 8 16 24 32 40 48 56 64 72 80 88 96 104 112 120 128

I:lOpto Switch

|:| Reflective Opto

GUNS N ROSES




DEDIGATED SWITGH WIRING TABLE

Return 1 Return 2 Return 3 Return 4 Return 5 Return 6 Return 7 Return 8
J601-7 J601-6 J601-5 J601-4 J601-2 J601-3 J601-8 J601-9
Common BLK GRY BLK BRN BLK RED BLK ORN BLK YEL BLK BLK BLU BLK VIO
Left Flipper Right Flipper Upper Right Upper Playfield Not Used Not Used Not Used Not Used
J601-1 EOS EOS Flipper EOS Flipper EOS
BLK 1 2 3 4 5 6 7 8
Return 9 Return 10 Return 11 Return 12 Return 13 Return 14 Return 15 Return 16
J602-7 J602-6 J602-5 J602-4 J602-2 J602-3 J602-8 J602-10
Common | Vel BLK YEL BRN YEL RED ORN YEL | GRY YEL YEL BLU YEL VIO
Left Flipper Not Used Right Flipper Right Flipper Enter / Up / Volume Down / Volume Escape / Service
J602-1 Switch Lower Switch Lower Switch Upper Menu Button Button Button Credit Button
BLK 9 10 11 12 13 14 15 16
Return 17 Return 18 Return 19 Return 20 Return 21 Return 22 Return 23 Return 24
J603-7 J603-6 J603-5 J603-4 J603-2 J603-3 J603-9 J603-10
Common BLU BLK BLU BRN BLU RED BLU ORN BLU YEL BLU BLU GRY BLU VIO
Left Coin Right Coin Center Dollar 4th Coin Slot 5th Coin Slot Ticket Mech Not Used Not Used
J603-1 Switch Switch Bill Acceptor Switch Switch Notch Switch
BLK 17 18 19 20 21 22 23 24
Return 25 Return 26 Return 27 Return 28 Return 29 Return 30 Return 31 Return 32
J604-8 J604-6 J604-5 J604-4 J604-2 J604-3 J604-8 J604-10
Common VIO BLK VIO BRN VIO RED VIO ORN VIO YEL VIO VIO BLU VIO GRY
Start Coin Door Plumb Bob Bluetooth Action Headphone Headphone Headphone
J604-1 Button Open Tilt Button Panel Volume Down Panel Volume Up Panel Jack Sense
BLK 25 26 27 28 29 30 31 32

GUNS N ROSES

215



70 VOLT GOIL TABLE

Drive 1 Drive 2 Drive 3 Drive 4 Drive 5 Drive 6 Drive 7 Drive 8
70V Power J104-9, Q308 J104-8, Q307 J104-7, Q306 J104-6, Q305 J104-5, Q304 J104-4, Q303 J104-3, Q302 J104-2, Q301
F704 BRN BLK BRN BRN RED BRN ORN BRN YEL BRN BRN BLU BRN VIO
Center Scoop
J104-1 Not Used VUK Not Used Not Used Not Used Not Used Knocker Not Used
| BRN | 1 2 3 4 5 6 7 8
Drive 9 Drive 10 Drive 11 Drive 12 Drive 13 Drive 14 Drive 15 Drive 16
70V Power J105-10, Q318 J105-8, Q317 J105-7, Q316 J105-6, Q315 J105-5, Q314 J105-4, Q313 J105-3, Q312 J105-2, Q311
F705 RED BLK RED BRN RED RED ORN RED YEL RED RED BLU RED VIO
Left Flipper Left Flipper Right Flipper Right Flipper Trough Auto
J105-1 Power Hold Power Hold VUK Launch Not Used Not Used
| RED | 9 10 11 12 13 14 15 16
Drive 17 Drive 18 Drive 19 Drive 20 Drive 21 Drive 22 Drive 23 Drive 24
70V Power J106-10, Q328 J106-9, Q327 J106-7, Q326 J106-6, Q325 J106-5, Q324 J106-4, Q323 J106-3, Q322 J106-2, Q321
F706
Loop Upper Right Upper Right Right Ramp
J603-1 Magnet Flipper Power Flipper Hold Not Used Not Used Not Used Not Used Diverter
I 17 18 19 20 21 22 23 24
Drive 25 Drive 26 Drive 27 Drive 28 Drive 29 Drive 30 Drive 31 Drive 32
70V Power J107-10, Q338 J107-9, Q337 J107-8, Q336 J107-6, Q335 J107-5, Q334 J107-4, Q333 J107-3, Q332 J107-2, Q331
F707 BLK BRN RED ORN YEL BLU VIO
Left Ramp Left Ramp Upper Playfield Upper Playfield Left
J107-1 Diverter Power Diverter Hold Flipper Power Flipper Hold Not Used Not Used Pop Bumper Not Used
|_TAN | 25 26 27 28 29 30 31 32
Drive 33 Drive 34 Drive 35 Drive 36 Drive 37 Drive 38 Drive 39 Drive 40
70V Power J108-10, Q408 J108-9, Q407 J108-8, Q406 J108-7, Q405 J108-5, Q404 J108-4, Q403 J108-3, Q402 J108-2, Q401
F708 PNK BLK PNK BRN PNK RED PNK ORN PNK YEL PNK PNK BLU PNK VIO
Lock Up Lock Up Right Bottom Upper Playfielf
J108-1 Release Left Release Right Pop Bumper Pop Bumper Not used Not Used Not Used VUK
PNK 33 34 35 36 37 38 39 40

GUNS N ROSES

216



20 VOLT GOIL & MOTOR TABLE

Drive 49 Drive 50 Drive 51 Drive 52 Drive 53 Drive 54 Drive 55 Drive 56
20V Power J110-2, Q421 J110-3, Q422 J110-5, Q423 J110-6, Q424 J110-7, Q425 J110-8, Q426 J110-9, Q427 J110-10, Q428
F710 Y BLK PLM BRN PLM RED Y ORN PLM PLM Y BLU PLM
J110-1 Not Used Not Used Not Used Not Used Not Used Not Used Not Used Not Used
PLM 49 50 51 52 53 54 55 56
Drive 57 Drive 58 Drive 59 Drive 60 Drive 61 Drive 62 Drive 63 Drive 64
20V Power J111-2, Q431 J111-4, Q432 J111-5, Q433 J111-6, Q434 J111-7, Q435 J111-8, Q436 J111-9, Q437 J111-10, Q438
F711 BLU BLK BLU BRN BLU RED BLU ORN BLU YEL BLU BLU BLU VIO
J111-1 Right Slingshot Left Slingshot Not Used Not Used Not Used Not Used Not Used Not Used
BLU 57 58 59 60 61 62 63 64
Drive 65 Drive 66 Drive 67 Drive 68 Drive 69 Drive 70 Drive 71 Drive 72
20V Power J112-3, Q501 J112-4, Q502 J112-5, Q503 J112-6, Q504 J112-7, Q505 J112-8, Q506 J112-9, Q507 J112-10, Q508
F712 VIO BLK VIO BRN VIO RED VIO ORN VIO YEL VIO VIO BLU VIO
J112-1 Not Used Not Used Not Used Not Used Not Used Not Used Not Used Not Used
VIO 65 66 67 68 69 70 71 72
Drive 41 Drive 42 Drive 43 Drive 44 Drive 45 Drive 46 Drive 47 Drive 48
12V Power J109-2, Q411 J109-3, Q412 J109-4, Q413 J109-6, Q414 J109-7, Q415 J109-8, Q416 J109-9, Q417 J109-10, Q418
F709 YEL BLK YEL BRN YEL RED YEL ORN YEL YEL YEL BLU YEL VIO
J109-1 Not Used Not Used Not Used Not Used Not Used Not Used Not Used Not Used
YEL 41 42 43 44 45 46 47 48
Drive 73 Drive 74 Drive 75 Drive 76 Drive 77 Drive 78 Drive 79 Drive 80
12V Power J113-3, Q511 J113-4, Q512 J113-5, Q513 J113-6, Q514 J113-7, Q515 J113-8, Q516 J113-9, Q517 J113-10, Q518
F713 LT BLU BLK LT BLU BRN LT BLU RED LT BLU ORN LT BLU | YEL LT BLU LT BLU LT BLU VIO
Ticket Mech Start Button Flash Bulb
J113-2 Shaker Motor Not Used Motor Drive Not Used Not Used Not Used Light Topper
LT BLU 73 74 75 76 77 78 79 80

GUNS N ROSES

217



Power Box - Line Fuse

us
EURO

10 AMP Slow Blow, 125 Volt, .25” X 1.25”, 3AG
5 AMP Slow Blow, 250 Volt, .25” X 1.25”, 3AG

Amplifier

FS1

5 AMP Fast Blow, 250 Volt, 5X20mm

b/ N\

FISE INFORMATION

1/O Board

702
701
703
714
708
707
706
704
705
711
710
712
712
709
F1

F2

10 AMP Slow Blow, 250 Volt, 5 X 20 mm
10 AMP Slow Blow, 250 Volt, 5 X 20 mm
6.3 AMP Slow Blow, 250 Volt, 5 X 20 mm
4 Amp Slow Blow, 250 Volt, 5 X 20 mm

5 AMP Slow Blow, 250 Volt, 5 X 20 mm
6.3 AMP Slow Blow, 250 Volt, 5 X 20 mm
6.3 AMP Slow Blow, 250 Volt, 5 X 20 mm
5 AMP Slow Blow, 250 Volt, 5 X 20 mm

7 AMP Slow Blow, 250 Volt, 5 X 20 mm

4 AMP Slow Blow, 250 Volt, 5 X 20 mm

4 AMP Slow Blow, 250 Volt, 5 X 20 mm

4 AMP Slow Blow, 250 Volt, 5 X 20 mm
3.15 AMP SLow Blow, 250 Volt, 5 X 20 mm
3.15 AMP Slow Blow, 250 Volt, 5 X 20 mm
2 AMP Mini Blade, 32 Volt

2 AMP Mini Blade, 32 Volt

GUNS N ROSES

218



GNR FUSED POWER STREAM

70V Coils (Brown) — Center Scoop VUK, Knocker
BLUE =
_F701 | @— 70V Coils (Red) — Left Flipper, Right Flipper, Trough VUK, Auto Launch
70V Coils (Orange) — Loop Magnet, Upper Right Flipper, Right Ramp Diverter
70V Coils (Tan) — Left Ramp Diverter, Upper Playfield Flipper, Left Pop Bumper
RED =1
1 F702 I
70V Coils (Pink) — Lock-Up Release Left and Right, Right Pop Bumper, Bottom Pop Bumper, Upper Playfield VUK
20V Coils / Motors (Plum) - Unused
120V / 240V AC Line YELLOW  ——4 ) . . .
Line Input Fuse Transformer { F703 I E— 20V Coils (Blue) — Right Slingshot, Left Slingshot
20V Coils / Motors - Unused
12 V Motors (Yellow) - Unused
GRAY —
1 F714 I
12 V Lights (Light Blue) — Shaker Motor, Ticket Mech Drive (Optional), Start Button, Topper (Optional)
YELLOW = )
F1 12 V — Cabinet Controller Board
Fuse Location 1
YELLOW ™0 ] 12 V - Sound Amplifier Board — Game Sound
|:| 1/0 Board L= |
Primary RED 5V — Feature RGB LED’s, GI LED’s — Game Lighti
— Feature s, s — Game Lightin,
|:| Sound Amplifier Board PATX - & &
ower
s I YELLOW . . . . . . .
upply 12 V - CPU Board, Hard Drive, Coin Door, Backbox Light, LCD Monitor — Game Control, Lighting, Display
|:| Power Box Assembly
YELLOW 1
F1 12 V-1/0 Board Matrix Switches — Game Control
. Lighting PCB Boards | S
RED II F2 II 5V —1/0 Board Logic — Game Control
|:| Cabinet Controller Board

GUNS N ROSES 219



1850 GREENLEA|
ELK GROVE VILLAGE,




